160 OD0O0O0OO00O00-—100 Euler [

0000000000000 000000000000000000O00000 (theory of characteristics)
gobooboooboboobooobobobooboboobobbooobOobobOooobooobbobon
0000000000000 0000000000C0000000D 00000000000 (acoustic
waves) 0000000000000 OOO0OOOOOUOOOOUOUODOUOOOOOOOODUOOOOO
000000000000 0000000000000000000000000 (upstreaming, 000
upwinding) 000 0000000000000 0O0OCOOO0O00O0OOOOOOO0OODOOOOOODOOO
000000000 DO00O0O000O0DO0O000D0DOO (flux vector splitting) 00000000000
000000000 (flux difference splitting) 0 0 0000000000000 O0O00O0OOOO0OOOOO
OO000D00D0ODOO0O0O0ODO0O000ODO00000000 Navier-StokessOOOOOOOOD0OOO0OODOO
0000000000000 000000O00D (diagonalization) 00000000 O0OOOOODOOO
oboooboboboboooobooooboooboooooooooboboboboboboooooboobobooo
000000000000000000000000 (nonconservative form) 000000000000
Uoooobbooooboboooboobooooooobooobbooboooooooobooboooan
ooooooboooboooobooobooobooooooboooboboooobooooboooboobooobooo
ooboooboooboooooon

16.1 20 0000000000000

O000000000000000 200000000000000 (hyperbolic partial differential equa-
tions) 0000000000 0OOOOOOOO0OOOOOODOOD 200000 100000000O00C0OO
ooto

ug+ Augy +¢c =0 (16.1a)

000 u = 0udt, uy = dydzOu(r, ) 0000000000A0OOODOO0O

U1 air ai2 -t Qg C1
U2 G21 Q22 - A2 C2

u=| |, A=] . . | o= (16.1Db)
Uk a1 Qr2 - Akk Ck

A0 ¢0000 2, ¢t,«00000020

1000 (quasilinear) 00000000000 000000000000000000D000000 100000 aug+buy =c
0 abc0z,y0000000000%,y,«00000000000000200000 aues+2buey+cuyy =d0 a, b, c, d
0y, u, uz, uy 000000000000000 (16.1)00000 w,u, 0 10000000000

200000000000000000000000000000000000000000 1000000000000000
000000000000000000000 200000 auge+2bugy+cuyy =d0 ugy =p, uy =¢00000100000
000 ape+b(py+qs)+cgy =d, py—qe =0000000 Bur+Au,+c=000|B|£0000000000 B-lOo0o0OO
0000000000 (16.1)00000000000
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00 ¢ 00000000000000 zt00 ¢o0000000 (16.1)0000000000000O0O

0 0 0 0
(¢t6_¢+¢t%)u+A(¢w6_¢+¢w%)u+0: 0
000dd ¢, 0000000
(A—=Aug +9=0 (16.2)

000 A=—¢;/¢, 0100000000 g={e+ W+ A)uy}/d. 0000 ¢, ¢, u, u, 100000
0w, 00000000ADO0D0DOOO0

|A=AI| =0 (16.3)

00000 (characteristic condition) 0000000 ¢(z, t) =const. 00000000 ¢ de+e¢idt =0
000000A= —¢¢/¢, =da/dt00000 (163)00 A, 000000

da/dt = \; (16.4)

00000 (characteristic curve) 0 000

O (16.3)0 AO k0000000000 O0O0OODO kOD0O N(GE=1,2,...,k0000000000
00 ADDDODO (eigenvalues) 000000 A-A0O k000000 OQCOOOCOOOOOOOODOOO
0o0d0obOoO0o0obO0o0O0o0oOobOooOOooOooD k0000000 bOO00o0obODbDOobo yOooooo
0 (16.3)000 A-\I00000 kO0OOOOO0 1000000000000 0OODOUOODOOOOO0
00 k-100000000%000000 k00000000000D000000D00O0O0 400000
ooooooooog ¢, 000 A-\J/D0000CCO00DO0O0OO00O0000D0OooDgooDoogoo

G(A=NI) =0 (i=1,2,..., k) (16.5)

0000 ¢000000000000000000000 ADOOOOOOO (left eigenvectors) 0 00
00000 ;0 nO00000000A-AID E-—n000000000000000000000000
0n00000000000000000000 (16.3)0000 A, Ay, ..., 0000000 (00O
000000)000 (165 000000000000 6,4, ...,40 100000000 (16.1)0 (0)
000 (totally hyperbolic) D0 000000000000 0000000000 (16.1)0000 (elliptic)
oooo

00000000 (161)000000 (initial value problem, Cauchy problem) 00 00000000
00 ¢=00000000000000000000000000 «0000000000000000
00000000 (162)0 4,0, ¢0000000000000000000 w,000000 «0000
0000 (integral surface) 000 000000000000000000000 (O 16.1(a)) 40

0000000 ¢=0000000000000«000000000000000000000 k=2
000000 (16.2)0

11Ul 4+ a12U24+91 = 0
A21U1 ¢ +a22U24+9g2 =0

3000 n00D00000 n—-100000 1000020000 n-20000000000000 (manifold) 0000
‘0000000000000 00D00000000000000000000000000000000D00000000
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0000000000000 (16.3) 00 @/ = 12/dy =a000000g¢/g, =a0000000
00 «00000000000000000000000000000000000000000000
00000000000000 (underdetermined system)Juy 0 D000000000000000000
0¢=0000000000000«0 00000000000 (162)000000000000000
00000000000000000000000000000 (0 16.1(b))0

integral surface
=ulx i)

cintegral surface

narrmal of

integral suface

(Ue ug-1)
characteristics
characteristics

u initial curve '

t on xt-plane initial curve
dufdt=h /=i
X
() 000000000000 (b) DDOODOOOOO0O

0161: 00000000 w+au,+c=000000000
0 (165 0000000000000000000
LA—AL=0 (16.6)

000 AQDOD0O0O ;00000000 LOOODOOO00OO0 ;0000

A1 0 b b oo g
Ao Uy Ly -+ Aop

A= ) L= . ) )
0 Ak Ui by - g

LODODO0O L~'=RO0OO0OOLR=RL=10¢r; =6;00 (16.6)00

A=RAL (16.7)
RODOOOOODO (right eigenvectors)r; 00 OO

(A=XI)r; =0 (16.8)

0000000000000 D0 ADOD0O0OO0O0OO0OO000O00D0O0O0O0OO0O0DO0O0O0OOOOo (16.5)

00 (168) 00000000 ¢, 00000000 RL=1I000000O0O
0000oo000ooo(lel))bo00O0O000O0 ;000000000000 (l6.1)DO0OC0DOOODO

o0o01g0ooooooo 0000000000 OOoDOoOo0bDOOoOo

'ei(ut+Aiu_/L‘) +lic=0 (Z =1,2,..., k) (169)
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00000000 §0t+N00x=D; 00 (164)000000000 (interior derivative) 1°00 0 00
10000000 p;, 0000000000 oooOoO0oObO000kODOOOOOODOODOOODOOO
(16.1)0 kO0DOOOO0OOCOOOOODOO (16900000 O00OODOOODOO

00000000 (16.1)000000000%0000000 (169 0000000000000

Luy+ ALu, + Le =0 (16.10a)

0007000000000000 «00001000000000000000000U=Luw0000
O0u=RU, ww=RUA4ARUDOOOOODOOOOOODODOO

Uyt AU, +g = 0 (16.10D)
000 g=L{c+(R:+AR,)U}0 U0 1000000000000 (16.10b)0 +00000
DiU; = —gi = —(gio+9aUr+giaUa+- - -+ 9irUs) (16.10c)

boooobobooobooobooooboooobooobooooboOoooOooboobbooboooooon
00000000 (16.10c)0 ¢0000000 de/dt=X00000000000000000000 A
oobooo ggoobbobOoobo ;000000000 bobO0b0o0ob00bgbO0ob0oOobobboDbOuv;
0000000000000000000000 ;00000000%000000000000000
goooooooooob ;0000 boob0oooooobe.000obOo0o0oobooooooDbOoDOo
gbooooooboobooboboooobooboob v, 0bboo0oboobOobooboOoobooboooooon
oo0o0vy,00000000000000 (16.1)00000000D00O0DOO00O0O0000

16.2 U0O0O0OOOOOOOO

00000000000000000000 ERnler0000O0O0O0OOO0OOOOOOODOOOODOOO
O0Euler 0000000000000 0O00O0O0OO0O00OO00O0 EulerO000O (the Euler equations) O
0000000000000 (Co0o0O00O0)0000000000000000000000000
000000000000 00000 Navier-Stokes 0 O 0O (the conservative Navier-Stokes equations) O
ooo

Op B

E + Vp’llf =0

0

6;? + V(-puu+p) =V-II + f
Oe

5t +V-pHu=V-(IT'u)—V-q+ f-u

000 p0000u0000p0000e=p(e+u%/2)0000000000000000000H = h+u?/2
0000000000 O0O00000000gO 0000 f00DDOOOD T, e, h=e+p/p000OD0OODOO
ocoooooooooOOOOODOOo00bDbOobOOO0oDO00O0oDOO0O0O0O0obOOOOOoOD IO gbboo

5D; = 9fot+ X080z = (1 A;)-(8/0t 9/@x)00 00000 (16.4) 00000 D; ~ (dt dz)-(8/0t 8)oz) = dz-VOde 0000 D
0000000000000D;00000000000000000000

6000 A, c0 #,t0000000000 (semilinear) 0 AD #,¢t0000 ¢0 2, ¢, v0000000000

000000000 ab=bae 000000000000

80000000000 (discontinuities) 10 00000000 1000020000..0000000000000
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00000000000 0000000000 (the conservative Euler equations) 0000000 O Euler
000 (the nonconservative Euler equations) 0 0 0 0000000000000 O00OO0OOOCOOOOO

dp

a——pv-u
u
P = -Vp+f
% =—p*V-u+ fu

000 d/dt = 9f0t+u-VODODODO (substantial derivative) 00 000000000000 (interior
derivative) 000 000000000000 O00OOOOOOOOOOODOOOOOOOOOOOOOOO
Oo00ooooooooooOoo00oooO0oo0oobo0bOOo00ooD EWer00OO0OOODOODO
gbobooooooooobooboooboooboooboboobooobobooooooo

16.2.1 0O0O0OO0OOO0OO0OOOOO

000000000 Euler 00O (Euler equations) 00000000000 O0O0OOO

@+ F, =0 (16.11a)
oono
p pu
q=|pul, F=|pu’+p (16.11b)
e pHu

000°0¢0000000000F0000000 (luxvector)D0000O (16.11)000000000
00 (linearization) 000000000

g+ Age =0 (16.12a)

000 A=0F/q0000 00 (Jacobian matrix) 00 OO

00000 ADOUODOOUOOOUODOO FOqUOO p,m=pu,e0000000000O0OOFO qO
00000000000 (equations of state) 1 00 000000000000 OOOOOOOOOOOO
00o0o0oo00oo0oooOo0oo0oo0DOoo0oooooOooUOooo0ooooOOD (Do)ooo
gobooooboboooobooobooobobooboooboooooooooobobooboooooooooon
oboooOooboboobobooooooobooooon

00000000000000000000D000 (properties)p, p, T, e, ... 000000000000
0000000000000 0000000000000000000000000000000000

9000 (conservative form) 0000000000 (divergence form) 10000 0000000000000000000O
ooooO0ooobob0o0000o0o0O0000b0000000000000000000000O00O0O000
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0000000000000 00000 (perfect gas)DOOODOODOOOOOOOOOODOOOODOO

p = pRT,
de = ¢, dT’
(dh = c,dT )

000000 ROOOOO ¢,00000 c,0000yO0000000O0O0O0O0O0O0O0O0O0O0O0O0OC0DO
gboooboobbooobooao

R=cp,—c,, Y= cp/cy

dboooooobobOooooooooooon
u2

p=Aqpe= i(e—pg) = Je—p¢?,
Hont® o1 _p_ctp C4d
2 p p ¥

000 7=y-1, ¢* =7u¥2, A =+pp, c0000000000000 ADDOOODOOOOONO

= OF 8(pu pu’+p pHu)

Iz 8(p pu e)
- m? m _m?
_ 9 (m 764‘(3—7)2—/) ;{76—72—p}>
a(p m e)
0 1 0
2
= —(3—7)% B=u 7 (16.12b)

—Hu+¢*u H—Fu?® ~u
00 FO ¢0O00 p,m,ed 100000000000000000OO0O (homogeneous functions) O O
00 Euler 00000 (Euler’s homogeneity relation) 0 00000000 0000OMDO
F = Aq (16.13a)
goooooboogo
F, =Aq, = (Aq)z, Azq=0 (16.13b)

00o0000o0oooo0o (16.13)00000000FO0OU0OOOOO ¢UOOU 1000O0D0UO0OOOO
000000000 (16.13) 0000000000000 ¢g0O0OO0 ADOOODOUOOOODODODODODOO
gooo

vAp00D0o0O0O0O0oo0o0o0o0oooooo
A11 = 0(pu)/0p = Omfop =0

A1 = 8(pu® +p)fdp = d(Fe+(3—7)m?/2p)/0p = —(3—7)m?/2p* = —(3—7)u?/2
Ag1 = (pHu)op = 8((mfp)ve—3m/2p})[Op = —yemp? +7m jo* = —y(e+u?/2u+7u® = — Hutd?u
Ho0o w(zi, @2, ..., @0) 0 @1, 22, ..., 2, 000 « 000000000 u(tey, tee, ..., tos) = t*u(x1, o2, ..., Tn) O

0000000 t0000 t+=10000000 Euer0000000C0DO00O
T1Uzq +T2Uzs ++  + Tnlz, = QU
v0 FO 3000000000000z, =p, z2=m,z3=¢, a=10000000000000
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16.2.2 00000000

obobOobOobobOoobOoobooooooOoooooboOoboobOoboOobooobOOoboobOooOoboon
gobobooboooboooboobooboooobobooobbobooobooooooboboooooooonog
gooU00o00o0O000000o00o0o0o0o0oU0oOoOoQoOo0U0D AD A*OQ0DQODOOOUODOUOUODOO
ooboboobooobobooboooooooooooooooOobOoooooobooOobOooobooooo
goooob*0o0o0oboooooboooooobooooooobOoobooooDbOoDOon

ooo
p u P 0
¢ =1uf, A"=10 u 1)p (16.14b)
P 0 pc® wu

00 2 =+plp, c000D000D0D0O0DOODOD A*O000O0 ADDDOOODOOOOODOOOOO
obboobOoooooooooooooo NOOOOo

N(g+Aq) = q; + A'q, (16.152)
oooo
dg* = Ndgq, A* = NAN~! (16.15b)

O000ON=40¢"/0q000000000000D0000ONDOODODODOO N-'ODOOOOODOOD

oo 1 0 0 1 0 o0
N = ;q =|—up 1p 0|, N'=|wuw , o0 (16.16)
$  —u 7 w2 pu 1/7

000 §=y-1, ¢* =4u%/200 020

16.2.3 0U00OO0OOOOOOOOOOO0

O00000O0oOooOoOoUoooOooOon (1e3)000oooooooo

u—XA  p 0
[A*=X|=| 0 u—-X 1/p |=@w=A)(utc=A)(u—c=A)=0
0 pct u—\

oodooOo N NODOOoooobooobooooooooooo
Al=u, Ax=u+c, A3=u—c

oooo00o0o0o0o0o0oo AQDOOOO0ObOOOo

u 0 0
A=10 u+e O (16.17)
0 0 u—c

20000 0000 100000000000000000 ¢*=Ng0OO00000D0
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O0O00000000o0oooooOoO (les) 00000 Oo0oon

(2 e )| o w-x 1 |=(0 0 0) (i=1,2 3)
0 pct u—X\;

o000 0000000000000 0DOODOO0O00O0OO0O00ODOO0ODOOOOODODOOO
0L*000000 L'=R*00000000%0

1 0 -1/ 1 pl2¢c —p/2¢
=01 1pc |, R =|0 1/2 172 (16.18)
0 1 —1/pc 0 pc/2 —pc/2

0000 (16.6)0 (16.7)0 A*0000000000000000
LA* = AL*,  A* = R°AL* (16.19)

ooo0000 A*0 L*00000000000OOC0OO0 AODDDUOUOUODODDUOOODODUOODOCODOO
000 (le.l5) 0000000000000 OO

A= N"'R*AL*N = RAL, R=N"'R*, L=L'N (16.20)

0 (162000000 A0 A*O000000O000O0OO0COOO0OOOOOO0OOOUOOOO-O00OOOOOO
000000o0o0oooOooooo (1611) 0000000000000 (16.14) 000000000000
0000000000000 (16.19)0(16.2000 0 0000000000000 (diagonalization) 0 00O

16.2.4 0O0O0O0ODO

0000000000000 00 (1614)00000000000000OO00OO0OO0O0OOOODOOO
o)

de/dt =X =u,uxtc (16.21)

0000 (pathlines) 0000000 (acoustic waves) 000 000 (0 16.2) 00000 dz/dt =X, 00
000000000 (16.14) 000000000 ¢00000 (16.18) 0000 £(A*—N\I)=00000
oboooooogoon

G (g3 +Aig) =0 (i=1,2,3) (16.22)

13000 A =w000000100000000000000 20 pff,+pc20;, =000 £, =1, £, =-1/c200 30
(1/p)t;, =000 ¢;,=0000000000000000000000000000000000 00000000000000
0000000000

000 A =wu+c0000000 1000 ¢, =0002000 £,=1, £;=1/pc0000000 A3 =u-—c0000000
oooo

1 0 —1/¢2|1 0 o0

00000 R*O0L*00000 000000 1 1fpc |0 1 0| D0O000000O00L*00000000
0 1 —1jpc |0 0 1

0000000010000 000010000 «00000000000000000000000L* 0000000000

ooooo0o r1o00000bo0 RrO000
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000000000000 ,ODOOOOO0OODOO (compatibility relations, — equations) D 0000000
00000oooo0ooo0oooDOooDoogooooogooooo

dw = Lq + AL*¢", =0 (16.23)

O0000000000 wDOOOOO (characteristic variables) D 000 000 (16.23) 00000000
ooooogo

1

Owwy = D1p——Dip=0 (000000 de/dt=40000) (16.24a)
c
1

Gowy = Dyu+—Dyp =0 (000000 de/dt =u+c0000) (16.24b)
pc
1

Osw3 = Dgu——D3p =0 (000000 de/dt =u—cO000D0) (16.24c¢)
pc

000 D; = 0t+\002000 00 8y, 8,,0,000000000
0 (16242) 0000000000000 G =dp/dp0 0000000000000 Tds=de+pd(1/p)
= dh—(1/p)dpD 00000000 dpfp = dp/p+dT/TO000000 2 =yRTO0O00D0 00 (16.24a) 0

ds =0 (000000 defdt=w000D0) (16.25a)

000M00D000000000000000 sO0000000D000000000 (16.24b) O (16.24c)
gbooooboooooooooo

Pd

Wy —wyo = U—1ug + L (000000 de/dt =u+c0000) (16.25b)
po PC
Pd

w3 — w30 = U—tg — ,TZZO (000000 de/dt =u—cO0DO0D0) (16.25¢)
po

0000000000000 000000000000 we, ws000000O00 (Riemann variables) OO
00000000 (Riemann invariants) 0 000 O O

0000000000000 (homentropic flow)0 00000000 de/dt =uw+c0000000000
000000000pk" =const. 00000Y¥0000000000000O00ODOO0OD (16.25b)(16.25¢)

oo

u+c
ooo *“[74 ooog

t ‘ (dz dt)

z (a t)

U 16.2: 0000000

14
dr dp di’, dp co

1
dh——dp=cp——R— =¢ ep— = —(dp—c2dp)
ol P Tp " P op

1
ds = —
T

BOOOO0D000000000000T)pY~! = const., T/p(¥~Y/" =const. 0000 O0OOOOODO
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0ooooooootso

2
wy =u+ 1c:const. (000000 deg/dt=u+c0000)

2
ws =u— 1c:const. (000000 dg/dt=u—cO0O0OO)

000000000000 00000o0000000O0O0DOOUUO0OUO0OO (16.14)000000OO0O0O
gboooooooobooooobooo

0s 0s

S U =0 (000000 de/dt=w0000) (16.26a)
xr

0 2c 0 2¢

&(“ﬁ) + (u+c)£(u+7_1) —0 (000000 defdt=u+c00D0D) (16.26b)
0 2c 0 2¢

a(u—ﬁ) + (u—c)%(u—v_l) —0 (000000 de/dt=u—cO0D0D) (16.26¢)

goobOooboooooboobooboobbobboooboobboooooobooooboooog
bboboooboobooboobooooboooobboooboobuooboobotow>00000

0 | 000 | wy,w,ws 000000
000 | w,w000000ws000000000000000000

Oom (000 | w,w,ws0O0O0O0O0O0O0OO0O0OOOOOOO
oob |wsO0OOO0OO00Ow,wOOO0OO0OOOO0O00OO0O0O0OOOO

obobobooobooooobooboboooooboooobooooobooobooobooboooboooooboboooon
boobooooboooboobooooooooooooboooboobooooobooobooobooboo
gboooboobboooobooooobooboboboooboboooooboooboboOoboboboooboo
obooo0oooboobOoooooooobOOo0oooooobobon

16.25 0O 0O 0O 0O O

00000 (method of characteristic curves) 0 0000000000000 00O00O0O0O0O0OOOOO
o0ooo0oooO0oO0o0ooO00oOo0b000ooO0o000b000000000o0oO0oO0b00O0O00O0O0Ob0O0
0000000000 0o0o0o00oooooo0o0o0oooooooooooooooo0ooooo0o
ooooooOooooo0o0oooOoO0oooOoooOOoOoO0OooOOooOOOO0O0O0OO00OOO00o0n
ooooooooOoOooooOoO0oOoboOoOo0O0OO0oOoOO0O0O0OO0OOO0O0O0O0COOOO0OOOC0BOO
0000000000000000D000 (ordinary points) 0000000000000 O0D0OOOO
00000000000000 (interface points) 000000000000 (edge, free surface and loaded
surface points) 000 0000000 (simple and complex shock points) 0 0 0000000000000
ooooooOoooooo0oo0oo0oOooOo0ooOo0oOoOoooOobocOo0OoO0oObOobOoOO0O00b0bO0O0
ooooboooooooooOooOoOoO0O0O0O0oOoO0O0O0OOO00ObOOOO0O0ObO0OOO0O0DOOOOO0O0O0O0O
0000000oO000oo00ooo0ooo0ooooooooooooooooooooooooon

000000000000 p=kp" 0000 =kyp -t 0000000OODO

Pd c 2 2
/ 2 /;dp: Vir[p0 D2 dp = ———/ky[p0" V2] = (c—co)
p

o PC v o 7=



googooooooooogoog oogo 11

oboooobooobotoooooooooooboboooo0oobooobobooobooooooooooo
gbboooobbOoooooboooooonn

0oo0o0oooO0oOo 1630000 A0 BOOOOOOOOODODOOOOOOOOOOOoOoOoooo
0CcUO0U0000000000000U00000o0oooOoOoOooO (1624)00000000O0DOO0

xc—zp —u(tc—tp) =0 (16.27a)
pc—pp — (1/2)(pc—pp) = (16.27b)
xo—x4 — (utc)(tc—ta) = (16.27¢)
uc—ua + (1/pc)(pc—pa) =0 (16.27d)
xo—zp — (u—c)(tc—tp) =0 (16.27e)
uc—up — (1/pc)(pc —pB) = (16.27f)
000 ABODO CODOODUOOUOOO DODODOODUODODODODO
(ta—tB)ep — (xa—xB)tp = xBtAa—T AlB (16.27g)
fp="BTTDy (IDTTA (16.27h)
TB—TA IB—TA
gooooon

characteristic curve

dxfdi=u+c dwfdi=u-c

0 16.3: 00000 (0DO0O)

uboobbo2000000000000000000DO00DOO0OO0O0O0OO0

1. 000000000000 A0O0OO0O BOOOOOO (16.27¢)0 (16.27e) 000 C'000 z¢, to
000000000000 (16.27d)0 (16.27) 000 C'O000 we OO0 pcO0OOOOOCOOO

2. 0000O0OO0OO0OOOOOOC'oOOoOo0OOO (16.27a)0 (16.27g) 000 D'O0O0O zp, tp OO
0000000000 (16.27h) 0000 D'0O pp,pp 000000 (16.27b)000 C'O00 pe O
0000000000 & =9p/p0000

3. 000000000 A0 C'OD0O0O0 BO C'O0DO0O0OODOO0OD 10000000 COOO
zc,tcU 00 ucOO0OO peOOOOOOODOO

4. - 00O0OD0OOOO0OOOCO D OOOODOODOOOCO22000000O0DOOO zp,tp 0000
OO0 pp,pp0000 COOO poOOOOOOCOODO

5. 0ODODOOOO 3,400000000D00000
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16.3 UOOOLOODOOO0OOODOOLOOO

ooooooooboooobooooooobboboboboobooboooooooboobooooooboobooog
oooOOoODOoO0o0oOooOOoCoOoO0ODOOO000OobobOOoDODODDOOObOODOOODOO Steger-Warming
gooboooooobobobooooooooooobooooobooboobooooobooobooooooobooobooo
ooooooobooboobooobooobbbObOobObOboOobObOboOOOobOOoOobobOOobOobooboooon
oobooOooooobooooooobooboobooobobOooboboobooobooooooooooboobooboOoon
oboooboooboobooooboboobobooooooobooboboboooobooboooOobooOobooooooboo
goboooooobooboboobobobooboooobobobobooa

16.3.1 Steger-Warming 00000 0000

000000000 (fux vector splitting) 0 000 00000000000 0OOOOOOOOOOOO
gooooo

F* = A*q= RA*Lq (= N 'R*A*L*Nq) (16.28b)

oo0 NDO 16.220000000000000000DOOOOL*O000DOO0O0OOOOOODODDOO
O0 R*=L*'0000A*0000000000000000000

X0 0
0 0 A

ooo
A = (O £ M])/2, M=u, X =utc, Az=u—c

goooooobooooooo L=L*NO

_ e Ju _
4 2¢2 2 2
- 1 - -
L=|6]= —9(1—ﬂ —(1—ﬂ) 7 (16.30)
p 2c p c pc
bs “(y Ju E(HE) _a
p 2c p c pc
000000000000 R=N"'R*O
p p
1 r _r
2c 2c
R = (rl 2 r3) - —(u+c) —%(u—c) (16.31)

t\:>|:M <

gooo
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0000w=Lg00000000000OY0

wy Py
w=|wy | =| ¢/y (16.32)
w3 —c/vy

0000000000 Fr=RATwDOOO0ODOO0DOO0O0O0DOO

)\itwl

FiZ(rl r? r3) AFwsy =Z/\§thkrk (16.33a)
Mw k
3 W3

obooooobooobboooon

1 1 1
-1
F* = —77 pl v ME+ % ute |AF+ % u—c A (16.33b)
u?/2 H+cu H—cu

000 1981000 Steger 0 Warming ¥*0 000 00000000000000O00O0OO0O0OOODOOO
00100000000 EwleeDO0O0O0DOO0ODOOODODOOODOOODOOODODOOOOOOODOO
god

16.3.2 0O00OOO0OO0OO0OO0O0OOODOOOO0OO0

0000000000 (16.11) 000000000000 00O00000O0000O000 (trapezoidal law)
gooooboooooooboobooo
L+ (1-O)Fr +0F" ' =0 (16.34)
At
0 =0000000 (explicit methods) # > 0000 000 (implicit methods) D 06 = 1/20 Crank-
Nicholson 006 =1000000000000000000000 #=1/2000000 200 6+#1/2
oboobO1goooobooooobooobobooobooooooooooooooboobobooOooooon
At0000O0O0000O0O0O0O0OO000 ODO0O0OC0O0O0OOO00000OooOOo0oCoOoDOOO0DOO0O000 10
oooOoooO0O000oO0000 ADOoOoOoooooooooooooooboooo
AOO0O0O (delta-form implicit methods) 0000000000000
0
(I-l-AtH%A)Aq”:—AtF;‘ (16.35)
qn+1:qn+Aqn

000000 (16.34) 0 F* = F(¢g"™Y) O Taylor 00 F(¢"tY) = F(¢")+F,(¢")Aq" +--- = F"+ A"A¢"
+---000000000000000O0DO0O000O00O00000000 g0 ADDDOOO A¢g"ODO
p/e? = p/yOpjpc = ¢/y0000000000000000000000

P
w=L*Nq=L"|0
p

000000000 ooOo0oo0oDoOOoOO0O0ODOOO0O0O0OOoDOOOO
18Steger, J. L. and Warming, R. F., Flux vector splitting of the inviscid gas-dynamic equations with application to finite
difference methods, J. Comput. Phys., 40 (1981), 263-293.
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bodoooboooobbooooboboobooboobO boboobOOooOoooobooooobaon
000000 (16.11) 0000000 A"OO00O0D0O00OOOOOO0ODO0OOODOOOOOODOOO
ooboooboooooobooboboobobOoobbOOooboobobooboooooooooooboooooo
O oooooo1i1oboboooboooboooboooooobooooooooobooooboooooobooon
0000000000000 0oooO00oooo0O0o0ooO0ooooD ArO0ooooogo

000000000 0000O0O0O000OoD (16.35) 00000000000 OO0OOOOODOOO
goboboboooboboobooooooooooooooobooboooboobboooboboooobooOooon
0o 1o0booobooboooooboooooobooboooooooooboooboooboboooooon
ooooo0 aAa0000O0O0OOOO000O0OOOOOOO0000000000O0O0O00DODOCO0ODOOO
00 AD0DO0O000O000O0O00000000O0O000000O000000 (16.34)0 Crank-Nicholson
ooboooooooo

1
W“—W=—§NUT+E”U (16.36)

000000 200000000000 ¢0000000000000000 n+10 ¢"'000000
00000000000000004¢™Y 00 m)0D00¢™Oo0onoan

1
¢ =g = =S AUFY +FM)

00000 (m—-1)000 ¢ V0000000 ¢™O0000oooogn ¢™m = ¢m b4 A¢™ O
Taylor 00 F(m) = pm=1) L p{m=YAgm) 4... = plm=1) 4 g(m=Dpgm) ...  F =0Fdq=A000
ooo

1 0
(m—l) (m) g = _ n (m—l) e (m—l) (m)
q +Aq q 2At{Fz +F, +5m (A Aq )}

000o00oo0ooooo00oUooO010000oooooO0ooOOOO00 AQDoooooooo
gooooo

1
Q+AM§%¢MW0:—@W“U—fy—?m@y+ﬂm*n (16.37)

g™ = gtm=1) 4 Ag(m)

0000000000 n+10 ¢»H'0000000000000000 (m-1)00000000000
000000 (m)0000000000000000 1000000 ¢©@ =¢*, FO =F*000000
0000 (16.35)0000000000000000000000000000000000000Oonon
O00000000 AODDODOODOOODOO0D00000000000000000000000000
10000000000000000000000000 Crank— Nicholson 00 0 (16.36) 0000 00
00000000000000000000 A¢™O0DD000D0000000000000 10000
000000000000000000000000000000 200000000000000 AtO
O000000000000000000000000000000000000000 (16.35)0000
000000000000 00000000000000000000000 AOODOOOOOOO0O00
O0ooOo0o0ooon

0000000000 (conservative scheme)

(fe)i = ﬁ(hiﬂ/z_hiflﬂ) (16.38)
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00000000 hiy1p00000 (numerical flux) 000000000100000000000000O
ot 0000000000 DODOOOOOOODOOOO

) Aivijg >0

hi1/2 = / (Ait1y2 20) (16.39)
fir1 (Aig1/2 <0)

0000000000200 QUICKOOOOY ooo Ii+1/2|:||:||:||:||:||:||:||:||:||:||:||:||:||:||:||:||:|

(€51, i, 20 000 23, 231, 2s2) 0 FO0000 200000000000

Bists = {(_fi—1+6fi+3fi+1)/8 (Aig1/2 > 0) (16.40)

(3fi +6fir1 — fiy2)/8 (Ait1/2 <0)

gooao
000000000000000O (16.34)0000 (P=0)0000000000O0OOOOOOOOO
00000000 F,00000000000000

_ 1
T Az

000 10dggooodvooogodoAQOoogoooooooo

(Fa)i (VoF +AF]) (16.41)
V. F; = F;—Fi_4, AFy=Fi ) —F;
oooooo QUICKOODOOoDoDooooooooooooooooo

VoF; = Fi_s—TF;_1 + 3F; + 3F 41,
AmFZ = —3Fi_1—3Fi+7Fi+1—Fi+2

O00OO0O0oOopoOoOoO0O (1633b)y000D000C0OOO0OCOOOOOOOOOOOLIODOOOOOO
q?'H =gq; — At[Z()\z_wka)i—Z()\z_wk’f'k)i_l + Z(A;wkrk)i_,_l —Z()\k_wm‘k)i]
k k k k
OO0 QuUICKOODOODOO

q?'H = qi" — At|:Z()\z_wm‘k)i_g—72()\2_10167"6)1'_1 +3Z()\;l_wk7‘k)i+3Z(Az_wk7‘k)i+1
k k k k

—3Z(A;wkrk)i_1 —3Z(A;wkrk)i +7 Z(}\IZUJka)i+1 —Z(A;wkrk)i_,_z
k k k

k

gopoooooOo0oDOO010000000b000bO0o0o0oooOoDboOOo0oOooDbOoOoUICKOOOOoO
3g00o0o20000000D00DO0O0O0O0O GibbsOODOOOOODODOODOOODOODOODO 2
boooooobobooooooboooooooobooooooooboooboboooboOooobooon
ooooooo TvboeENOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOoOoo
oood

9Leonard, B. P., A stable and accurate convective modelling procedure based on quadratic upstream interpolation.
Computer Meth. Appl. Meth. Engng., 19(1979), 59-98.
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16.3.3 U00O0OO0OO0OO0O0OOOOoooo

0000000000000000000000D000000000 (sonic point) 01000000000
D00000000000000 00 w>000000 [z, 71,]00002*000000000\ =u
0XA=u+c00000000000000000 As=v—c00000000000000000000
0300 fA=Xwyrd0000000000000000000 00000000 100000000
0000000---=fhH=ff=f=f=---=0000000000000000 20000000
00000000000000

(f)o = (fo = 1) [Ax+(fi —fo)/Ax = — fo/Ax
(feh1 = = fi/Az

0000000000000 Taylor D0OO0DO0OO0O0O00O0 0(AzY)0000
OO0 200 QUICKOOOOOOOOOOoOoOOOOOOOOoOoOooo 40000000000DDO0OO
ooooooo

(fw)fl

(=3f-2—3f1+7f0)/8Ax
(fe) (=3f-1=3fo +3f1)/8Ax
(fz)1 = (=3fo+3f1 +3f2)/8Ax
(fe)2 = (=Tf1+3f2+3f3)/8Ax

0000000000000 0(A2°)02°00000000000000000Steger-Warming0 000
00000000000000000000000000000000000000000
0000000000000000000000000000000000000000 (16.38)000
00000 hiyyp 0000000000 A, = iz = i }/20000 Aigye = i+ Aiga)/20

00000000000000000

1000000

0

hi+1/2 = )\;:_1/2 (IUT)Z' + Ai_+1/2 (wr)i-i-l

20 QUICKOOOOO

1
hivr/2 = )‘;:-1/2 ) {—(wr)i1+6(wr);+3(wr)i1 }

1

+ A1 g{ 3(wr)i 4 6(wr) g1 — (wr)iys } (16.42)

2000 QUICK 00000000 Taylor 00000000000
i{(foAxf’Jr%@Asz”f%(2Aw)3f”'+-~-) - 7(ffA:cf’+%(A:c)2f”f%(Aa:)3f"'+~~-)
3+ 3(f+Auf + (A0 "+ (A0 )}
=l (AR
gooooooooooooooo O(A:B2)D 20000000000000000O00DOOO0O 3000000O00OO0O0O0Od

000000 f=000000000000000(z1 —2*)/Az=a0000000 ¢*000 TaylorOOOOOO0O0O0O0O
gooooooo

1
8Ax
gooooooooog O(A:EO)DDDD

643 3a—2
:Qf’*+...:f{+ «

!
3 3 i+

—3((a—1)Azf' +- ) + 3(adzf +- ) + 3((a+1)Azf +---)}
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uobbooobooo bbb ooboooooboooboobbboooboon

000000000000 [z, 21]0000000000---=M, =M, , =27, =47, =" =0
0000(f);0000000 0« 0000000000000000000
1000000

(fe)o = lx [)\I/Z(WT)O - >\71/2 ('LUT)O]

20 QUICKOOOOO

(fz)o = [/\1/2{ (wr)_146(wr)o+3(wr) }

—)\71/2{ 3(wr)_1+6(wr)o—(wr)y }]

8A

10000000000000D00D0O000QUICKOOOODODOOOOO0OO0DbO000000OTaylor
0000000000000 00wr=w000000000000 200000 TaylooOOOOOOOO
ggo

{)\1/2 —u_1+6ug+3u1) —A_1/2(3u_y +6u0—u1)}

8A:U
82:5 HML&X '(Aw) AT+ 3|(A$) AT }(8“+4A$U'+21Am2 " Aaz3u"'+ )
{A_ﬁx a(5) A”_E(ﬁ) N (Su—dau 42 Artu—ag A+ )|

1
= (Au)'+§(— gAu"'+x "N X" JAZ? 4+ = (fo)o + O(Az?)

000000000000000 (1642)00000 QUICKOOOOODUOOOOOOOODO 200000
000000000 (1642)000000000 f4, f2000000000000000 Steger-Warming
O00ooogooooooo0oo QuIckoooooooooooooooooooooooooooo
uboooboooooboooooboooooogooogoon

1
Az

Hif12= Z(>ﬁ)i+1/2 {=(wir™)iz1 +6(wer®);+3(wer®)iy1 }/8

(Fre)i = (Hi+1/2_Hi—1/2) (16.43)

‘|‘Z l+1/2{3 WeT ) +6(wkr )1+1 (wkrk)Hg}/S

200000002000000000000 10000000 Chakravarthy-OsherDO0O0O0OOOOODO
gobobobobooboooboooo2b0000b00000000b000bO0DbOO000O0O0ODbOOnn
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16.4 UOOOOOOOOOOOO

oooooobooooboboooooboooooooooooo 100000000 o0b000o0o0TVDOTVD
0000000000 0o0O000000O0O0b0O0DO0n Chakravarthy-Osher TVDODOOOODODODOO
uboboooboobbooooboobobobooooooboooooboooooooooOobooboOoo
ooooobooboooooobooobboo TvboOoOoooOoooooobOoooobobooooobobooooboo
oo00oo00oo0oooO0O ADDooOoO0oOoooooooooo

16.4.1 TVDOOOOODO

0000000000000 0000O00O000O0OO0O0O0 TVDOOOOODOO0O0O000000 wu(e, t)
ubobooooooobobooad

ou of
5+t 5e =0 (16.44)

000 fO0«.0000000000 (1644)0000000000000CCOO
ug + aug =0 (16.45)

000 a(u) = dffou00 00 (16.45) 0 (§ot+adfdzr)u = 0000000000000000000
§fot+adpx0 £+t 0000000 de/dt =0 0000000000000 (16450 100000000
0000000000000 000 (16450000 u(e, t)00000000000000000000
0000000000000000000000 «0000000000000000000000

TV E/|um|d$ (16.46)

0000000000 (total variation)7V OO OO OOOOOOOOO
oooooob e400000000O0O0DOOOOOOOOODOOOOOOOOOOOODOOODOO
00000000007TvODO0OD0000000%0000000000000000000O07vVO0O0

characteristics
on integral surface

0164 2z 00000000000000DO

2l0000000000000000000000000000000000000000 00000 w00000 uy,00
0000000000 wdOO000000 w 0000 0TV = |ty — ta|+|tio— tmin |+ up—u1| 00 00O
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gooooobooboobooogooboooboooo0oooooooooooooboooooboooooooo TvVO
0000000000000 DOOTVD(total variation diminishing) 00000 (16.46) 000000 TV
ooooooog

TV =) [uis —us] (16.47)

000000 TVDOOO 2
TV (u™t) < TV (u™) (16.48)

0000000 w? =wu(e;,t") 0000000000000 O0O0OO00OOO0OOOOOOOOOOOOO
gboooooboooooboboooooboooboobooooooobOoboooooooTVDbOOOOOoO
O0oo00o0ooUOoOoOoooOoUooOoo0oO (le4)DO0O0DO0OO0DODOOOODOOODDDOOODOOOOO
goooo

0 (1644) 0000000000000 O000OOO0OOOUOOO0OOOOOO

ntl =

Uu; ui = A(hit172—hi1/2) (16.49)

000 A=At/Az000 AO0O0O0O0000 (numerical flux function) 0 0000000000000 OOO
gobooobooboboboooobbooooooboooooooooooboooooooobooooaon
000 (16.44) 0000 u=w(z,t)000 1000000000 (one parameter family of characteristics)
de/dt =a00000201000000000000 [z, 7,41]000000000 165()000000
Uxpbibooooooooooooouoooboouonoooooungo

Uit1
hi+1/2 = fz +/ a (u)du = fi + a'i_—‘,-l/2Aui+1/2 (16503)
hi+1/2 = fit1 +/ at (u)du = fiy1 —aj:i_lmAuiH/z (16.50Db)
Uit1

1 //
H Hist
hi1z TR
TR 2 P

Hiig His112 Hi-tz Hig1iz

g l16.5: 000000000

22Harten, A., High resolution schemes for hyperbolic conservation laws, J. Comput. Phys., 49(1983), 357-393.

200000 (16.44) 00 u(w, t) 000 Vu = (us, u) 10000 a = (e, 1) 0000000000 00000000000
0000000ddt=ae-VUO e 0000000« 0000000000000 00000000wD «e000D00000O0O00OO
0000 u(z,t) =const. =c00000000000 u(z,t)=c+dc000 u(z,t)=c00000000000000cODOO
gobooonD e0O0D0OO0ODDOOODODODODODODODDOO
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ooo Aqu/g = Uj4+1 —Us, at = (a=£|al)/2

U= i) Auiprp (Augpa e #0)
dorifz = {a(un (Augro = 0) (1631

1000000000000000300 1000000000 (0000000000 0da/dt =u,u=xc)
000000000000 1000000000000 [z, z41)000000000 16.5(b)0000O0
Ul ez, 000000000000000000O0O00DODOOOOOOOOOO0O00 hiqpp000
[z;, 2,410 0000000000000 OO0CODOOOODOOOOOO0OO0OOOD fOO0OD0O0ODOOO
goooooooObOoobOdboooObOOdo0oo0foobObOO0ODOO0ODOO0OO0ODODODODOODOOODO
goooooobboooogod
0 (16.50)0 20000000000 Engquist-Osher 00 00*# 00000000000000000
oooooooooooo
1 1 [t
nEGs = gt fu) =3 [ latwldu (16.52)

i

00 Ree000O0»®000000000000000000000O0O00OO
Roe 1 1
hi+1/2=§(fi+fi+1)—§|ai+1/2|AUi+1/2 (16.53)
0 (16.49)00 (16.50) 0000000000000 0OOOOOOOOOO

n+1

u;

=ui — A(aj_l/gﬂui—l/z+a;+1/2AUi+1/2) (16.54)

ubddegobobobooboooooobbobooboobuoolboboboooobooboon
0 (16.54) 0000000000000 0O0OO0OOOOOO

r =1—|C|(1—coskAz)—v—1C sinkAx

000000000 C=aAt/Az 00000 10000000000000000000000 (16.54)0
TVDOOOOD (1654)0 TVOO0D0O00 0 OsignAu=S0000 0S40 /0(ui —us) = [uir —u;| O
0ooo

TV (u™t) =TV (u™)

= _>‘Zsi+1/2 {_ a?_—1/2A“i*1/2 + (a’;:-l//2 _ai_+1/2)A“i+1/2 +ai_+3/2A“i+3/2}
= —AZ {(Si+1/2 - Si+3/2)ai++1/2 + (Sifl/z - Si+1/2)a;+1/2 }Aui+1/2

aj_HmDDDEI Auiyy/, 0 Augy3,, 0000000 000000ODOO0ODODO a;H/2DDDEIEIDDD

0000000000000 0O0O00DoO0ooODOODODOOD (1654)00 (16.48)0000OODOO
TvDODODOOOoooooooooo

24Engquist, B. and Osher, S., Stable and entropy satisfying approximations for transonic flow calculations. Math. Com-
put., 34(1980), 45-75.
Engquist, B. and Osher, S., One-sided difference approximations for nonlinear conservation laws. Math. Comput., 36(1981),
321-52.

25Roe, P. L., The use of Riemann problem in finte difference schemes. Lecture Notes in Physics, Vol.141, (1981), 3549,
Berlin, Springer-Verlag.
Roe, P. L., Approximate Riemann solvers, parameter vectors and difference schemes. J. Comp. Phys., 43(1981), 357-72.
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0 (1644)00000000000O0OOOOODOODOOOOODODOOOO
U?+1+0)\(hj+1/2—hi,1/2)n+1 = ’U/?—(1—0)>\(hi+1/2—hi,1/2)n (1655)
0O (16.55)00 (16.50) 0000000000000 0OOOOOOOOOO

uptt +9/\(“;r—1/2A“i—1/2 WLai_+1/2A7“”+1/2)n+1

=u;—(1 _H)A(aj,l/gﬂui—1/2 +a;+1/2AUi+1/2)n (16.56)

0000 (16.56)0000 TV OOOO

n

TV(rhs) = 3 [{1= (1=0)Nazs/of} Auis o+ (1=ONGE 1y Atic1 2 =0T gy Atisae)
gooobooon

at >0, a” <0, (1-0)Aa| <1 (16.57)
goo

TV (rhs) < Z[{1—(1—0))\|ai+1/2|}|Aui+1/2|+(1—0))\(aztl/2|Aui,1/2|—a;+3/2|Aui+3/2|)]"

= Z|A“?+1/2| =TV (u")

000 (1656) 0000 7TV OOO0O000000 TV(hs) >TV(*)DOOODOOOODOOOOOO
0000010000000 (les6)000000000OCOOOOODO (16570000

TV (u"t) < TV (lhs) = TV (rhs) < TV (u")

00000 (1648)0 TVDOOOOOOO TVDOOOOOOOOOOOOOOO (165700 1000 2
O00000000000000 30000000 |e|lAt/Az0000000 A40D00O0000O0O000OO
O00006=10000000000 (1656)0 000000000 TVDOOODODOO
000000000000 TVDOO (1648) 000000 (1644)0000000000O00OOOODOO
000 duedt=9g00000000000000000 dx/dt:aDDDDDDDDDElu:uo-l-ftf)gdtlj
O0000b0o00000o0ob0«0000000D000000000O0O0O TVDOOODOOOOODOO
ooodobooooooooboooooobobobboooooobbooobooobobooboooogoon
o0o TvboOooOooooooboooboooooooooooobo oobooooooooooooobooooono
oooooobobooboooooooboo TvboooooooooTvbOooOoooOoooOooooooo
oooooboobooooooboooOoboobooobOboOooooTVDOOOOOO0O0OOODOoOUOOoOoDDOD
OO00ooooo TVDbOOOOO TVDOOOOOOODOoOOODOO (1644)0 «00O0D0OOODOOOOO
goboooboobooooboobooobooboooboooooobooooboooooooobooooobooboooon
ooooobooboooooboooobboboooooooon
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)
fo’
ha=0 ‘ A
hy . o
o hleﬂ.t'l'ng /O"?/
F N
hT ET M=
=
g
=
g
M=1 8 [&~
h =1o
'@TE
5l(a
= |@
g |= L
o 5/
=)
2/
Bl anst
#”‘U gEcon®

s

g l66: 000000000000 OCOOOOODOOODOOOOOn

16.4.2 000 O0ODOOOOOO

OO0ooooooooOoOoO0O0b00000ooO0oDOOOoObODOOO0O0OOD OO Rankine-Hugoniot
uboooooogo

[pu]—C[p]=0 (16.584a)
[pu*+p]-Clpu] =0 (16.58b)
[(e+p)u]-Cle]=0 (16.58c¢)

000 coOoooooopoog[fl=A—-fo0000000000 fO0DO0OO0OOOOOOOO (16.58)
goboboooooooboobobooooooboobb subobobooooboooog

gobooooobooobboobobobooobooboobooobooooooooooooooboOoo
obobOooOooOoobOoobobooooobooobobobobooooobobo 6000 bOOoODbOOODOO
gooooooOooOooooOooobbOobbOOo0O0obOobooooobOoOooOooooooooooooan
oooobooo0oooooooooooooooooooooooooOo000 RODOOODOOODDO
ooood0 M=10000000D00000 M=00000000D0O0000O0O0O0O0OOODOO
oooobooboooooobooooooobooboobboooooobooooboooobooooooooooon
00000000 FanmoOOOOOOOOOOOOODOOODODODOOOOOOODOOOOODOOOOOO
O00o0o0o0o0o0ooooooobOoO000O000o0DDbO0000DbO0O0000000000 RayleighOO
gobodobooobboboooobbodooboooooboobooboooooobooobooooboOooooooobooo
000000000000 DO0O000000C00FannodO RayleighODOODODOOODOOOOODODODO
000 (choking) 0 ODOOUOOOO0OOOUOOOOOOODOOOUOOOD M=10000

Ol6600 0000000000O00O0O0OO0OD0O0O0O0O00OO FannoOO RayleighOODODOODODO
o000 10000000000000D00D000000000Fanno00000000D0O000O0ODODO
O RayleighOOOOOOOODOOOOOOOODOODOOOOOOOOOOOOOOOOOO1000
0 Rankine-Hugoniot 0 00000000000 1000000000 00000O00O0OO0ODOCOOODOOO
100000 000ob0obOocb0ooobo 1000 obbobObOO0ObOO0bOObOobObOOobOO0obOOoOooOoOobOoono
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000000000000 ARO00000000 7000000000 000 00000000000
0p0000000000000000000000000000000000000000000000
0000 [h], [T],[c],[p],[p]0000D0000 (1658000 [|ju—C|]0 0000000000000
000000 30000000 defdi=u,v+c00000000000000000000000000
ooo

000000000000 C=00000000000000000 000 100000000000
0000000 w0 w»000000000000000000000000000 ¢ < ¢10 Jug| > |uy]
00000000 u+ed u—c0000000000 ©v>00wu<000400000000000000
0000000000000000

(a) A=u—c, u>0
(b) A=u+c, u<0

(a)00000 up>wu; >000up—co >u—c 0000000 00000000 100000000
O u—c>0>u—c 0000000000000 (b)00O0OO00 w <up <0Oup+c <up+c 00
ur+ecr >0>u+co 0000000000000 A=u+c, vu>00000 0ug+cg, ur+cp >0000
A=u—c, u<000000u—c, u1—c; <0O0O00000O0O0O0OODOOODOODOODOODODOOODOOO
00o0o0ooooooooon

00000 C#00000000000w4—-CO0 wy—CO0OD000O00ODOOODOOOOOOODDO
o <cOu—C|>|w;—C|000000000000COO0000O0OOOOO0OO0O0O0O0O0O0
0000000 wOw—COOO0D0O00D00D0D0O00000u+c0 u—cODOO0O0 u—C>00 u—C <00
040000000000000000000000 A=u—c¢, u—C>00 A=u+c, u—C <0000
oo0oooooono

ug—co > C > u;—cy,

ur+ec1 > C > ug+co

ubooooooooooboboobobooooooobodd e, eg 000 O0000O0O0O0OCOOOOO
ooooboooobooobo

arp, >C >ag (16.59)

uboooooobooboobooboooboboboobooooooobooobooboooboooboooooon
gbooboooobooobooobooobooboooboobooooboooobooboooobooboboo
oogd

00000000 (16.58) 0000000000000 00O0O0OO (16590000000 0O0OO0OOOOO
o R 17 R
00ooooOoooo [w—C|]0boo0000000000ooooOoooooooo C=000000
cooO0O0oO000000000 wy—c>0>u—c 00000 «w>0000030000000000

(a) wo>wuy and ¢p < ¢1
(b) wo>wu1 and ¢p > ¢1
(c) wo<wuyand ¢y < ¢y

000000 (b)O (¢)0 [¢]0 [«]0000000000000000000(a)000000000
000000000000000000000001660000000000000000000000
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oo00o0oooOooOooooooooooOoOoooooo 40000000 uwb0 w—COOO0ODDOODO
00000000 w—c>C>u1—a0000 uy—-C>wu—CO0 < 000000000000
gooooooobooooooboobooobooOooooooooobobbOooooooboOooooooooo
oobooooobooooboooooboooonog

000000000 00O0sherD EOODODOODOOEOOOOOODO100000O00O0O0BOCOOO
oooobOoooooooboooboODbOO0000oooOobOo0ooOoOooDboOoOo 20000 TVDDOODO
oooooobobooooOobOoooboooob 10000 TvDbOOooOoooOooDO 1ob0obOooooo
000000000 f(u)OODOD fu. >000f,=¢>0000000000000000«t0000
000000000 b0ObbOb0O0000000 ap<ae;0000a>00000000000 hyye=fo
00000167000 f-w0000000000000Au;ys=u1—up>000u0 w, 000000
w000 by < f(u)00000D0D0D0000DODOOOCOO00O0OOO0O0

ooo Juu >0: Auyyy >0, hyyy < flu
fuu<0: AU1/2<0, h1/2>f(

(

(

oo fuu>0 Au1/2<0,h1/2>fu
fuu<0: AU1/2>0, h1/2<fu

)
u)
)
)
o000 1000000000000 0000O0000O000

(P12 — f(u)]sign(Auy /2) <0 (16.60)

0 (16.60) 0000 Osher 2 000000000000 0OOO0ODO hy,yO0OODOOOOOOOOOODOO
EO0O0OOOCDOCODO

R
corrected hin

[ ¢} rmagnification

f f |"|1,.Q h1.-2

o1 a1 u 10 1 0 u
[ &) expansion wave [ b} compression wave

0167 10000000000 hyy

TVvDOOOOOoooooooooooooobooooobooooeEDOOoOOODO TVDOOOODO
00bo0o0b0o0o0ob0o0 1670 fy, > 00000 f-«00000000 hypp 000 eO0000O0O
000 0Engquist-Osher 00000 Roe 0O OOO00OO0OOOO0OOOOODOOODDOOODOODOO
OEOOOUOOOO (1660)00000000000000O0 ¢« =0000000000 (c)0O0O00O

26Qsher, S., Riemann solvers, the entropy condition and difference approximations, SIAM J. Numer. Anal., 21(1984),
217-35.
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0000000 0O00Engquist-Osher 000000000 EDODDOOODOOOODOORoedON
000000000000 000000000000000000000000000 fu, > 0000
00 2 < 2* <2 0000a1/ = (fi—fo)/Auip > 000000000 Roe0O0O0000000O
h_ gy =f-1, ho1/2 =hijs = fo, hyy» = 000000000 uf™ =uf—A(hyp—h_ 1) =uy 0000
wp10000000000000000 uft! =uP—A(hsja—his2) 0000 Ohg/e—hijs = fi—fo>000
w000 hgp = b, 0000000000000000000000000000000000000
000000000 «0000000000000000000000000000000000000
000D00000000000000D0000
Roe00D0DOO0O0D0OOOO0DODODOO
fotfi—2f"

lay/2|m > Tl/?
00000000000000000 EN000O0OD0000 Ay <000 u,wy »uw* 0000
«wO0O00DD00000000000000000000000000 (1659 0000000000000
000000000 0D00000000000000000?0

lay s (lay/2| > €)

lavz2lm =9 1 ( (ay)2)?
1 ()
AT+ (upl<o)

000 Oe=max[0, a;/5—ap, a1—a;,]0000000000 ¢e=00000«00000000

(16.61)

0168 000000

16.4.3 Chakravarthy-Osher TVD OO OO

Chakravarthy-Osher 00 00002000000 2000000 1000000000000000A0
ooooboooooon

oe 1-k 1+k
hi-€10/2 = hifl/Z + i Afitl/g + TAfi—:l/g (a2 >0)
1-k _ 1+k _
— TAfZ+3/2 - TA i+1/2 (a1/2 < 0) (16.62)
NN - _— - _

Roe 000D 20000000 20000000

0000 x0000000000 k=-102000000=10200000000000 =1/30 30
O0000O0=1/20 Leonard 0 QUICKOOOOOOOOOOOOO k=1/3000 200000000

2"Harten, A. and Hyman, J. M., Self adjusting grid methods for one-dimensional hyperbolic conservation laws, J. Comput.
Phys., 50 (1983), 235-69.
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00000o000ooo0O0 x0000000000000000000QUICKOOOOO 300000
DDDDDDDDhifi’%D 100 Roe0ODOOOODOODOOODOODOOOOOOOODO200000]0
[Roe 0000]0 (000000000000 0000Af00000000D0DDOOOOOOOODOO
oboooooooooooo

Chakravarthy-Osher TVD 00 000000000020 00000000000000000000O
o10000ooogoo 2000000000000 oooooooooooooDoDbOO0O0O0n0n0 TVvD
oobooooooo1l1ooboooboobooooonDo TvboooooOooooOooooooooooao
00000000 TVDOO (1643) 0000000000000 O0O0OOO0O Chakravarthy-Osher TVD
ggbooooooooooobooooooo

e 11—k = 1+x , = 1-x , - 1+ , 3
hivije = hiijo+ == AFL ot == AT == A sy = AT 2 (16.63)
Af )y = minmod(Af5, », BASE ) (j=1i,i+1)
Af7yjp = minmod(Af7 ) bAST L, ) (j=i-1,1i)

000 minmod(minimum-modulus) 0000 (limiter) 0000 0000000000000

minmod(z, y) = sign(z) max[0, min{|z|, sign(z)y}]

x (lz| < lyl, =,y O ODO)
=49 v (lz] > [yl, =,y OODO)
0 (z,yOQOO)
b minmod(r, b)
1 minmod(r, 1)
0 1 b

r=zx/y

0 (16.63) 0 minmod 0000000000 (1662)0000000000000000000000OO
00000000000000 Ominmed 0000000000 0000000000 100000000
0000000000000000000000000000000000 Ominmed00000000O
000000 TVDOOOOOOOO0OOOOO0O0D00000000000000000000000 (slope
limiter) 0 00000000 (16.63) 000000000 Afjiy = Aaipyjpdujyje, j=i,i+£1000
000000000000000000«000000000000000000000 (16.63)0000
00000000000000000 (1663)00000000000000

1-k . 1+k .

hi+1/2 = ai&l/Z {U,i + Tmlnmod(Aui_l/Q, bA'U,i+1/2) + Tmlnmod(Aui+1/2, bAU,i_l/g)}
_ 1—k_ . 1+k_ .

+ ai+1/2 {'U,J'+]_ — Tmlnmod(AuH_g/Q, bA'U,i+1/2) — Tmlnmod(Aui+1/2, bA'U,i+3/2)}

00000000000« =1/30 minmod 0000000000 000000 20000000000
000000oo0oO00oo (164500000 «0000O0OO0O0OO0OOOOOOUOD eO00OO0OOOOOOOO
ooooboooooodg
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O000000oo00ooOo0ooooOoooOL20OOO TVDOD (1648) 0000000000
0 (16.55)000000000000O0OCODOOOOOO

rhs =ul —(1—6)A [a?‘_l/zAui,l/z +ai_+1/2Aui+1/2

+ l%f{aal/zmmmod( "1 D AU 2 —a a’ 1/21111111110(1( iy b)Au;_1/2}

+1;4K afﬂ/zrmnmod( ir1/20 D) AU /n— /Zmlnmod( 12 b)Au;_3/5}
_1- n{al+1/2m1nmod( ira/20 D) AU —a, ) pminmod(ry, /. b)Au;_1/2}
1+"0{al+1/2m1nm0d( Ti /2 b)Auiys/s—a;_ 1/2m1nmod(r1 120 b)Aui+1/2}]n

= u,; —(]. 0))\[ Aul 1/2+al+1/zAul+1/z

1-k
T{a;"ﬂ/zmmmod(l brlﬂ/z)Aui_lﬂ—a;‘;l/zmmmod( 32 )Aui_1/2}
14k
+T{a:r+1/zm1nmod( i1/20 )Aui_1/2—a;1/2mlnmod(1 brl 3/2)Aui_1/2}
-k, _
_ T{aiﬂ/zmmmod( i+3/27 b)Auiy1/2—a 1/2m1nm0d(1 br 1/2)Aul+1/2}
1+k n
_ T{ Hl/zmmmod(l br +3/2)Auz+1/2 1/2m1nm0d( 12 )Aui+1/2}]
oo0oooono rgi+1/2 = Aujy12/Auj41/541 000000 Chakravarthy-Osher 00 000 rhs O D O
Roe 00000 rhs 00000000000 rhs0O0 Roe00D000 rhs000 af,, 000 &, ),
gdddooooooooooooao
dztl/z = aj71/2[1 {R+m1nm0d(1 erl/z) minmod(r;" 3/2) b)}
1
4R + {R} minmod(r_, Tiy1/2) b) —minmod(1, br;" 3/2)}] (16.64a)
Gy = a;+1/2[1 {R minmod(1, br;" 1/2) minmod(r, 4320 b)}
1
+ {R minmod(r;" /2> b)—minmod(1, erS/z)}] (16.64b)

DDDRj:@LNmFUWR;:@hNM;wDDDDHwDDDDDDDDDDDDDDDDDDDD
O Chakravarthy-Osher TVD OO OO0 D0O (1657) 0000 300

at >0,

D

—<0, (1-6)\a <1 (16.65)

0000 TVDOOOOOO

0 (166500 100020000 (16.64)0 [ J000000000000000000000000
0000100 rg,,=0,r,,>b0000000200r,,=0,r,,,>b000000000
000000000 [0000 1-{(1-«)/4}b—{(1+£)/4}00000000000000000

1<b< (3—k)/(1—K) (16.66)

00000 (16.66) 0000 minmod 000 b0000000000OO0O0OOOOOOOOOOOOOOO
oo0boo0oooooosoooooooobooboobooooobooooo
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00 0O (16.65 00 300060 000000000O0O0CO0OOOOO0O (16.64)0 r?‘_/ =0, r
bODODOODO r; =0, rf >b00ononoQg

z+1/2 =

z+3/2 11— 1/2

a’j_—l/2 < aj_—l/z+aj:|-1/2{1_’9+(1+’9)b}/4a
Uipyyy 2 Gyt 0y il =R+ (1+K)D}/4

000000000 (166500 3000000000000
R,
(1=6)biXal <1, by =14+ {1—r+(1+r)b} (16.67)

00000 (1667)000000000 C =|a|At/Az0000000 At000000000000000
0000 R,00000000 «000000000000000000000000000000000
00000000000 (25175 <3* <@i11200*0000) 0006 175 = a5,y o, Giprja = iy 00
0000000 &, <afy, ,{1-a+(1+0)0}/4, d, > 0, p{l-r+(1+x)b}/4000000000
DDDDD}%DDDDDDDDDDD|MDDDDDNDDDDDDDDDDDDDDDDDDDDDD
000000006175 =0, G2 =05, 000000000 &, =al, ,, 45, = a5,
N00000000000000000000000K000000000 R.=1000000000
0000000000000000000000000000000000000 3000000000
(k=1/3)000000b<4, by =1+(142p)/6000000 b=4000000000 b, =2.5000
00000000 C < 0.40 Crank-Nicholson 000 ¢ <0800000000000000000000

0000D00000000000 (1663)0000030000000000000000000000
0k=1/3,b=2000000000000

=a =a,,

1 . 1.
®) fi + Emland(Afifl/Z: 2Afi+1/2)+gmleOd(Ale/z, 2Afi—172)  (a>0)
h

it1/2 = (16.68)

1 . 1 .
fir1 —gmland(AfiH/m 2Afi+1/2)+gmland(AfH-l/% 2Afi13/2) (a<0)

0000 «>00000000000e<000000000000000000000000000 =0,
Afys/Af 1, =r000000000000000

hg% = fo+ {éminmod(l, 2r)+%minmod(r, 2)}Af—1/2

(5/6)Af_1/2 (r>2) (0 20 minmod 000 OD0)
= fo+ (Af-1/2+24f2)/6 (1/2<r<2) (300000)
(2/3)Af1/2 (0<r<1/2) (010 minmodOODOD)
0 (r <0) (10000000 1,20 minmod 000 00)

000000000000 000000Af>000000016900000000000000 Af_1/2
ooooooo Af,00000000000D0DOO0ODDD K,000000000000000O0
ooooo0mR,0020000000000000000000000001/2<-<200000 f»
oooo4b0b000300000000000O0O0O0D0O00 hyp00Or>2000 20 minimodd 00
r=20000000000000<r<1/2000 10 minimodO0 0000000000 OOODOOO
0000000000000 0r<1/40000 hyypp 000000 TVDOOOOOODOOOOOOAh,
Or<000 1000000000000
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upssind difference

I 3rd-order

upind difference

1st-order

0 169: 300000 TVvDOOOOOOOGOoO

16.4.4 000 Euler0D0OO00OO0DOOO

0000000000 (16.11)0 00 00 O Chakravarthy-Osher 0 TVDOOOOOOOODO (16.63) 0
ooooooon
1+k

_ Roe _ _

Hipiyo = H /2+ —EART ot AFjH a AFZ Lap T AF 12 (16.69)
AFJH/Z —mlnmod(AFHl/z, bAFi 1/2) (j =1, i+1)
Aﬁﬁl/z = minmod(AFE +1/z7 bAFJiH/Z) (j=i—1,1)

oe ]'
Hifl/z = 5(E+Fi+1) — —|AFM/2|

+ . ..
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDAFH/Z_Al+1/quj+1/2 (j=i4,i£1)
0000000000000 0000000000000000 A0DDOOODODOOODOOO0ODOO0OD
ADDDDDDDDDDDDDDDDDDDDAFﬁ_lN:RjH/z|signAii+1/2|(ALAq)j+1/2IZIDDDDD
0000o0o0oo0oooo0oooo

0000000000 AF* = A*Aq0 0000000 (Aux difference splitting) 000000000
000000000000 AFjE (NTR*A*L*N)Ag;, 1 =i+1/2, j=1,1+10000000000
ooooo NlAq]DDDDDDEI

1 0 0\ /A4 Apj
NiAg; = | —ufp 1jp 0] Apu| = EAM
»*  —Fu ¥ Ae ; AP

AM; = —wApj+Apuj, AP; = ¢iAp; —Fu Apu;+7Ae;

000 ¢*=4/%2000000 LA 000000ODO

Ap;——AP;

10 -1/ IAPJ' ! o !

LiAg; = (L*N)Agg = [0 1 1/pc —ZAMJ- = —AM +pchAPj
01 -1 . 1 1

e/, \ AP Lam,— L ap,

o e
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0 (R*A*L)Aq; 0000000

1 p/2¢c —p/2c\ (A 0 0O 1 ! Clzl !
(R*A%L)Ag; = |0 1/2  1/2 0 X o p—AM +plclAPj
0 2 —pc/2)\ 0 0 AF
pe/2 —pef2), S\ Lanr— L ap,
Pl picl

A Ap;+A5 AM +A§§ L AP;
= )\ilAM+>\ AP+A§1AM
p
,\ﬁAPﬁAa,c,AM]-HgAPJ-

000 A =u, da =ute, Az =u—c, \¥ = (N £|N])/2, AF = (A5 =A)/2, \f = 05 +Af)/2-)\F 0
000000 AFF =(RA*L)Aq; 00000020

1
AEAp;i+0E AM+A§ AP;

1 0 0
AFF = (NT'R*A*L) Ag; = 2u p 0~ /\ﬁEAM +AD ——AP, +A$ . CAM;
u’/2 pu 1/, AitlAPj_'_/\alclAMj_'_/\ﬁAPj
XEAp; +/\$CllAMj+/\$$APJ'
= | A A(pu) + A% AP FAEAM, 4AE AM]-H??U—QAPJ' (16.70a)

H H
AE Aej+AE S AP + A AM X ’AM it ’AP

ooooooooooOoboooooooon AFJ#EDDDDDDEID

AFE = \EAg; + {,\i AP+ )EAM; }qal + {,\ ~ AM;+AE Ap}q,,, (16.70D)
p 0 1
q= pu |, da = ) dy = u )
e u H

Ao =5 =A5)/20 Ay = 05 +A5)/2- )T
AM; = (—u 1 O)quj’ AP; = (¢2 —ju W)Iqu,

¢’ =Fzu

Ly

2

00 AMO APO0ODOOOCOOODOD Am=A(pu) 00000000 ApOOODOOOOOO
oobooboooooooo AFi—R|signAi|(ALAq) ooooooooooboobooooboooon

00000000000000000(signAff|A; 00D |signAj|he; = Ai; D00 Ay 000 A;; 000

PH = c*/7+u?/2 = (e+p)/p
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000000000 N;Aq; 000000 %0

1 0 O Ap Ap
NjAgi= | —ufp 1p O] Apu|=|Au]| =Aq
¢ —Ju ¥/,\4e/  \Ap

00 A* = RifsignAF|A;L5 00 (16.17)(16.18)0 000000000000

+ Pyt Lo
)‘1 E)‘a C_2>\b
A= aEgar L (16.71)

0 pedE  AE4AF

000 A5 A 0000000000000000000000000000 AFF = N;'Aj*Aq O
0 (1616)0 00000000000 03%0

1

AEAp +2% A +SAEAp

C C
1

AFE = [ udfAp  +p(A\ +MAE+AT) Au +E(>\ai+M)\bi)Ap (16.72a)

2

u” g + H. + 1.4 + H g

A Ap—l—pc()\l + A +M/\b)Au+(ﬁ)\1 +MNE+S /\b)Ap ]—

obooooboooooooooooo

1 i 1
AFF = X\ Aq + (Aai;Apj + Ay i Aug)ga; + (Af%Auﬂ‘)\fc—zAw)qw (16.72b)
J J j
Ap 0 1
Aql = 2 UAP"‘PA’U,I y Ga = 1 y = |cM|,
%Ap+pcAu+pr cM H
Y
A = [signA | Ay, (k=1,2,3)

Ao = (=272 A = (5 +3)/2-0F

goooobooooooooood Hi+1/2|:||:||:|DDDDDDDDDDDDDDDDDDDDD :Ui+1/2|:|
goooooo /\i+1/2|:||:||:||:||:||:||:||:||:||:||:|DDDDDDDDDDD (16.70)0 (16.72)0 I =i+1/2, j =
i-1/2,i+1/2,i+3/20 0000000000000
2§ =4i+1/20000 fiy172 = (fi+fi+1)/2, Afiqrs2 = fix1—f; 000000000
1
PitpPit1

0200 =

(= (uituir1)(piy1—pi) + 2((pu)is1— (pu)i)]

= [(pu)it1 —(PU)i +Pitit1 — Pit1Ui] = Uip1—u; = Auiyy/o
pPitpPi+1

(i +ti1) [(pw)i1 — (pw)s] + Pit1—pi + = [(pu®)is1—(pu?)i]

0300 =
2

> [t
N | -2t

(u? +ul)(piy1—pi) —

gl N
=pi1—pi+ (uizy —ui)(pit1=pi) = Apiy1/a + 7(

Aujy1/2\2
12 / )Aﬂi+1/2

030000002000 10000 2000000000000000
M?2 1 H

30 - _
2 +’y c?
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00 ADOOOOO (16.35)000 (16.37)0D00000O0O0000C0OOOOOOOODOOOOOOO
goobooooobooooboo

lhs = —ONAT Aqi_1 + (I+60X|A;) Ag; + ONA; Agirs (16.73)

000 A=At/A201000000|A|=At-A-000000000000000 200000000
Mi,k=1,2,3000000000000000000000000000 Ewer00000000000
000 A*=N"Y4**NOO0 (16.71)0 A** 0000 (16.16)00000000000000000

+ U 4 + 1o Ju,4 Y \+
Al —EAE +qAb EAa —c—2Ab c—2Ab
£ y=3u® + + (s + Tyt VU +
AT = T?Aa"‘(q—l)w\b Al —(V—Q)EAE—@(Z—U)\(; E)\a"‘c—z)\b
(L_Qu—g—ﬂ)AiH —1)u—2>\i {@— )u—2+£}>\i— uXf Ai+@Ai+( +1)AE
2 c ;)'/ a q 2 b 2 Y c ;)'/ a q b 1 c a q b
+ £, 4t Loy it 1 .+
AT —MAZ +q>‘b E(Aa _7M>\b) 0_27>‘b
= | e[@=22NE+ = DMNT| A —(-2MNE-(20-1NF 2O+ (16.74)

c2M[(q— g)Aﬁ (g—1) %\,ﬂ c [(g - 2q),\ai— qMA,ﬂ AELYMAE+ (q+1)\E

000 M=u/e000000q=¢¥c=4M%2000 H/ = (14¢)/y00000 (16.74) 000000
000000000000 (16.29)—(16.31)00000000000

obooobooooboooobOoboboobboobooooboboooboobobOooo
OO0 Eler00000O0OOOOOOOOOOOOOOOOO AODOOOOOOOOOOOOOOOO
0000 (1635)000000000000 (1637000000 0ODOOOOOODODOOOOUOOOODOO
oobOoooboooooboon F, 000000

1
(Fe)i = E(Hi+1/2 —H;_1/3)

000000000 Higyyp 0 Chakravarthy-Osher 0 TVD DO OO00000O (16.69) 0000000

0000000000000 00000000DO00000000OU000000UOO0O0oOOOOn (16.70)

000 (16.72)00000000O

00 AOODOOU00O0OO0O0O0OD10000000000 (16.73)000000000O0C00OO0OOOOOO

goooo A?DDDD (l6.74)000ODODOO

000 (16.69)0 »b0O0 (16.66) 00000000000 0O0O0OO COOOOOOO A¢00O (16.67)0

obooobOoooobobooooooog
bbooobooboooooboobooobooobooooobOoobo 60 000000O0ODOOO

00000000 AOOOOOOQO Runge-KuttaOOODOOOOOODODDO
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16.5 0DOOOLDOOOOOOOOODOOO

0000000000000 (Godunov scheme) 0000000000000 0O0O0O0OOOOOO (finite
volume method) 0 00000 00O0OO0O0O0OOOOOOOOUOUOOOOOOUOUOOOOOOUOOUOOO
00000000000000000000000000000 (Riemann’s problem) 30000000
oobooooooobooboooooooobooboooooooboboooooboobooOoooboooobOon
oobooOoboOooboobOooooobbooboobO0ooooOoonog RereDODOOOOOODOODOO
gbooooboboo 1oboooooooobooouooboobooboobOoooboobOoooobooobooon
oobooobooooobooboooobbbooooboooboooboobooobooooooobooooon
ooooobooboobboooboboobobbOOooobOoobOOobOOoboobOOobobOobOooooobonog
gooooooooooobooooooooooooboon

16.5.1 0O00OO0O0O0OOO0OOOO0OO

0000002 00000000 (16.11))0000000DO0OO0DOOOOOOOO ¢"(x)DOOCDOOOO
oo oobobobooob bbb bbb oo DO
000000000000 0U00oo0oU00n (gump) 0000000 OOOOOOOOOOOOOOOOO
godoboobooooobboboboboooobbobo0bdob oL oD bbOoo
goooooobooobobobboobbbobboobbboddob o oL boooobOon
00 #00000000¢t=000000 ¢(2,0)=q (¢<0), = (t>0)00 z=00000000
O (expansion fan)d 0 00O (interface)J 000 (shock) D0 OOO0O0OODOOO0O 1610002t 0000
000000000000 0Doo0o0D00000d0oooooo0o0o0oooooD ABCDOOoooOoaO
0000000000 A0O0O0OOO0OOO BOOOOOOD (DOODOOOO 10000000000
00)000000000 ¢=¢r00000000000000O0000O0DOODO0O0O 000000
uooooooodo FOO0ODO F, 000 Foyypp0oono (16.11)0 1000000000000
gogoobooboood

Titp1/2
qf“zfx/wi:/: q"“(:n)d:n=q?—j—;(Fi+1/2—Fi—1/2) (16.75)
oo*ttoooo q"+1(az)|:||:|D|:| q?+1|:|DDDDDDDDDDDDDDDDDDDDDDDD|:||:||:||:|
0000000000000 00O00b000 ¢z, )0 A0D0O0D00ODOOOOOCODOOOO

n+1
d;

Py tn+l
T D \C
- shock cell
¢ At eXPanSIOH\‘ interface \' interface
l fan Fi 10 Fit1y2
x A 7 B~ !
¢ initial line
Az

0 16.10: Godunov O

3000000000000 (Riemann shock tube flow problem)0 000 000 Riemann, G.F.B.000 20000000
0O Cauchy 00OOOCOOOOOOODODODO

32Godunov, S. K., Finite difference method for numerical computation of discontinuous solutions of the equations of fluid
dynamics, Matematicheskii Sbornik, 47(1959), 271-306. 00000000000 O OHolt, M., Numerial Methods in Fluid
Dynamics, 2nd ed., 28-66, 1984, Springer-Verlag Berlin.
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goboobboooooooboboooobooooooobobooboooboboooobboboooboooao
10000000000000000000000O0GodunovO000O0O000O 200000000000
oobooooo0o0oooboboOdOd HotOOOODOOOOOOODOOOOOOODOODOOODOOOO
coooooooooooo ckDOOOOOOODOODOOOOOOODOOOOOOODOOODOOO
uooobooboooboooboboboooboboobooooooboobooooooooobooooo
uboooooobooobooooboooo

16.5.2 Roeld OO Riemann [

ooo0O000O00000 LOO0000000 RODODOOOOOO00O0C0DCOOD ADDOOOO
oboobOooooooooobooobooooooooo

OF = Adq,  Fr—F, = A(qr—qr) (16.76)
000 A0 ¢ 0 qr00000q, =qr=q000 A(g, q) = A(q) =0FA¢000 ADDODOODO 100
0D00000000000000O0ORee00000 30000000 ADDOOOOOOOOOCOOBO
00000000 ¢0000000 FO

zZ1 1
2=z | =vo|u (16.77)
Z3 H

gooooboobooob 0000 20000000000000O00OC

2
21

p
g=|pu| = A1z e (16.784a)
e Z1%23 ’72’2
Y 2y
zZ122
pu
~ 1 2
Y 2y
pHu

2223

¢0 FOODO 200 22, 212, ... 0000 068(ab) = (ab)g—(ab), = adb+bsa 000000000000
0000000 du=ugr—uz, &= (up+ug)/200006¢, FO000000000000DO0000O0
oooooo

271 0 0
8q = Béz, B=| & Z 0 (16.79a)
Z3/v Az/v Z/v
29 1 0
6F = Céz, c=|22 Oo+h)z 52 (16.79b)
Y Y Y
0 z3 Z2

33Roe, P. L., Approximate Riemann solvers, parameter vectors and difference schemes, J. Comput. Phys., 43(1981),
357-72.
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0000 6F =Céz=CB~'6q00 (16.76)0 0000 ADODOOD0O0000O O3

0 1 0

_ _ 3—v _22 22 ~
A=CB'= 2 z2 G-z 7
B I N

z?2 2z oz 'z T ;

0 1 0

3—7_ -
= =@ B-va  y-1 (16.80)

= _ —]__ = - —
—Hu+77a3 H—(y-Dua? ~a

ooo ﬁ,}:IDDEIDDDEIDEIDD w000 HOOOOOOOO

Z2 _ /PLULT/PRUR Fo_ vPLHL+\/prHR
Z1 VPLHVPR Z1 VPL+/PR

0 (16.80)0 AD RoeD D 10000 (16.76)00000000000000000% AO0O0O0OOO
2000q, =qr=¢000 A(¢q,q) = A()00 00000000000 000000 300000 (16.80)
000000000000000 (1612b)0000000003000000000000000000
0000000AQDDOO \O0JA-M|=00000

IS

Y 1 0
L@ 3-1i-X 7 | = —G-@)(A-a-9(A—d+d) = 0
—flﬁ+%ﬁ3 H—3a  ~yi-x

0000000 N000000000000

pdl!

-z (16.81)

N

S
et

Il
S
>l

2 = U+, 3 =

34300000 Gauss-Jordan 0000000000 00000000

E 0 0

Bl = ,ﬁ i 0
- 2z2 z

¥z 73 L 22 Y

228 22 'R &

s _ s . < = = 1.,
R R N Gt P S :f()\fa)(/\27211)\f’yH+L;r a?)
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00 ADDDOOOOODO #O00A-N)F=00000

1 1 1
r=a, P=|are |, F=|a-¢
% H+ca H—éi

00000000 AD000300000003001000000000000000000000
000 EuWer 0000000000000 NOOOOOO N-'OO (l6.16) 000000000000

oooooo
1 0 0 1 0 0
N=|-a/p 1/p 0|, N*'=|a 5 0 (16.82)
ya2 - § a2 pu 1/7
00000 NOOOOOOOOOOOOO
1 0 O dp dp
Nég=|-a/p 1/5 0| d(pu) | = | du | =dq* (16.83)
yu*2 —-ya 7 de op

gooooooo
1 _
du = = (—adp+0(pu)),
p
p = 30—~ S30(pu?) = S 0p—Fid (pu) +75e
0000000000000 D0000O0U00O0oO0Ooon §(pw O 5(pu2)|:||]|]|:||:||:||:||]|:||:||:||:||:||:|
gooao
8(pu) = (pu)r—(pu)r = {(Vpw) r+(vVpu)L } (VPR —/PL) +/PLPR(uR —uL)

= udp++/pLprROU
5(pu®) = (pu*)r—(pu®)p = {(/pu)r+(Vpu)L H{ (VPu)r— (Vpu)L}

= a(vpr+vpr){ (Vpu) r—(Vpu)L}
= ad(pu)++/prpLudu

000000000000 6(pu) =adp+pu0000000000 50

P =+/PLPR

goooopooO0ooooopooOooooOODO pooOOOCDODOODOODO
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000000 Euer0000D0000 A*=NAN-'OODOOOO
j 0
i 1/p (16.84)

A= NAN =

o O K

2 a
OO0 A*000000 (16.14b)0 A*O0D00O0O00O0ODOODOOOOOODOOO L,ROO (16.18)0 00

000000000000000
1 0 -1/ 1 p/2e —p/2e
L*=|o 1 1/ |, R'=[0 1/2 1/2 (16.85)
0 1 —1/pé 0 pe/2 —pé/2
000000000 A,éW, ROOD0O0OOOO0OOOOO0OOO0
M 0 0 a 0 0
A= A =10 a+c 0 |, (16.86)
0 Xs 0 0 a-¢
ow; dp—08p/&
OW = | 9w, | = L*0q* = | du+dpjpe | , (16.87)
ows du—0p/pc
p p
]. g - =
2 2
P _ (=1 = =3\ _ n-1lp* _ = ﬁ_= _E=_=
R—(r 7 r)—N R*=| a 25(u+c) 2E(u f |, (16.88)
P s P 7 =
H;+RHpg
(16.89)

= :m ::7
VPLPR PL, u I+Nn
_ 1
2:(7_1)(1{_5“2) R=Vpr/pL
0000000000000 000000000000000 (1688)0 0000000000000 £p/2¢

ol

gooooobobobbbo
RoeOOO Riemann OO0 000000000 DOOODOOOOO0O
Fip172 = F(qip1/20) + Zi;%krz’“ (16.90a)
F(git1/2r) Z)‘k O (16.90b)
(16.90c¢)

— Z(F F(q; -
{ Giv1/20) +F(qiv1/2r) ) 2;|)\k|8wkr

00000 161000000000000 (000)0000 (000)00000000000 10000
\0ws7 000000000

1120000000000 F(giy1,,,)000000000000000 38

OO00O0O0O00OEuer00000000DOO0OO0OO0DOODOODOOOODOOOOOOODODOODOOOO
0000200000000000 F(gi+12r)000000000000000O0 0,72 000000
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EIDDI]I:IDEIEII:Ij\laﬁjl?lDDDDDDDDDDDDDDDDDDDDDDD 3000 1000 200
gbobobobooooooooooooan

ooooooobooooobobo p,u, H,---O0000O0O0OCOO0O0ODOODOOOOOOODOOOODOO
Roe 00O 0O 5,17,}21,---DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDRoeDDD
goooogobooooooboobobooobooooooooboboobobooboobobooooobooobOoonog
goboooboooboobboboooboobood

16.5.3 U0 0000020000000

100000000000 2000000000000 00000000O0OO0OOO0OO0O0OOO0O0O0O0
oooooobooobooooooobobobobboooooobooobbooooooobooooooboon
gooboooooooobooobooooooobooooboobooooboboboooobon

000000 (projection stage) 00 00000000 100000000000O0O (interfaces of cells)
0000000 (variable extrapolation) 0 000 0000 O 0OMUSCL O (MUSCL approach, Monotone
Upstream-centred Schemes for Conservation Laws) 3* 000 00000000000000000OO00OO0
gooboooobolooooooboooo

gi'(r) = ¢;' + Eminmod(Ag;" /5, Agilyy/5) (-1/2<¢£<1/2) (16.91)

000 ¢00 2000000 ¢(x) 00000000 ¢(»)0i0000000000000000000
00¢ = (z—2;)/Az, Agir1y2 = gi+1— 00000000000000 MUSCLOOODOOOOOOOO0O
MUSCL 000 Ominmod 000000000000 Aq?, ,, Ay, ,,000000000000000
000000000 ¢(x)00000000000000000000000000000 (monotonicity)
000000000000000 (16.91) 0 minmod 000 Roe O superbee 100000000

superbee(r, 1) = max [0, min(r, 2), min(2r, 1)]

ooboooboobooboooobooboobOoobooboooboooobobooobObooooOo0oooooon
oooobooboobooboooon

000000 (physical stage) 00000000000 ¢Mz)D 1000000000000 Ogi(x,t)
goobdt¢t=¢"0oubogoboobobdot 1booboobobooboooooboooooobooooboonn

36Van Leer, B., Towards the ultimate conservative difference scheme. V. A second order sequel to Godunov’s method.,
J. Comput. Phys., 32(1979), 101-36.
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000000000000 00000 (time-averaged flux)

n41

. 1 [t
Fiy12 = E/f: Fipy)2(t)dt (16.92)

gooo0o0ooUooooQoOoOoOoOoOUO0O0O0O0U0OOO0OU0D0OOU0O0D0COODOODOOO0OODbOOOOOo
01000000000000000000 (integral conservation relation)

n n At n
@t =g — A_x(Fi+1/2_Fi_1/2) (16.93)

0000000 **000o0ooon

DD2DDDDDDD1DDDDDDDDDEﬁmzﬁﬁifDDDDDDDDDDDD(MBUDDq
oooooo

n n 1 M n n
Qiy1/20 =86 + immmOd(qu'_uza Agiy1)2),

n n 1 M n n
Git1/2rR = Qit1 —§m1nm0d(Aqi+1/2, Aqi+3/2)

00000000 (16.86)-(16.90c) 00 RoeOD OO DO ODOOO F™

7,,0000000000004¢000
ooo

At
n+1/2 n n n
4q; / =4q; _m( i+1/2_Fi71/2)

D00000000000000 ¢}, ¢ /ss0Ree0 0000000 FHP0000000000

D2DDDDEHM=EﬁfDDDUﬁ%ﬁmmmmmmﬁﬂmmmmmmm

Crank-Nicholson OO0 000000000 OO0O0DOODOOOOODODO Fi+1/2:Fi11/2DDDDDD
oooooog

1
— n n+1
Fii2 = B (Fi+1/2 +Fi+1/2)

000000000 FY, 0000000000000 100 ¢ (@)000000000000000

DDRmDDDDDDDDDDDDDDDEﬂmzﬂﬁfmmmmmmmDDDDDDDDDDDD

00000000000 ¢/ 0 ¢ /00000000100 ¢/z)000 ¢f,(x)00000000
0000000000

n n At n n n At "
qz++11//22L =qiy1/20— SNz (AAg)7, q2++11/223 =4iy12R™ E(AAq)i+]_ (16.94a)
(AAg)} = (RAAw)} = (AxAwer®)} (16.94b)

k

U000ooooooboooooboboob1ReeOOOOOODOOOOOODOOO

20 Roe0O0OD0O0OOO0ODOOODOOOO 100 (16.91)00000 minmod O superbee0 000000
00000000000 ReeOOOODODOO ReeDOOOOOOOODOOOOOOMUSCLOOOOOO
OO0000D0COOOsuperbee0 000000000000 COOO0DOODOOOOOOODOOODODODOO
obO010000b00o0oooboobooobbonon 0 TVDOOOOOOOOOOoOooooooog 2
oooooooooooooooooobooobooOooooo TVDO OOOOoOooOooooDDODObOOoOoOo
00020 ReeO0OOOODOOOODOOOODOODOODOOODOOOOOOO
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dr A nt1/2
] 7 1 i+1/2L
i d

— =X\ ax _

" i dt dt 3 AI/Z
€ 4 1/2r J Ti41/20
)\1At/2
| Ar I

0 16.11: 20 Roe OO OO

000000000 MUSCLOOOOUOOUOOOOO0OO0O00 ENOOOOO (essentially non-oscillatory
scheme) 3" 00 0000000000000 00O0O0O0DOOOO (reconstruction)d0 O (evolution)O O O
00 (cell averaging) DOOOOOENOOOOOOOOOOOOODDOOOOOOOOOODOOOOOOOO
oooo00oo0oooooooo00o0oooooooooooooooooo0oENOOOOOODOOO
ooooooooooooooo TvbOOOOO 1000000 ENODOODOOOOODDOOOOO
gooo

16.5.4 UO0O0OOOTVDOODOO

00000000000 (finite volume methods) 0 0000000000 0000000000000
D0D000000®¥0000000000000000 ¢00¢(x)0i00000000 [ 4/y<<
241,)000000000000000000000 000000 10000000 ¢(z)000002
000000000000 ¢(z;)0000000000000000000000000000 (16.44) 0
000000000 «00000uw(z)0000000000 ¢, 000000000000000

u(z) = u(azi)+(az—azi)u'(xi)—l—%(az—azi)zu"(xi)—l—%(m—xi)3u"'(azi)
+ %(az—azi)‘lu(‘l) (zi)+--- (16.95)

o0og«c00b000o0oooo

u'(x) = u'(:ci)+($—$i)u”($i)+l($—$i)2u'”(xi)+—(:C—:C,-)3u(4) ()4,

2!

u'(z) = u"(:ci)+(:c—:ci)u"'(:ci)+%(.’c—xi)2u(4) (wi)+---,

u" (@) = u"(z) + (=) u™® (2)+- -,
u® (z) = u™® (z;)+- -

3000 ENOOOODODOOOOOOODOO0OOOOO0ODO0O0OO0oono
Harten, A. and Osher, S., Uniformly high-order accurate nonoscillatory schemes., I., SIAM J. Numer. Anal., 24 (1987),
279-309.
Shu, C. H. and Osher, S., Efficient implementation of essentially non-oscillatory shock-capturing schemes, II., J. Comp.
Phys., 83 (1989), 32-78.
Harten, A., Engquist, B., Osher, S. and Chakravarthy, S. R., Uniformly high order accurate essentially non-oscillatory
schemes, II1., J. Comp. Phys., 71 (1987), 231-303.
Harten, A., ENO schemes with subcell resolution., J. Comp. Phys., 83 (1989), 148-184.
Yang, H., An artificial compression method for ENO schemes: The slope modification method., J. Comp. Phys., 89 (1990),
125-160.

380000 reconstruction 0 0000000001986 00 0000000000000000000000DOOOOOO00O0OO
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00 w(z)00O0000 «(z), v (z),...0000000000000000
].A.’I,'2 m ].A.’I,A (4)
wi = ulw) o g @)+ g g (@),

1 Az? AT ),

ui = u'(@i)+oy 12

uIII uIII (:L' )
- )

k2

u? = u® ()
goooogog
u® (z;) = u£4)
W) =l
' (z;) = ull — —A$2u
() = - ;, A

M, 11T
u(mi)—ui—2| Ty Ui ﬁﬁl_OAx u;

00000 (1695) 00000000000 w(z)0 OODOOOOOOODODOOOOODOOOOO
1 2 Amz " 1 2 Az "
uw(r) = uit(z—x;)u} +2'{($_$2) —f}u +3|{(az x;) _T}($_$2)Ui
1 . 1 7 o
4| {(:U x;) 2(:17 ;)% Az? —|—4| IOA:U}

00000 (1696) 0000 3000000000000000 200000000 30000O0000
0000000000000 00000000000«,«/000000000000%0

(16.96)

1 . 1
U; = m(—uz'_l +Ui+1)+O(A£U2) = E(Aui,1/2+Aui+1/2)+O(A.’L'2),

1 : 1 ‘
u; = m(ui,1—2ui+ui+1)+0(ﬂxz) = A—$2(_Aui—1/2+Aui+1/2)+0(ﬂxz)

"

0000000000 30000000 (16.96)0 000000000 O 200000000

u(@) = it 3 (E-€ 415 ) Aucr ot (648~ ) A p+0(A0%) (-1/2 <€ <1/2)

¥0oDooo v, 0000000000000000 «/(¢)0000000000000000O0O0O00

1 [®it1/2 1 f®i+i/2p 1
r_ ! _ I o 2
up = - e u' (z)dz vy S [2A;c u(z—Az)+u(z+Az) } +0(Az )]dz

goooo
1 Tit1/2
—/ u(x— Ax)dx
Az

0 u(z) O x; 3200 ¢;_,,,00000000000000 w;—, 000000000000 OOOO0OOODOOOOOO0OO

ooooooo
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000 é=(¢—2;)/Az00000000 £ =+1/20 w(z) 00000000000

1 1

u(Tiy1/2) = Wiy1/2r = ui+6Aui71/2+§Aui+l/2 +0(Az?) (16.97a)
1 1

U(iL’i_l/Q) = ui—1/2R = U;— EA'llli+1/2 — gA’U/i_l/z + O(A;US) (1697b)

000 L,ROODODOO0OODODOOOODODOOOODOODOOD 300 Chakravarthy-Osher 0000 OO
00000000000 00000Y00000000000000000000000000 TVDOO
gobooood

1 - 1 .

Uir1/20 = Wi + EAui71/2+§Aui+l/2: (16.98a)
1 . 1 -

Uit1/2R = Wit1— EAUZ'+3/2_ gAuiH/Z (16.98b)

A’LNI/]'+1/2 = minmod(Auj+1/2, bA'll,j_l/z),

A’(:l,j+1/2 = IIliHIIlOd(AuJ'+1/2, bAuj+3/2)

00 TVDOOOOOODOOO0O0000000b000000 C = |eAt/Az0000000000
(16.66) 0 (16.67) 0000000000000
000000000 mnmed 00000000000

1
u(z;) = ul—ﬂAzuz (16.99)

000000 2,4,,000000 w0000 (jump) O

1
[U]i+1/2 = Uit1/2R — Uit1/2L = —EA3U1'+1/2 (16.100)

000000000 w(z)0000000000000000000 [u;41.,000000000
oboooooobOoooboobooooobooooooooboooon

fivie = (@Tur+a ur)it1 )2 (16.101)

gobobbiobible>0000000000000000e<00000000DOOO0OOOOOOO
oooOoooobOoOOo0o0 oooooooood

ooooooooobooon U?HDDDDDDDDDDD (16.44)0 10000000 ODODOOOO
gooooooooon

U?—H = U?—/\(fi+1/2—fi—1/2) (16.102)

90000000 30000 20000A2%,;0000000{(k— 1/3)/4}(Au1+1/27Au1 1,2) 00000 20000000
00000 20 Chakravarthy-Osher 000 00000000000000000

- 1+k
Uit1/2L = ui+—Aui—1/2+—Aui+l/2 +0(Az?)
11—k 1+k
Ui—1/2R _ul_—Auz+l/2_—Auz 1/2+0(A5” )
Joddd0odOoOo 200000000000
1 s 1 K 1 s, 1 K )
u(@) = uit; (§-624 7 =5 ) Aui_yjot 5 (6462 =7 +5) Ausprp+0(Aa?)
(-1/2<€¢<1/2)
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goboooobooobobooboob 2000000000 0b00b00b00b00bO0o0oobOOobOoDo
oooooobobo200000b00b00000b0boc0o0ooboooo

1 - 1

Qiv+1/2L = ¢i + éAqi_1/2+§Aqi+1/2, (16.103a)
1 1 -

Gi+1/2R = Qi+1 —64(11'+3/2 _gAqi+1/2 (16.103b)

qu'+1/2 = minmod(qu+1/2, bqu,]_/z),
AGji1/2 = minmod(Agj41/2, bAGj43/2)

D00D00000 [gliti2 = Gir1/2r— i1y 0000000000000 0000000000O0
minmod 0000000000000 000000000000O0000000000000000NO0OnO
00000000000 O0O00

0000000000 0000000000000000000000

Fivip =AY qu+A qr)iy1)2 = Z(/\zkark + /\;kark)iH/Q (16.104)
%
000 (wkr)ig1/2 = Lig1/2 Giv1/20, (WkR)ig1/2 = Liy1/2¢i41,2r 00 0000000000000000
0000 (16.103) 000000000 ReeDODODOOOODO (1690) 0000000000

F(qit1721) = (AqL)it1/2 = Z(/\kkark)i+1/2
k

F(qit172r) = (AqR)it1/2 = Z(/\kkark)i+1/2
k

OoooO0oO0O00O00 ADODOOOO0O0OO0OO0O0O0O0OO0o0O0o

—ONATSGY |+ (L+OAASGP +ONA"6qP,, = rhs”

A= At/Az, rhs = =N Fit1/2—Fi_1/2),
qn+1 — qn+6qn

1
—OAAT0q(")+ (L+ONADSg™ +0AA5q() = (™ —qF) + 5 (rhs" +rhs™)

gD = g(m) 4 5g(m)

000000000000000000000000000000000000000000000000
00000 ¢ 00000 (16.93)00000000

O0000C00000000000000000000000000000000

() 00000000000 ¢z 00 ;00000 ;00000000000000000000000
0000 ¢(x)0i00000000000 00000000000000000

(i) 000000000000 2,44, 00000000 Hyyy/ 000 Chakravarthy-Osher D TVD 00O O
0000000000000 0000 O00000000000000 g41/51, ¢i41/2r 00000 30
O TVDOOOODOOOD0O0000000000000 F(giy1/21), Fl@is12r) 0000000

(i) D0D0O0DDO000000 (00000000000 Hy,,000000000000 300
00 F,00000000000000000000000000000000000000000000



44 0000000000 Euer000 O

boodobooobboobobooooo3boooboboobbooobobobooooooobOooooboogon
gbooboboboobooobooooobooboboobooooboboboobobobobooboOoOooOooo
gooooooOooobobobOooboobooooon

gooooooo

l+1/2 — F + AF+ 1/2+ AF+1/2 2+1 AF113/2 AF;1/2 (16105&)
AFJiH/2 Ai+1/2qu+1/2 or = RJ_H/Q|51gnA2+1/2|(ALAq)j+1/2
goooaod
1 -
Fipipp= i{F(anl/zL) + F(giy1/2r) Z | \r| 07 } (16.105b)

F(giy1/20) + Z Ay Oy

= F(qi+1/2R) — Zi 8’11:} ’I%k
k

1 - 1
Qi+1/2L = ¢i + 6A4i71/2+§A11i+1/2,
1 = 1, .
di+1/2R = Qi+1— gqu'+3/2 - gAqi+1/2

0000000000000000000

0000000000000000000C0Cminmed 00000000000000000000COC
00000000000C0000000000000000000000000000000000000
0000000000000 00000000 Fyyjs=Ai1/2841200gi1, 00000000000
O000A4;4,,00000¢+1/2000000000000000000F,_4, F;, F;;,000 2000
000000000000000 (F)i = (Fiys—F1)/Az0 300000000000000000
0000 000000000 ¢(x)00002000000000000000000000000000
000000000000000000000000000000000000000000000000
00 3000000000000 ReeDJ00O0O0O0O0OOOOOOOOOOOOD 300000 Ominmod
00000000 2000000
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16.6 UDUOOODO I

obbooooooooooobooooboboboobooobooboboooooobooboooooboonoog
ooboooboooOoobooboobobOOooooobooooon

16.6.1 0O0O0OOOO

0000000000 00000 Runge-KuttaOO O OO OOO Crank-NicholsonOOOOOOOOO
0000000000000 00 w+f.(uv)=0000000000 Runge-KuttaOOOOOOOOOO

20000 &WHZU"+%%H%ﬁ (16.106)
ki = —At fo(u™), ky = —At fo(u"+kp)

30000 &ﬂ“zu"+%%ﬁ4h+h) (16.107)
ki = —At fo(u™), k"= —At fo(u"+k /4),

(
ko = —At fm(u"+k*/2), ks = —At fz(u”+k2)

40000 mﬂH=u”+gm+%ﬁa@+m) (16.108)
ki = —At f.(u™), ko= —At fo(u"+k1/2),
E* = —At fo(u"+(k1+k2)/4), ks = —At fo(u"+k"/2),
ky = —At fo(u"+E")
00 Crank-Nicholson 000 O0O0O0O000O0O
(1+At0%a)Au(m) = —(u"™Y — ") + %(rhs"+rhs(m_1)), rhs = —Atf, (16.109)

0000000000 000D0000 w©@ =w"0rks® =rhs" 0000 AP ODODOOOO @ =
v©+AV00000000000000000.Y000000000.2000000000060=1/2
00000A«™ 000 300000000 100000000000000000000000000O0
000000000 «®Po0000«Y000000000000000000000«® 0 «®000
100000000000000000 «® 000000000

O00000000000000000000000000 minmod 00000 0% (r) = minmod(r, 1) =
max[0, min(r, )] 00 000000002000000 20000000000000 minmodJO000
00 TVvDOOOOOOODOOOOD

Afi)s (R>1) (200000)

1
hYs = fo+ §minm0d(R; DAfi2 = fo+ 3 Af-12 O<R<1) (ooooo)

0 (R<0) (1ooooo)

1 Af_12 (r>1) (200000)
h1?5=f0+§minm0d(r, DAf 12 =f0+§ Afip (0<r<1) (200000)
0 (r<0) (1ooooo)

000 r=1/R=Afis/JAf 1, 0000000000000 Af,,000 Af,,000000000
Af 4,000 Af,,0000000000000000000000000000000O0000000
000000000000 000000000000000000000000000000000000
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minmod D00 000 30 Chakravarthy-Osher TVD OO DOOOO0OO0ODOOOODOODOOOO

1 1
h1(/32) =fo+ Eminmod(br, DAf_ 1/, + gminmod(r, D)Af_1/2

1+2b (r>b)
1 1J1+2r (1/b<r<b) (3000O0D)
= —Af_ 1/ = 16.110
ot gafeg (b+2)r (0<r<1/b) ( )
0 (r<0) (1ooooo)

0002000000000 minmod(r, b)Af 1/, = minmod(Afy s, bAf 1) 000000 Afy, 00
0000000 Af,,0b0000000000000000000300000000000000
D0000000000Af,,00000 Af,,0000000000000000000000000
O0b>100000000b<100000004f,00000 Af,,000000000000
000000000000 00000000000000 200000000 minmod(br, )Af 4/, =
minmod(Af_y 5, bAf1,) 00000 Af 4, 000000000 Afy,0 6000000000000
0000000000000 000000000000000

minmod(r, b) minmod(br,1)

2 2
b>1

1F b=1 1k
b< b>1

b=
! ! ! ! ! /\Ib <t !
—1 0 1 2 3 —1 0 1 2 3,

oooobooOooooboboooo 6120000000000 O0DODOODODOOODOOTVDO
gooooboooooon

1
hij2 = fo+ iw(r)ﬂf—1/2 (16.111)

000000000 ooo0oo0 y(r)OO0OD w(1) =1000000000 f(z)0D0O0O0OODOOO
Af_120 Af1p000000000O0O00OO0OOGODDOD f,,,0000000000000000
00000000000000000 minmod(r, 1)0 P.L. Roe0 00000000 ‘superbee’ 0000

w(r) superbee
=
/ pd minmod(r, 2)
///xminmod(%, (2r+1)/3, 2)
1
// minmod(r, 1)
! ! ! !
0 1 2 3 4

0 16.12. 000000
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00000 superbee = max[0, min(2r, 1), min(r, 2)] 00000000 0minmod 0000000000
O0000000000000000DDO superbee0 0000000000000 superbee0 0000
o000 2000000000000000000 TVDOOOOOOOOOODOOODOOOoOOoOOoOoo
goboooobooooobooboobooooboooboooooooooboobooooobooooboboboonbon
gooo

OD0O0000 superbee D0 0000002000000 200000000000 00 superbeed OO
O TvDbOooooooooooono

1
hYs = hl%D = fo+ isuperbee(r)Af_l/g

2 (r>2)
) T (1<r<2) (200000)
=f0+§Af71/2 1 (1/2<r<1) (oD0000)
2r (0<r<1/2)
0 (r<0) (1ooooo)

00000 superbee 0 000 30 Chakravarthy-Osher TVD OOOODO000000000000000
00020000000 superbee 0 0000000000000000 Ominmod(r,1)00000000
00000000 Osuperbee ] 00000000000000000000000000 O superbeed O
000000000000000000000000000000000000000000000000
0000000000000016.1200000%(r)=r0002000000%(r)=102000000
@(r)=00 1000000%(r)=(1+2r)/30 300000000000 ¢(r)=2r000 200000
0 h;,00000000000%(r)=20002000000 h),0OOOODODO0ODOO0DO000O0O

00 Chakravarthy-Osher 00000 2000000 20000000000000000000000
3000000000000000000 200000000 20000000000000000000
000000000000

1 1
hl(;;) =fo+ 5minm0d(2R, (2+R)/3,2)Af1y2 = fo + 5minm0d(2r, (2r+1)/3, 2)Af_1/2

2 (r > 2.5)
1 (1+2r)/3 (0.25<r <25) (300000)
=fo+ -Af- 16.112
ot gAfarzy,, (0<r<0.25) ( )

0 (r<0) (1ooooo)
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16.6.2 0U0O0OODOOOO0O0OOODOOO

0oo0oOoO0Ooo0O000O00000000000000000000000000000000 a=10
000000 +w=7=2000000000000000000000000000000 ea=-100
00 OPARAMETER is=-200,if=1000000000000000000 CFLO 0.25,0.50, 0.75,1.00 0
O0000000000000000000000000 PROBLEM 10000000 PROBLEM 200000
000000000000 000000000000000

0000 mode=1100 mode=840 0000 1500000000000000000 CALFVS, CALFDS,
CALFVMOI OOOO0OO0D00O00O00O000000000000000000000000000000B800
000000000 0O0000000000000D0T0O0O0000000000 w(;,T)=vw,’0000
O0wO0O00D00O00D0 0UTPUT.dat0 000000000000 SCALARGDODDODOO0OODODO
00000000 FORTRAN 95/90 Free source formO0 0000000000000

PROGRAM MAIN

D skeskes ek sk sk sk ok ks s ok sk ke sk sk sk s ok sk o ki sk ok sk sk sk sk ok sk sk s ok sk s ks sk s ok sk ok sk s ok ok sk sk sk s ok sk sk sk sk s ok sk ok ki sk ok sk ok
! Problem: Initial value problem of 1D scalar transport equation

! Numerical Method: Flux vector splitting, Flux difference splitting, finite volume method
D skeskes ek sk sk sk ok ks s ok sk ke sk sk sk s ok sk o ki sk ok sk sk sk sk ok sk sk s ok sk s ks sk s ok sk ok sk s ok ok sk sk sk s ok sk sk sk sk s ok sk ok ki sk ok sk ok
PARAMETER (is=0,if=300)

DIMENSION x(is:if),u(is:if),u0(is:if),ur(0:100,0:18),ii(0:100),cf1d(8)

CHARACTER*30 zm(100),z(24)

COMMON na,dt,dx,a

DATA dx,pi/.01, 3.14159/ !dx:pitch of calculating points
FORALL (i=is:if)x(i)=dx*i

DATA a,tt/1., 2./ !Set a:phase velocity and tt:total phys time, should be taken |a|*tt<=2.
DATA cfld/.1, .25, .5, .75, 1., 1.25, 1.6, 2./

CFL=cf1d(4); dt=CFL*dx/ABS(a) !Choose CFL number from cfld, CFL=|al|*dt/dx.
naf=INT(tt/dt+.5) 'tt=dt*naf, naf:max iteration number
! Initial data

IProblem=1 !Choose IProblem=1(rectangle wave) or =2(sail-boat wave)

IF (IProblem==1)FORALL(i=35:65)u0(i)=1.
IF (IProblem==2) THEN
FORALL (1=20:50)u0(i)=SIN(.4*pi*FLOAT(i-20)/30)/SIN(.4*pi)
FORALL (i=51:80)u0(i)=.4* (SIN(.5*pi+pi/3.*FLOAT(i-50)/30)-.5)
ENDIF
FORALL (i=0:100)ur(i,0)=u0(i) lexact solution
i00=INT (a*tt/dx+1000.1)-1000
FORALL (i=0:100) 1i (i) =100+i
zm( 1)=’blank’

zm(11)="Roe scheme, explicit Euler 'mode=11
zm(21)="QUICK, 3rd-order RK 'mode=21
zm(22)="QUICK, CNpcm 'mode=22
zm(41)="3rd CO and RK, minmod 'mode=41
zm(42)="3rd CO and RK, superbee 'mode=42
zm(43)="3rd CO0, CNpcm, minmod 'mode=43
zm(44)="3rd CO, CNpcm, superbee 'mode=44

bl
bl
2
bl
bl
2
bl
zm(61)="MUSCL, 2-step, minmod > Imode=61
2
bl
bl
2
bl
bl
2

zm(62)="MUSCL, 2-step, superbee 'mode=62
zm(63)="2nd Roe scheme, minmod 'mode=63
zm(64)="2nd Roe scheme, superbee 'mode=64
zm(81)=’3rd FVM and RK, minmod 'mode=81
zm(82)="3rd FVM and RK, superbee 'mode=82
zm(83)="3rd FVM, CNpcm, minmod 'mode=83
zm(84)="3rd FVM, CNpcm, superbee 'mode=84
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'2nd: 2nd-order Roe: lst-order Roe scheme CO: Chakravarthy-Osher type scheme
'FVM: finite volume method Euler: 1st-order forward Euler
'RK: Runge-Kutta method CNpcm: Crank-Nicholson predictor-corrector method
! Solution of 1D scalar transport equation
DO k=1,18
SELECT CASE (k)
CASE(1) ; mode=11; CASE(2) ; mode=21; CASE(3) ; mode=22;
CASE(4) ; mode=41; CASE(5) ; mode=42; CASE(6) ; mode= 0;
CASE(7) ; mode=43; CASE(8) ; mode=44; CASE(9) ; mode= 0;
CASE(10) ; mode=61; CASE(11) ; mode=64; CASE(12) ; mode= 0;
CASE(13); mode=81; CASE(14) ; mode=82; CASE(15) ; mode= 0;
CASE(16) ; mode=83; CASE(17) ; mode=84; CASE(18); mode= 0
ENDSELECT
z (k) =zm(mode)
FORALL (i=is:if)u(i)=u0(i)
na=0; 100 na=na+l

’

IF (mode<=29) CALL CALFVS(x,u,is,if,mode) !flux vector splitting
IF (mode>29.AND.mode<60) CALL CALFDS(x,u,is,if,mode) !flux-difference splitting
IF (mode>=60) CALL CALFVM(x,u,is,if,mode) !finite volume methods
IF (na<naf) GOTO 100
FORALL (1i=0:100)ur (i,k)=u(i00+i)
ENDDO

! Output of computational results
OPEN (20,FILE="0UTPUT.dat’)
DO k=1,18
WRITE(20,’ (//1H 2X A6,A6,13,3X A30,A6/)’) > *x**x > ’mode =’,mode,z(k),’ ***xx*’
DO 1=0,3; il=1%25
WRITE(20,” (2X 26F9.3)’) ( ur(i,k),i=il,il+25)
WRITE(20,’( 2619/ )’)(ii(i),i=il,il+25)
ENDDO; ENDDO
CLOSE (20)
CALL SCALARG(x,ur,is,if,z) !Graphics
STOP
END PROGRAM MAIN

! xkkxkkkkk*k Solve 1D scalar transport equation by flux vector splitting
SUBROUTINE CALFVS(x,u,is,if,mode)
DIMENSION x(is:if),u(is:if),f(is:if), &
v(is:if) ,uks(is:if) ,ukl(is:if) ,uk2(is:if),uk3(is:if), & 'use only for Runge-Kutta
ul(is:if),f1(is:if),rhs(is:if),c(is:if,3) 'use only for CNpcm
COMMON na,dt,dx,a
FORALL (i=is:if)v(i)=u(i)

IF (mode==11)THEN !Roe scheme

CALL FLUXR(u,f,is,if)

FORALL (i=is+2:if-2)u(i)=u(i)-dt/dx*(f (i) -f(i-1))
ENDIF

IF (mode==21)THEN !QUICK scheme, 3rd-order Runge-Kutta

CALL FLUXQ(u,f,is,if)
FORALL (i=is+3:if-3)

ukl (i)=-dt/dx*(£(i)-f(i-1)); v(i)=u(i)+uk1(i)/4.
ENDFORALL
CALL FLUXQ(v,f,is,if)
FORALL (i=is+3:if-3)

uks (i)=-dt/dx* (£ (i)-f(i-1)); v(i)=u(i)+uks(i)/2.
ENDFORALL
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CALL FLUXQ(v,f,is,if)

FORALL (i=is+3:if-3)
uk2(i)=-dt/dx*(£(i)-f(i-1)); v(i)=u(i)+uk2(i)

ENDFORALL

CALL FLUXQ(v,f,is,if)

FORALL (i=is+3:if-3)
uk3(i)=-dt/dx*(£(i)-f(i-1))
u(i)=u(i)+(uk1(i)+4.*uk2(i)+uk3(i))/6.

ENDFORALL

ENDIF

IF (mode==22)THEN !QUICK scheme, Crank-Nicholson predictor-corrector method
ib=is+3; ie=if-3; dxt=dt#*.5/dx; am=(a-ABS(a))/2.; ap=(a+ABS(a))/2.
FORALL (i=is:if)ul(i)=u(i)

CALL FLUXQ(u,f,is,if)
m=-1; 100 m=m+1
CALL FLUXQ(ul,f1,is,if)
DO i=ib,ie
c(i,1)=-dxt*ap
c(i,2)=1.+dxt*(ap-am)
c(i,3)=dxt*am
rhs (1)=-(ul(i)-u(i))-dxt* (£ (1) -£(i-1)+f1(i)-£1(i-1)) 'right hand side
ENDDO
CALL GAUSS3(c,rhs,is,if,ib,ie)
FORALL (i=ib:ie)ul(i)=ul(i)+rhs (i)
IF (m<2) GOTO 100
FORALL (i=ib:ie)u(i)=ul(i)
ENDIF
END SUBROUTINE CALFVS

I oskokokokkokokkx FLUXR

SUBROUTINE FLUXR(u,f,is,if)

DIMENSION u(is:if),f(is:if)

COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
FORALL (i=is+1:if-2)f (i)=ap*u(i)+am*u(i+1)
ENDSUBROUTINE FLUXR

Voskkkkokxokokxk FLUXQ

SUBROUTINE FLUXQ(u,f,is,if)

DIMENSION u(is:if),f(is:if)

COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.

FORALL (i=is+2:if-3)f (i)=ap*(-u(i-1)+6.*u(i)+3.*u(i+1))/8.+am* (3. *u(i)+6.*u(i+1)-u(i+2))/8.
ENDSUBROUTINE FLUXQ

! xkkxkkkkk*k Solve 1D scalar transport eq by flux difference splitting
SUBROUTINE CALFDS(x,u,is,if,mode)
DIMENSION x(is:if),u(is:if),f(is:if),fdc(10),fdc1(10), &
v(is:if) ,uks(is:if) ,ukl(is:if) ,uk2(is:if),uk3(is:if), & 'only use for Runge-Kutta
ul(is:if),f1(is:if),rhs(is:if),c(is:if,3) lonly use for CNpcm
COMMON na,dt,dx,a
FORALL (i=is:if)v(i)=u(i)

IF (mode==41.0R.mode==42)THEN !CO scheme, 3rd-order Runge-Kutta
CALL FLUXCO(u,f,is,if,mode)
FORALL (i=is+3:if-3)
ukl (i)=-dt/dxx(£(i)-£(i-1)); v(i)=u(i)+ukl(i)/2.
ENDFORALL
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CALL FLUXCO(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uks (i)=-dt/dx* (£ (i)-f(i-1)); v(i)=u(i)+uks(i)/2.
ENDFORALL
CALL FLUXCO(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk2 (i)=-dt/dx* (£ (1)-£(i-1)); v(i)=u(i)+uk2(i)
ENDFORALL
CALL FLUXCO(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk3(i)=-dt/dx* (£ (i)-f(i-1))
u(i)=u(i)+(uk1(i)+4.*uk2(i)+uk3(i))/6.
ENDFORALL
ENDIF

IF (mode==43.0R.mode==44) THEN !CO scheme, Crank-Nicholson predictor-corrector method
ib=is+3; ie=if-3; dxt=.5*dt/dx; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
FORALL (i=is:if)ul(i)=u(i)
CALL FLUXCO(u,f,is,if,mode)
m=-1; 100 m=m+1
CALL FLUXCO(ul,f1l,is,if,mode)
D0 i=ib,ie
c(i,1)=-dxt*ap
c(i,2)=1.+dxt*(ap-am)
c(i,3)=dxt*am
rhs (i)=-(ul(i)-u(i))-dxt* (£ (i)-f (i-1)+f1(i)-f1(i-1)) 'right hand side
ENDDO
CALL GAUSS3(c,rhs,is,if,ib,ie)
FORALL (i=ib:ie)ul(i)=ul(i)+rhs(i)
IF (m<2) GOTO 100
FORALL (i=ib:ie)u(i)=ul(i)
ENDIF
ENDSUBROUTINE CALFDS

b skskokok kok kok Kok FLUXCU
SUBROUTINE FLUXCO(u,f,is,if,mode)
DIMENSION u(is:if),f(is:if)
COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
b=2.
DO i=is+2,if-3
dua=u(i)-u(i-1); duO=u(i+1)-u(i); dul=u(i+2)-u(i+1)
IF (mode==41.0R.mode==43) THEN
f(i)=ap*(u(i) +AMINMOD(dua,b*du0)/6.+AMINMOD (du0,b*dua)/3.) &
+am* (u (i+1) -AMINMOD (dul,b*du0) /6 .-AMINMOD (du0,b*dul) /3.)
ELSE
f (i) =ap* (u (i) +SUPERBEE (dua,du0) /2.) +am* (u (i+1) -~SUPERBEE (dul,du0) /2.)
ENDIF
ENDDO
ENDSUBROUTINE FLUXCO

! skxxkkkkkx Solve 1D scalar transport eq by finite volume method
SUBROUTINE CALFVM(x,u,is,if,mode)
DIMENSION u(is:if),f(is:if), &
v(is:if) ,uks(is:if) ,ukl(is:if) ,uk2(is:if),uk3(is:if), & 'only use for Runge-Kutta
ul(is:if),f1(is:if),rhs(is:if),c(is:if,3) lonly use for CNpcm
COMMON na,dt,dx,a
FORALL (i=is:if)v(i)=u(i)
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IF (mode==61)THEN !MUSCL, 2-step time integration
CALL FLUXM(u,f,is,if)
FORALL (i=is+2:if-2)v(i)=u(i)-dt/(2.*dx)* (£ (i)-f(i-1))
CALL FLUXM(v,f,is,if)
FORALL (i=is+2:if-2)u(i)=u(i)-dt/dx* (£ (i)-£f(i-1))
ENDIF

IF (mode==63.0R.mode==64) THEN !2nd-order Roe scheme
CALL FLUXR2(u,f,is,if,mode)
FORALL (i=is+2:if-2)u(i)=u(i)-dt/dx*(f (i) -f(i-1))
ENDIF

IF (mode==81.0R.mode==82)THEN !3rd-order FVM and 3rd-order Runge-Kutta
CALL FLUX3(u,f,is,if,mode)
FORALL (i=is+2:if-2)
ukl (i)=-dt/dx* (£ (i)-£(i-1)); v(i)=u(i)+uk1(i)/4.
ENDFORALL
CALL FLUX3(v,f,is,if,mode)
FORALL (i=is+2:if-2)
uks (i)=-dt/dx*(£(i)-f(i-1)); v(i)=u(i)+uks(i)/2.
ENDFORALL
CALL FLUX3(v,f,is,if,mode)
FORALL (i=is+2:if-2)
uk2(i)=-dt/dx* (£ (1)-£(i-1)); v(i)=u(i)+uk2(i)
ENDFORALL
CALL FLUX3(v,f,is,if,mode)
FORALL (i=is+2:if-2)
uk3 (i)=-dt/dx*(£(i)-f(i-1))
u(i)=u(i)+(ukl1(i)+4.*uk2(i)+uk3(i))/6.
ENDFORALL
ENDIF

IF (mode==83.0R.mode==84)THEN !3rd-order FVM, Crank-Nicholson predictor-corrector method
ib=is+3; ie=if-3; dxt=.5*dt/dx; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
FORALL (i=is:if)ul(i)=u(i)
CALL FLUX3(u,f,is,if,mode)
m=-1; 100 m=m+1
CALL FLUX3(ul,f1,is,if,mode)
DO i=ib,ie
c(i,1)=-dxt*ap
c(i,2)=1.+dxt*(ap-am)
c(i,3)=dxt*am
rhs (i)=-(ul(i)-u(i))-dxt* (£ (i)-f (i-1)+f1(i)-f1(i-1)) 'right hand side
ENDDO
CALL GAUSS3(c,rhs,is,if,ib,ie)
FORALL (i=ib:ie)ul(i)=ul(i)+rhs(i)
IF (m<2) GOTO 100
FORALL (i=ib:ie)u(i)=ul (i)
ENDIF
ENDSUBROUTINE CALFVM

Iosskokokokokokokkx  FLUXM

SUBROUTINE FLUXM(u,f,is,if)

DIMENSION u(is:if),f(is:if)

COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
DO i=is+1,if-2
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dua=u(i)-u(i-1); duO=u(i+1)-u(i); dul=u(i+2)-u(i+l)
ul=u(i )+.5*AMINMOD (dua,du0)
ur=u(i+1)-.5*%AMINMOD (du0,dul)
f (i) =ap*ul+am*ur
ENDDO
ENDSUBROUTINE FLUXM

I skkkkokkkokk FLUXR2
SUBROUTINE FLUXR2(u,f,is,if,mode)
DIMENSION u(is:if),f(is:if)
COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
DO i=is+1,if-2
dua=u(i)-u(i-1); duO=u(i+1)-u(i); dul=u(i+2)-u(i+l)
IF (mode==63) THEN
ul=u(i )+.5*AMINMOD (dua,du0)
ur=u(i+1)-.5*AMINMOD (du0,dul)
ELSE
ul=u(i )+.5*SUPERBEE (dua,du0)
ur=u(i+1)-.5*SUPERBEE (du0,dul)
ENDIF
ul=ul-dt/dx*a*(ul-u(i))
ur=ur-dt/dx*a* (u(i+1)-ur)
f (1) =ap*ul+am*ur
ENDDO
ENDSUBROUTINE FLUXR2

| skkkkkkkokk FLUX3
SUBROUTINE FLUX3(u,f,is,if,mode)
DIMENSION u(is:if),f(is:if)
COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
b=2.
DO i=is+1,if-2
dua=u(i)-u(i-1); duO=u(i+1)-u(i); dul=u(i+2)-u(i+l)
IF (mode==81.0R.mode==83) THEN
f(i)=ap*(u(i )+AMINMOD(dua,b*du0)/6.+AMINMOD (du0,b*dua)/3.) &
+am* (u(i+1)-AMINMOD (dul,b*du0) /6 .-AMINMOD (du0,b*dul)/3.)
ELSE
f (i)=ap#* (u(i) +SUPERBEE (dua,du0) /2. ) +am* (u(i+1) -SUPERBEE (dul,du0) /2.)
ENDIF
ENDDO
ENDSUBROUTINE FLUX3

! kkkkkkkkk*k Limiter minmod
FUNCTION AMINMOD(x,y)

s=SIGN(1.,x); AMINMOD=s*MAX(O.,MIN(ABS(x),s*y))
END FUNCTION

! skkxsokkokkxkx Limiter superbee
FUNCTION SUPERBEE(x,y)

s=SIGN(1.,x); SUPERBEE=s*MAX(0.,MIN(2.*ABS(x),s*y),MIN(ABS(x),2.*s*y))
END FUNCTION

! skkxkkkkk* Gaussian elimination for linear eqns with tri-diagonal matrix
SUBROUTINE GAUSS3(c,b,is,if,ib,ie)
DIMENSION c(is:if,3),b(is:if)
DO i=ib,ie-1
b(i)=b(i)/c(i,2); c(i,3)=c(i,3)/c(i,2)

33
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16 16 16
Roe scheme, Euler 3rd CO and RK, minmod Jrd CO, Chpcm, minmod
u CILICK, Srd-order R u 3rd CO and R, superbee u 3rd CO, CNpom, superbee
QUICK, CMpcm
1.2 1.2
ey
0.8 0.8
0.4r 0.4F
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
20 22 24 2b 28 XBD 20 22 2.4 2b 28 XBD 20 22 2.4 2b 28 XBD
(a) (b)) (c)h
16 16 16
MUSCL, 2-step, minmod 3rd Fb and R, minmod Srd Fwhl, CHpem, minmod
u 2nd Roe scheme, superbee u Srd Fwivl and Rk, superbee u Srd Fwhl, CNpecm, superbee
1.2F 1.2F 1.2F
0.8 ( 0.8 / \ 0.8 : \
0.4 j 0.4 0.4
] o K u] e
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
20 22 2.4 2B 28 }cSD 20 22 2.4 2B 28 XSD 20 22 2.4 25 28 XSD
(d) (e) (f)

0 16.13: 000 a=1, T =2, CFL =0.50

b(i+1)=b(i+1)-c(i+1,1)*b(1i)
c(i+1,2)=c(i+1,2)-c(i+1,1)*c(i,3)

ENDDO

b(ie)=b(ie)/c(ie,2)

DO i=ie-1,ib,-1
b(i)=b(i)-c(i,3)*b(i+1)

ENDDO

ENDSUBROUTINE GAUSS3

000000000000 SCALARGO 000 0000000000000 000N0NN0N0oNoNnooon
000000000 0000000000000000000000000000 CALFDS O mode=410
Omode=440 0000000000000

0000 FORALL(i=is:if)v(i)=u(i)0 0000000000000 00000 0000 ORunge Kutta
000000000000 w43 ~u;,—3000000000FLUXCO00 0000 minmod 000 superbee
0000 Chakravarthy-Osher 0 TVD OO ODOOOOOOO0OOO00OO0O0O0O0O000O00O w0000
00 ap,am=0a* 00000 £(1) =f,,0000000000000 dua= Au;_y/20du0 = Augyy /o0
dul = Au;y3/, 0000 Crank-Nicholson 000 0000000000000000000 100000
00000Orhs,c00000000000000 10000000 -0000000000000000
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3rd Fh and RK, minmod
3rd F%M and RK, superbee

L

20
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(e)

08

35

3rd O, CHpem, minmod
Srd CO, Chlpem, superbee

0.8-
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{c)H

Srd P, Chlpem, minmod
3rd FYM, CMpcm, superbee

0 16.14: 000 a=1,T=2, CFL=0.75
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1.6 16 1.6
Roe scheme, Euler 3rd CO and RK, minmod 3rd CO, CMpcm, minmod
u CIUICK, 3rd-order RK 3rd CO and RK, superbee 3rd O, Chpem, superbee
QUICK, CHpcm
1.2F 1.2F 1.2
= 1
0.8 08- 0.8- / |
0.4 0.4 0.4 !
1 1 1 1 | 1 1 1 1 | 1 1 1 1 1
2.0 22 2.4 26 28 . 3.0 2.0 22 2.4 26 28 " 3.0 20 22 2.4 2B 28 3.0
(a) (b) (c)
1.6 16 1.6
MUSCL, 2-step, minmod 3rd FY%® and R, minmod 3rd PV, CMpcrm, minmod
u 2nd Roe scheme, superbee 3rd FvM and RK, superbee 3rd FYM, CMpcm, superbee
1.2F 1.2F 1.2
P 1
n&F naF n&F / |
[ ]
0.4 0.4 0.4 !
J \ | \
] 0 ] I e
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 1
2.0 22 2.4 25 28 « 3.0 2.0 2.2 2.4 25 28 “ 3.0 2.0 22 2.4 26 2.8 “ 3.0
(d) (e) (f)

0 16.15: 000 a=1, T =2, CFL =1.00

16.6.3 0O0OUOO0OOU

gbobobOobO0ooooooboooooooooboo oLz L10000000D000DO0O00O0w=00O
p=p=10(z<4), =01 (z>4)000000000000000O0O0O0OOO0OOOOOOOOOOO
O0000T=Atxn;,=20000000000 p,w, p000 OUTPUT.dat 000000000000
oooooooobboboooboobooobooobooooooboboboboOooooo

PROGRAM MAIN

Dok sk ok ok o ok ok ok ok ok ok ook Kok ok ok ok ok ok ok ok ok ok ok oK ok ok ok o o o ok ok K ok KoK K Kok ok ok sk ok ok K ok ok ok oK o o ok ok K o ok ok K ok o Kok ok ok sk ok ok ok ok sk ok ok ok o ok ok ok K
! Problem: Riemann Shock Tube Flow Problem

! Numerical Method: Flux vector splitting, Flux difference splitting, finite volume method
Dok sk ok ok o ok ok ok ok ok ok ook Kok ok ok ok ok ok ok ok ok ok ok oK ok ok ok o o o ok ok K ok KoK K Kok ok ok sk ok ok K ok ok ok oK o o ok ok K o ok ok K ok o Kok ok ok sk ok ok ok ok sk ok ok ok o ok ok ok K
PARAMETER (i£=100)

DIMENSION x(0:if),q(0:if,3),q0(0:if,3),qs(0:if,3,0:9),rho(0:100),u(0:100),p(0:100),ii(0:if)
CHARACTER*30 zm(100),z(9)

COMMON na,dt,dx,ak
DATA dx,dt,naf,ak/.1,
FORALL(i=0:if)ii(i)=1i
FORALL(i=0:if)x(i)=dx*i

! Initial data

DATA rho/41%1., 60%x.1/ u/101%0./ p/41x1., 60%.1/

.01, 200, 1.4/ 'naf:iteration number
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16 1.6 16
Roe scheme, Euler 3rd CO and RE, minmod 3rd CO, CMpcm, minrmod
u QUICK, Jrd-order Rk u drd CO and RK, superbee u 3rd CO, CHpcm, superbee
QUICK, CHpcm
1.2F 1.2F 12F
0. 0.8f A/i\ 08f / /‘
: /
04 0.4 \ 0.4 k
i} il f S i} - —
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
20 22 2.4 2B 28 " 30 20 22 2.4 2k 28 30 20 22 2.4 2k 28 " 30
Cad (b (c)
16 16 16
MUSCL, Z-step, minmod 3rd FYM and RK, minmod 3rd B, CMpem, minmod
u 2nd Roe scheme, superbee u 3rd P and RIS, superbes u 3rd FYWh, CMpem, superbee
1.2 1.2 121
0.8 ;ﬁiil 0.8 08 /?/]
n4f / K .4F _ nar &
‘ = I.-"II \ .
0 __/ . 0 & 0 r .
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
20 22 2.4 2B 28 " 3.0 20 22 2.4 2B 28 30 20 22 2.4 25 28 " 30
(dd (e (1)

0 16.16: 000 a=1, T =2, CFL =0.50

FORALL (i=0:if)

q0(i,1)=rho(i); q0(i,2)=0.; q0(i,3)=p(i)/(ak-1.)

ENDFORALL
zm(11)="Roe scheme, explicit Euler ’

zm(84)="3rd-order FVM, CNpcm, superbee’

! Solution of Riemann problem

DO k=1,9
SELECT CASE (k)
CASE(1); mode=11;
CASE(4) ; mode=42;
CASE(7); mode=81;
ENDSELECT
z (k) =zm(mode)
FORALL(i=0:if,j=1:3)q(i,j)=q0(i,j)
na=0; 100 na=na+l
IF (mode<=29)

CASE(2); mode=21;
CASE(5) ; mode=61;
CASE(8); mode=82;

IF (mode>=60)
IF (na<naf)
FORALL (i=0:if)

CALL CALFVS(q,if,mode)

IF (mode>=30 .AND. mode<=59)CALL CALFDS(q,if,mode)

CALL CALFVM(q,if,mode)
GOTO 100

'mode=11

'mode=84

CASE(3) ; mode=41
CASE(6) ; mode=64
CASE(9) ; mode=84

'fluc vector splitting schemes
'fluc difference splitting schemes
!finite volume methods
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Roe scheme, Euler

u QUICK, 3rd-order Rk
QUICK, CNpcm

1 1 1 1 1
20 22 2.4 2B 28 3.0

(a)
1.6
MUSCL, 2-step, minmod
u 2nd Roe scheme, superbee
1.2
0.8r-
0.4~
0 ——

(d)

0 16.17: 000 a=1,T =2, CFL=0.75

Frd CO and REK, minmod
3rd CO and RK, superbee

/

\

/ ~_ B

3rd CO, Chpecm, minmod
3rd CO, CMpem, superbee

22 2.4 256 28

(b)

3rd FYhd and RE, minmod
3rd Fwivl and RK, superbee

(c)

3rd FwM, CHpcm, minmod
3rd W, CNpem, superbee

1
22 2.4 256 28

(e)

gs(i,1,k)=q(i,1); qs(i,2,k)=q(i,2)/q(i,1)
gs(i,3,k)=(ak-1.)*(q(i,3)-q(i,2)*qs(i,2,k)/2.)

ENDFORALL
ENDDO
! Output of computational results
OPEN (20,FILE=’0UTPUT.dat’)
DO k=1,9

WRITE(20,’ (//1H 2X A6,A6,13,3X A30,A6/)’) ’*x*x* ’, ’mode =’,mode,z(k),’ *x*x*’

DO 1=0,3; il=1%25

WRITE(20,’ (A10,26F9.3)’) density
WRITE(QO,’(A10,26F9.3)’)’Ve10city =’,(qs(i,2,k),i=i1,i1+25)
WRITE(QO,’(A10,26F9.3)’)’pressure =’,(qs(i,3,k),i=i1,i1+25)

»,(qs(i,1,k),i=il,i1+25)

WRITE(20,’ (8X 26I9/ )’) (ii(i),i=il,il+25)

ENDDO; ENDDO

CLOSE(20)

CALL RIEMANNG(x,gs,if,z)
STOP

END PROGRAM MAIN

! xkkxkkkxk*k Compute Riemann problem by flux vector splitting

SUBROUTINE CALFVS(q,if,mode)
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16 1.6 1.6
Roe scheme, Euler 3rd CO and RK, minmod
u CIUICK, 3rd-order RK u 3rd CO and RK, superbee u
QUICK, CMpcm
121 121 121

o8k oaf //\ 0.8l
0.4 0.4 \‘ 0.4

99

3rd CO, CMpcm, minmod
3rd CO, ChHpom, superbee

D D _/r -~ o D o
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 1
20 22 2.4 2B 28 . 3.0 20 2.2 2.4 2B 28 " 30 20 22 2.4 26 28 " 3.0
Cad (b (c)
16 16 16
MUSCL, 2-step, minmod 3rd FYM and R, minmod 3rd P, CHpcm, minmod
u 2nd Roe scheme, superbes u 3rd Fvh and RIS, superbee u 3rd PV, Chpcrm, superbee
121 121 121
/ A
0.8 08r- 0.8- 4 \
0.4 04- \\ 04 \
0 u] 0 -
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 1
20 22 2.4 26 28 " 3.0 20 2.2 2.4 2B 28 " 30 20 22 2.4 26 28 " 3.0
(dd (e (f)

0 16.18: 000 a=1, T =2, CFL =1.00

DIMENSION q(0:if,3),f(0:if,3), &
u(0:if,3) ,uks (0:if,3) ,uk1(0:if,3) ,uk2(0:if,3) ,uk3(0:if,3), &
q1(0:if,3),£f1(0:if,3) ,ap(3) ,am(3) ,amat (3,3) ,rhs(300) ,c(300,-5:5)
COMMON na,dt,dx,ak
FORALL (i=0:if,j=1:3)u(i,j)=q(i,j)

IF (mode==11)THEN !Roe scheme, explicit Euler

CALL FLUXR(q,f,if)

FORALL (i=2:if-2,j=1:3)q(i,j)=q(i,j)-dt/dx*(£(i,j)-£(i-1,3))
ENDIF

IF (mode==21)THEN !QUICK scheme, 3rd-order Runge-Kutta
CALL FLUXQ(q,f,if)
FORALL (i=3:if-3,j=1:3)
uk1 (i, j)=—dt/dx* (£ (i,j)-£(i-1,7)); u(i,j)=q(i,j)+uki(i,j)/4.
ENDFORALL
CALL FLUXQ(u,f,if)
FORALL (i=3:if-3,j=1:3)
uks(i,j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(i,j)+uks(i,j)/2.
ENDFORALL
CALL FLUXQ(u,f,if)

'only use for RK
'only use for CNpcm
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FORALL (i=3:if-3,j=1:3)
uk2 (i, j)=-dt/dx*(£(i,j)-f(i-1,3)); u(i,j)=q(d,j)+uk2(i,j)
ENDFORALL
CALL FLUXQ(u,f,if)
FORALL (i=3:if-3,j=1:3)
uk3(i,j)=-dt/dx*(f(i,j)-f(i-1,3))
q(i,j)=q(i,j)+(ukl(i,j)+4.*uk2(d,j)+uk3(i,j))/6.
ENDFORALL
ENDIF

IF (mode==22) THEN !QUICK scheme, Crank-Nicholson predictor-corrector method
ib=3; ie=if-3; dxt=dt*.5/dx
FORALL(i=0:if,j=1:3)ql(i, j)=q(i,]j)
CALL FLUXQ(q,f,if)
m=-1; 100 m=m+1
CALL FLUXQ(ql,f1,if)
DO i=ib,ie
CALL SUBSD(i,q,if,r,u,H,c)
CALL AAA(u,c,ap,am)
CALL MATRIX(i,q,if,ap,amat)
DO ii=1,3; DO jj=1,3
c(3*i-3+ii, jj-ii-3)=-dxt*amat (ii,jj)
c(3%i-3+ii,jj-ii )= dxt*amat(ii,jj)
ENDDO; ENDDO
CALL MATRIX(i,q,if,am,amat)
DO ii=1,3; DO jj=1,3
c(3*1i-3+ii,jj-ii )=c(3*i-3+ii,jj-ii)-dxt*amat(ii,jj)
c(3%i-3+ii,jj-1i+3)= dxt*amat(ii,jj)
ENDDO; ENDDO
DO j=1,3
c(3%i-3+j,0)=c(3*¥i-3+j,0)+1.
rhs (3%i-3+j)=-(q1(i,j)-q(i,j))-dxt*(£(i,j)-f(i-1,j)+f1(i,j)-f1(i-1,3))
ENDDO; ENDDO
CALL GAUSSB(c,rhs,300,3*ib-2,3*ie,-5,5)
FORALL (i=ib:ie, j=1:3)q1(i,j)=q1 (i, j)+rhs(3*i-3+j)
IF (m<2) GOTO 100
FORALL(i=ib:ie, j=1:3)q(i, j)=q1(i,j)
ENDIF
END SUBROUTINE CALFVS

I oskokokokkokokkx FLUXR
SUBROUTINE FLUXR(q,f,if)
DIMENSION q(0:if,3),£(0:if,3),ap(3),am(3),fp(3),fm(3)
COMMON na,dt,dx,ak
DO i=1,if-2
CALL SUBSD(i ,q,if,r0,u0,H0,c0)
CALL SUBSD(i+l,q,if,r1,ul,H1,cl)
CALL AAA((uO+ul)/2.,(cO+cl)/2.,ap,am)
CALL SUBFVS(r0,u0,H0,c0,ap,fp)
CALL SUBFVS(rl,ul,H1,cl,am,fm)
FORALL (j=1:3)f(i,j)=fp(j)+fm(j)
ENDDO
ENDSUBROUTINE FLUXR

I kkkkkkkksk FLUXQ
SUBROUTINE FLUXQ(q,f,if)
DIMENSION q(0:if,3),£f(0:if,3),ap(3),am(3) ,fap(3),f0p(3),£f1p(3),£0m(3) ,£1m(3),£2m(3)
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COMMON na,dt,dx,ak
DO i=1,if-2
CALL SuBSD(i ,q,if,r0,u0,H0,cO0)
CALL SUBSD(i+1,q,if,r1,ul,H1,cl)
CALL AAA((uO+u1)/2.,(cO+cl1)/2.,ap,am)
CALL SUBFVS(r0O,u0,HO,c0,ap,fOp)
CALL SUBFVS(x0O,u0,H0O,c0,am,fOm)
CALL SUBFVS(rl,ul,Hl,cl,ap,flp)
CALL SUBFVS(r1,ul,Hl,cl,am,fim)
CALL SUBSD(i-1,q,if,r,u,H,c); CALL SUBFVS(r,u,H,c,ap,fap)
CALL SUBSD(i+2,q,if,r,u,H,C); CALL SUBFVS(r,u,H,c,am,f2m)
FORALL (j=1:3)f(i,j)=(-fap(j)+6.*f0p(j)+3.*£f1p(j))/8.+(3.*f0m(j)+6.*f1m(j)-£2m(j))/8.
ENDDO
ENDSUBROUTINE FLUXQ

1 skokoskokskokskokokok

SUBROUTINE SUBFVS(r,u,H,c,a,f)

DIMENSION a(3),f(3)

COMMON na,dt,dx,ak
cl=(ak-1.)*r/ak; c2=r/(2.%*ak)

f(1)=cl*a(l) +c2*a(2) +c2*a(3)

f(2)=cl*a(l)*u +c2*a(2) *(utc) +c2*xa(3)*(u-c)

£(3)=cl*a(1)*u*u/2.+c2*a(2) * (H+c*u)+c2*a(3) * (H-c*u)
ENDSUBROUTINE

! xkkxkkkkk* Compute Riemann problem by flux difference splitting
SUBROUTINE CALFDS(q,if ,mode)
DIMENSION q(0:if,3),f(0:if,3), &
u(0:if,3) ,uks(0:if,3) ,uk1(0:if,3),uk2(0:if,3) ,uk3(0:if,3), & 'only use for RK
q1(0:1f,3) ,£1(0:if,3) ,ap(3) ,am(3) ,amat (3,3) ,rhs (300),c(300,-5:5) !only use for CNpcm
COMMON na,dt,dx,ak; akl=ak-1.
FORALL (i=0:if,j=1:3)u(i,j)=q(i,j)

IF (mode==41.0R.mode==42)THEN !CO scheme, 3rd-order Runge-Kutta
CALL FLUXCO(q,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk1 (i, j)=-dt/dx*(£(i,j)-f(i-1,3)); u(i,j)=q(i,j)+uk1(i,j)/2.
ENDFORALL
CALL FLUXCO(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uks (i,j)=-dt/dx*(£(i,j)-f(i-1,3)); u(i,j)=q(i,j)+uks(i,j)/2.
ENDFORALL
CALL FLUXCO(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk2(i,j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(d,j)+uk2(i,j)
ENDFORALL
CALL FLUXCO(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk3(i,j)=-dt/dx*(£(i,j)-£(i-1,3))
q(i,j)=qi, ) +(uk1(i,j)+4.*uk2(i,j)+uk3(i,j))/6.
ENDFORALL
ENDIF

IF (mode==43.0R.mode==44) THEN !CO scheme, Crank-Nicholson predictor-corrector method
ib=3; ie=if-3; dxt=.5*dt/dx
FORALL(i=0:if,j=1:3)q1(i,j)=q(i,j)
CALL FLUXCO0(q,f,if,mode)

61
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m=-1; 100 m=m+1
CALL FLUXCO0(ql,f1,if,mode)
DO i=ib,ie
CALL SUBSD(i,q,if,r,u,H,c)
CALL AAA(u,c,ap,am)
CALL MATRIX(i,q,if,ap,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii, jj-ii-3)=—-dxt*amat(ii,jj)
c(3*i-3+ii,jj-ii )= dxt*amat(ii,jj)
ENDDO; ENDDO
CALL MATRIX(i,q,if,am,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii )=c(3%i-3+ii,jj-ii)-dxt*amat(ii,jj)
c(3%i-3+ii,jj-ii+3)= dxt*amat(ii,jj)
ENDDO; ENDDO
DO j=1,3
c(3%i-3+j,0)=c(3%i-3+j,0) +1.
rhs (3%i-3+j)=-(q1(i,j)-q(i,j)) -dxt*(£(i,j)-£(i-1,j)+£f1(i,j)-£f1(i-1,3))
ENDDO; ENDDO
CALL GAUSSB(c,rhs,300,3%ib-2,3*ie,-5,5)
FORALL (i=ib:ie, j=1:3)ql(i,j)=q1(i,j)+rhs (3*xi-3+j)
IF (m<2) GOTO 100
FORALL (i=ib:ie, j=1:3)q(i, j)=q1(i,j)
ENDIF
END SUBROUTINE CALFDS

I kxxkkkxkkkxkx FLUXCO
SUBROUTINE FLUXCO(q,f,if,mode)
DIMENSION q(0:if,3),£(0:if,3),ap(3),am(3),£f0p(3),f1m(3),dfap(3),df0p(3),df0m(3) ,df1m(3)
b=2.
DO i=2,if-3
CALL SUBSD(i ,q,if,r0,u0,H0,c0)
CALL SUBSD(i+1,q,if,rl,ul,H1,cl)
CALL AAA((uO+ul)/2.,(cO+cl1)/2.,ap,am)
CALL SUBFVS(x0,u0,H0,c0,ap,f0p)
CALL SUBFVS(ri1,ul,Hi,cl,am,fim)
u=(u0+ul)/2.; H=(HO+H1)/2.; c=(cO0+cl)/2.
CALL SUBFDS(i-1,q,if,u,H,c,ap,dfap)
CALL SUBFDS(i ,q,if,u,H,c,ap,dfOp)
CALL SUBFDS(i ,q,if,u,H,c,am,dfOm)
CALL SUBFDS(i+1,q,if,u,H,c,am,df1im)
D0 j=1,3
IF (mode==41.0R.mode==43) THEN
f(i,j)=f0p(j)+f1m(j)+AMINMOD (dfap(j) ,b*df0p(j))/6.+AMINMOD (dfOp(j) ,b*dfap(j))/3. &
—-AMINMOD (df1m(j) ,b*dfOm(j)) /6 .-AMINMOD (dfOm(j) ,b*dfim(j))/3.
ELSE
£(i,j)=£f0p(j)+£fim(j)+SUPERBEE (dfap(j),df0p(j))/2.-SUPERBEE(df1m(j),df0m(j))/2.
ENDIF
ENDDO; ENDDO
ENDSUBROUTINE FLUXCO

I oskkokkokokokkkx  SUBFDS

SUBROUTINE SUBFDS(i,q,if,u,H,c,a,df)

DIMENSION q(0:if,3),dq(3),a(3),df(3)

COMMON na,dt,dx,ak; akl=ak-1.
FORALL(j=1:3)dq(j)=q(i+1,j)-q(i,])
aa=(a(2)-a(3))/2. ; ab=(a(2)+a(3))/2.-a(l)



gooooo0ooo0oDb 0 ogooo

dm=-u*dq(1)+dq(2) ; dp=akl#*(u*u/2.*dq(1)-u*dq(2)+dq(3))
cl=(aa/c*dp+abxdm); c2=(aa/c*dm+ab/ (c*c)*dp)
df (1)=a(1)*dq(1) +c2
df (2)=a(1)*dq(2)+cl +c2*u
df (3)=a(1) *dq(3) +cl*u+c2xH
ENDSUBROUTINE

! xkkxkkkxk* Compute Riemann problem by finite volume method
SUBROUTINE CALFVM(q,if,mode)
DIMENSION q(0:if,3),f(0:if,3), &
u(0:if,3) ,uks(0:if,3) ,uk1(0:if,3),uk2(0:if,3) ,uk3(0:if,3), & 'only use for RK
q1(0:1f,3) ,£1(0:if,3) ,ap(3) ,am(3) ,amat (3,3) ,rhs (300),c(300,-5:5) !only use for CNpcm
COMMON na,dt,dx,ak
FORALL (i=0:if,j=1:3)u(i,j)=q(i,j)

IF (mode==61) THEN !MUSCL, 2-step time integration
CALL FLUXM(q,f,if,mode)
FORALL (i=2:if-2,j=1:3)u(i, j)=q(i,j)-dt/(2.*dx)*(£(i,j)-£(i-1,3))
CALL FLUXM(u,f,if ,mode)
FORALL (i=2:if-2,j=1:3)q(i,j)=q(i,j)-dt/dx*(£(i,j)-£(i-1,3))
ENDIF

IF (mode==63.0R.mode==64) THEN !2nd-order Roe scheme

CALL FLUXR2(q,f,if,mode)

FORALL (i=2:1f-2,j=1:3)q(i,j)=q(i,j) -dt/dx* (£ (i,j) -£(i-1,3))
ENDIF

IF (mode==81.0R.mode==82)THEN !3rd-order FVM and 3rd-order Runge-Kutta
CALL FLUX3(q,f,if,mode)
FORALL(i=1:if-2,j=1:3)
ukl (i, j)=-dt/dx*(f(i,j)-f(i-1,7)); u(i,j)=q(di,j)+ukl(i,j)/4.
ENDFORALL
CALL FLUX3(u,f,if,mode)
FORALL(i=1:if-2,j=1:3)
uks (i,j)=-dt/dx*(f(i,j)-f(i-1,7)); u(i,j)=q(di,j)+uks(i,j)/2.
ENDFORALL
CALL FLUX3(u,f,if,mode)
FORALL (i=2:if-2,j=1:3)
uk2 (i, j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(di,j)+uk2(di,j)
ENDFORALL
CALL FLUX3(u,f,if,mode)
FORALL (i=2:if-2,j=1:3)
uk3(i,j)=-dt/dx*(£(i,j)-£(i-1,3))
q(i,j)=q(i,j)+(uk1(i,j)+4.*uk2(i,j)+uk3(i,j))/6.
ENDFORALL
ENDIF

IF (mode==83.0R.mode==84) THEN !3rd-order FVM, Crank-Nicholson predictor-corrector method
ib=3; ie=if-3; dxt=.5%dt/dx
FORALL(i=0:if,j=1:3)q1(i,j)=q(i,j)
CALL FLUX3(q,f,if,mode)
m=-1; 100 m=m+1
CALL FLUX3(ql,f1,if,mode)
D0 i=ib,ie
CALL SUBSD(i,q,if,r,u,H,c)
CALL AAA(u,c,ap,am)
CALL MATRIX(i,q,if,ap,amat)
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DO ii=1,3; DO jj=1,3
c(3%i-3+ii, jj-ii-3)=—-dxt*amat(ii,jj)
c(3*i-3+ii,jj-ii )= dxt*amat(ii,jj)
ENDDO; ENDDO
CALL MATRIX(i,q,if,am,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii )=c(3%i-3+ii,jj-ii)-dxt*amat(ii,jj)
c(3%i-3+ii, jj-ii+3)= dxt*amat(ii,jj)
ENDDO; ENDDO
DO j=1,3
c(3%i-3+j,0)=c(3%i-3+j,0) +1.
rhs (3*i-3+j)=-(q1(i,j)-q(i,j))-dxt*(£(i,j)-£(i-1,j)+f1(d,j)-f1(i-1,3))
ENDDO; ENDDO
CALL GAUSSB(c,rhs,300,3*ib-2,3%ie,-5,5)
FORALL (i=ib:ie, j=1:3)ql(i,j)=q1(i,j)+rhs (3*xi-3+j)
IF (m<2) GOTO 100
FORALL(i=ib:ie, j=1:3)q(i, j)=q1(i,j)
ENDIF
ENDSUBROUTINE CALFVM

| okkkkkkkkkx FLUXM
SUBROUTINE FLUXM(q,f,if,mode)
DIMENSION q(0:if,3),£(0:if,3),ql(3),qr(3),£f1(3),fr(3),fi(3)
COMMON na,dt,dx,ak; akl=ak-1.
DO i=1,if-2
DO j=1,3
dga=q(i,j)-q(i-1,j); dq0=q(i+1,j)-q(i,]); dql=q(i+2,j)-q(i+1,j)
ql(j)=q(i ,j)+.5*AMINMOD(dqa,dq0)
qr(j)=q(i+1,j)-.5*AMINMOD (dq0,dql)
ENDDO
rl=ql(1); ul=ql(2)/rl; pl=akl*(ql(3)-ql(2)*ul/2.)
rr=qr(1); ur=qr(2)/rr; pr=akl*(qr(3)-qr(2)*ur/2.)
£1(1)=ql(2); £1(2)=ql(2)*ul+pl; £1(3)=(ql(3)+pl)*ul
fr(1)=qr(2); fr(2)=qr(2)*ur+pr; fr(3)=(qr(3)+pr)*ur
CALL ROEARS(rl,rr,ul,ur,pl,pr,fl,fr,fi)
FORALL (j=1:3)f(i,j)=£i(j)
ENDDO
ENDSUBROUTINE FLUXM

I kxkkkkkkkxk FLUXR2
SUBROUTINE FLUXR2(q,f,if,mode)
DIMENSION q(0:if,3),£(0:if,3),q1(3),qr(3),f1(3),fr(3),£i(3)
COMMON na,dt,dx,ak; akl=ak-1.
DO i=1,if-2
D0 j=1,3
dga=q(i,j)-q(i-1,j); dq0=q(i+1,j)-q(i,j); dql=q(i+2,j)-q(i+1,j)
IF (mode==63) THEN
ql(j)=q(i ,j)+.5*AMINMOD(dga,dq0)
qr(j)=q(i+1,j)-.5*AMINMOD (dq0,dql)
ELSE
ql(j)=q(i ,j)+.5*SUPERBEE(dqa,dq0)
qr(j)=q(i+1,j)-.5*SUPERBEE(dq0,dql)
ENDIF
ENDDO
r=q(i,1); u=q(i,2)/r; uu=akl*u*u/2.; p=akl*q(i,3)-r*uu
cc=ak*p/r; c=SQRT(cc); H=(cc+uu)/akl
rl=ql(1); ul=ql(2)/rl; pl=akl*(ql(3)-ql(2)*ul/2.)
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dr=2.*(rl-r); du=2.*(ul-u); dp=2.*(pl-p)
al=u ; dwl=dr-dp/cc ;awl=al*dwl
a2=u+c; dw2=du+dp/(r*c) ;aw2=a2*dw2*r/(2.%*c)
a3=u-c; dw3=du-dp/(r*c) ;aw3=a3*dw3*r/(2.%*c)
ql(1)=ql(1)-dt/(2.*dx)*(awl +aw2 -aw3 )
ql(2)=ql(2)-dt/(2.*dx) *(awl*u +aw2* (utc) -aw3*(u-c) )
ql(3)=ql(3)-dt/(2.*dx) * (awl*u*u/2.+aw2* (H+c*u) —aw3* (H-c*u) )
rl=ql(1); ul=ql(2)/rl; pl=akl*(ql(3)-ql(2)*ul/2.)
£1(1)=ql(2); £1(2)=ql(2)*ul+pl; £1(3)=(ql(3)+pl)*ul
r=q(i+1,1); u=q(i+1,2)/r; uu=akl*u*u/2.; p=akl*q(i+1,3)-r*uu
cc=ak*p/r; c=SQRT(cc); H=(cc+uu)/akl
rr=qr(1); ur=qr(2)/rr; pr=akl*(qr(3)-qr(2)*ur/2.)
dr=2.*(r-rr); du=2.*(u-ur); dp=2.*(p-pr)
al=u ; dwl=dr-dp/cc ;awl=al*dwl
a2=u+c; dw2=du+dp/(r*c) ;aw2=a2*dw2*r/(2.%*c)
a3=u-c; dw3=du-dp/(r*c) ;aw3=a3*dw3*r/(2.%*c)
qr(1)=qr(1)-dt/(2.*dx) * (awl +aw2 -aw3 )
qr(2)=qr(2)-dt/(2.*dx) *(awl*u +aw2* (utc) -aw3*(u-c) )
qr(3)=qr(3)-dt/(2.*dx) * (awl*u*u/2.+aw2* (H+c*u) —aw3* (H-c*u) )
rr=qr(1); ur=qr(2)/rr; pr=akl*(qr(3)-qr(2)*ur/2.)
fr(1)=qr(2); fr(2)=qr(2)*ur+pr; fr(3)=(qr(3)+pr)*ur
CALL ROEARS(rl,rr,ul,ur,pl,pr,fl,fr,fi)
FORALL (j=1:3)f(i,j)=fi(j)

ENDDO

ENDSUBROUTINE FLUXR2

| soksokkskkkokkx FLUX3

SUBROUTINE FLUX3(q,f,if,mode)

DIMENSION q(0:if,3),£(0:if,3),ql(3),qr(3),£f1(3),fr(3),fi(3)
COMMON na,dt,dx,ak; akl=ak-1.

b=2.
DO i=1,if-2
D0 j=1,3
dga=q(i,j)-q(i-1,j); dq0=q(i+1,j)-q(i,j); dql=q(i+2,j)-q(i+1,j)
IF (mode==81.0R.mode==83) THEN
ql(j)=q(i ,j)+AMINMOD(dga,b*dq0)/6.+AMINMOD (dq0,b*dqa)/3.
qr(j)=q(i+1,j)-AMINMOD (dq1l,b*dq0)/6.-AMINMOD (dq0,b*dql) /3.
ELSE
ql(j)=q(i ,j)+SUPERBEE(dqa,dq0)/2.
qr(j)=q(i+1,j)-SUPERBEE(dq1l,dq0) /2.
ENDIF
ENDDO

rl=ql(1); ul=ql(2)/rl; pl=akl*(ql(3)-ql(2)*ul/2.)
rr=qr(1); ur=qr(2)/rr; pr=aklx(qr(3)-qr(2)*ur/2.)
£1(1)=q1(2); £1(2)=ql(2)*ul+pl; £1(3)=(ql(3)+pl)*ul
fr(1)=qr(2); fr(2)=qr(2)*ur+pr; fr(3)=(qr(3)+pr)*ur
CALL ROEARS(rl,rr,ul,ur,pl,pr,fl,fr,fi)
FORALL (j=1:3)f(i,j)=£i(j)

ENDDO

ENDSUBROUTINE FLUX3

! kxxxk***x*x Roe’s approximate Riemann solver
SUBROUTINE ROEARS(rl,rr,ul,ur,pl,pr,fl,fr,f)
DIMENSION £1(3),fr(3),£(3)
COMMON na,dt,dx,ak; akl=ak-1.
br=SQRT (rl*rr); R=SQRT(rr/rl)
bu=(ul+R*ur)/(1.+R)

65
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Hl=ak/akl*pl/rl+ul*ul/2.

Hr=ak/akl*pr/rr+ur*ur/2.

bH=(H1+R*Hr) / (1.+R)

bcc=ak1* (bH-bu*bu/2.); bc=SQRT (bcc)

al1=ABS (bu) ; dwl=rr-rl-(pr-pl)/bcc ;awl=alxdwl

a2=ABS (butbc); dw2=ur-ul+(pr-pl)/(br*bc) ;aw2=a2*dw2*br/(2.*bc)

a3=ABS (bu-bc); dw3=ur-ul-(pr-pl)/(br*bc) ;aw3=a3*dw3*br/(2.*bc)

f(1)=(f1(1)+£fr(1))/2.-(awl +aw2 -aw3 )/2.

£(2)=(£f1(2)+£fr(2))/2.-(awl*bu +aw2* (butbc) —aw3* (bu-bc) )/2.

£(3)=(£f1(3)+£fr(3))/2.- (awl*bu*bu/2.+aw2* (bH+bc*bu) -aw3* (bH-bc*bu)) /2.
ENDSUBROUTINE ROEARS

! skkxskkkkxx Determine rho,u,H,c from q

SUBROUTINE SUBSD(i,q,if,r,u,H,c)

DIMENSION q(0:if,3)

COMMON na,dt,dx,ak; akl=ak-1.
r=q(i,1); u=q(i,2)/r; uu=akl*u*u/2.; p=akl*q(i,3)-r*uu
cc=ak*p/r; c=SQRT(cc); H=(cctuu)/akl

ENDSUBROUTINE

! xkkxkkkkkk Splitted propagating velocities

SUBROUTINE AAA(u,c,ap,am)

DIMENSION ap(3),am(3)
al=u ; ap(1)=(al+ABS(al))/2.; am(1)=(al-ABS(al))/2.
a2=utc; ap(2)=(a2+ABS(a2))/2.; am(2)=(a2-ABS(a2))/2.
a3=u-c; ap(3)=(a3+ABS(a3))/2.; am(3)=(a3-ABS(a3))/2.

ENDSUBROUTINE

! oxkkxkokkkkk MATRIX, left hand side operators

SUBROUTINE MATRIX(i,q,if,a,amat)

DIMENSION q(0:if,3),a(3),amat(3,3)

COMMON na,dt,dx,ak; akl=ak-1.
CALL SUBSD(i,q,if,r,u,H,c)
aa=(a(2)-a(3))/2.; ab=(a(2)+a(3))/2.-a(1); ac=(a(2)+a(3))/2.
aM=u/c; phi=akl*u*u/2.; psi=phi/(c*c)

amat (1,1)=a(l)- aM*aa+ psi*ab
amat (2,1)= (ak-3.)/2.*u*xaM*aa+ u* (psi-1.)*ab
amat (3,1)= (phi-H) *aM*aat+u*u/2.*(psi-1.) *ab
amat(1,2)= 1./c*aa- akl/c*aM+*ab
amat (2,2)= ac+ (2.-ak) xaM*aa- -2.*psixab
amat (3,2)= (H-2.%phi)/c*aa- uxpsikab
amat(1,3)= akl/ (c*c)*ab
amat (2,3)= akl/c*aa+ akl/c*aM+*ab
amat(3,3)= ac+ akl*aMxaa+ psixab
ENDSUBROUTINE

! ®kkxkkkkk* Gaussian elimination for linear eqns having a reduced array
SUBROUTINE GAUSSB(c,b,if,k1,k2,ml,m2)
DIMENSION c(if,m1:m2),b(if) 'k1--k2, ml--m2: range of computation
DO k=k1,k2

b(k)=b(k)/c(k,0)

IF (k==k2)CYCLE

j2=MINO(m2,k2-k)

FORALL (j=1:j2)c(k,j)=c(k,j)/c(k,0)

i2=MINO(k2,k-m1)

DO i=k+1,i2; jO=k-i

b(i)=b(i)-c(i,jO)*b(k)
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density

1.2 velocity 1.2 121
g pressire o o
0.8k 0.8+ IR=1S
0.4 0.4 0.4k
D 1 1 1 1 ] D | | | 1 ] D 1 1 1 1 ]
] 20 40 E.0 80 100 ] 20 4.0 5.0 80 100 i] 20 4.0 5.0 80 100
{ @ )Roe scheme, explicit Euler { b ) QUICK, 3rd-order RK { ¢} 3rd-order CO and RK, minmod
1.2 1.2 121
i i i
0.8k 0.8+ IR=1S
0.4 0.4~ 0.4k
o 1 1 1 IV ] o 1 1 1 1 ] o 1 1 1 1 ]
o 20 40 E.0 80 100 ] 20 4.0 E.0 80 100 i] 20 4.0 5.0 80 100
{d ) 3rd-order CO and RK, superbee (e )MUSCL, 2-step, minmod (f)1 2nd-order Roe scheme, superbee
1.2 1.2 121
i i q
0aF 0.8+ nek
0.4+ 0.4 0.4k
D 1 1 1 1 ] D L L L 1 ] D 1 1 1 1 ]
] 20 4.0 g0 80 100 0 20 4.0 g.0 80 100 i] 20 4.0 g.0 80 100
{ g ) 3rd-order FYM and BK, minmod { h ) 3rd-order FYM and R, superbee (i) 3rd-order P, Chlpcm, superbee

0 16.19: 000000000000 At=0.0025, nay =800

DO jk=1,j2; j=jk+k-i
c(i,)=c(i,j)-c(i,j0) *c(k, jk)

ENDDO; ENDDOD

ENDDO

DO i=k2-1,k1,-1; j2=MINO(m2,k2-i)
DO j=1,j2; k=i+j

b(i)=b(i)-c(i,j)*b(k)
ENDDO; ENDDOD
ENDSUBROUTINE GAUSSB

0oooooooooooopoooooooooooooooooooo0ooOoOoboOoOoobDoooo

oo0o0ooOoooO0O0oooOoUOOoOoUUOooOoOoOoOOU0OOO0O0O0UOOOO0UOOOOUOODOOOOO
OU000O0OO00oOdOdcAaFvsO0O0oOoOoOoOooooOooooo 300ogoooooooog

mode=11 Roe 00 OO + Euler 0O 0O

mode=21 QUICK 0000 + 30 Runge-Kutta O

mode=22 QUICK OO OO + Crank-NicholsonOOOOOODO
0000 16.3000000000001000000000000C0O000O0OFLUXRO RoedODOOO
0000000000 000000000 0000000000 suBsDOOOO ps, usy, Hy, ;000

Gi+1 00 piv1, Wiv1, Hiy1, ;1 OAMADODODOODOO ap= /\;-1/2 U am= )‘i_+1/2D SUBFVS O O O Steger-
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density

1.2- velocity 1.2 1.2+
q* pressure q* q*
0.8+ 0.8 e
0.4- 0.4 0.4+
0 1 1 1 1 ] 0 1 1 1 1 ] 0 1 1 1 1 ]
] 20 4.0 B.0 8.0 100 ] 20 4.0 E.0 80 100 i] 20 4.0 5.0 80 100
{ @ )Roe scheme, explicit Euler { b ) QUICK, Srd-order RK { ¢} 3rd-order CO and RK, minmod
1.2 1.2 1.2+
ey q* q*
0.8+ 0.8 0.8+
0.4 0.4 041
D 1 1 1 IV ] D 1 1 1 1 ] D 1 1 1 1 ]
] 20 4.0 B.0 8.0 100 ] 20 4.0 E.0 80 100 i] 20 4.0 E.0 80 100
{ d)3rd-order CO and RK, superbes (e ) MUSCL, 2-step, minmod ()1 2nd-order Roe scheme, superbee
1.2 1.2 1.2+
y q" q"
0.8+ 0.8 0.8+
0.4+ 0.4 0.4t
il il il
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 4.0 B.0 8.0 100 0 20 4.0 E.0 80 100 il 20 4.0 5.0 80 100
{9 3rd-order FWh and Rk, minmod { b ) 3rd-order FYM and RK, superbee (i) 3rd-order FvM, CMpcm, superbee

0 16.20: 000000000000 At=0.01, nay =200

WarmingD OO0 00000000 (16.33b)0000 fp=FOfm=F, 00000 £(i,j) = Fy/» 0
O0000O0000FLUXQO QUICKOOOOO0OO000D0000000000000000 fap=F;,0
fop=F;'Oflp=F;,,0fom=F; Ofin=F, Ofom=F,_,0000
000 16.6.1 00000 Crank-Nicholson 000 00000000000000000000000O0O
0 (16.109)0000000000000000DO0
—DAF Aq™) + (I+D|A) Ag™ + DA Aq'T)
m—1 n n m—1 n m—1
= _(qz( )~ ;') — D(Fi+1/2+Fi(+1/2)_Fifl/z_Fi(,l/Q)) (16.113)
g™ = g™ 4 Aglm)

000 D = 05At/A:0/0000000000000000000000000000000000
A¢™ (i =iy, iv+1, is+2, ..., i) 0000000000 1000000000000000000 3x3
00000000000000



gooooooobD0o oogoo 69

density

1.2 velocity 1.2 1.2
q" pressure q* q*
0.8k 0.8+ 0.8
0.4 0.4 0.4k
0 1 1 1 1 ] 0 1 1 1 1 ] 0 1 1 1 1 ]
i] 20 4.0 E.0 B0 100 ] 20 4.0 5.0 8.0 100 i] 20 4.0 B.0 8.0 100
{a )Roe scheme, explicit Euler { by QUICK, 3rd-order Rk (&) 3rd-order CO and Rk, minmod
1.2 1.2 1.2+
q q* 9
0.8k 0.8+ 0.ak
0.4 0.4 0.4
D 1 1 1 IV ] D 1 1 1 1 ] D 1 1 1 1 ]
i] 20 4.0 5.0 B0 100 ] 20 4.0 5.0 8.0 100 i] 20 4.0 B.0 8.0 100
{d)3rd-order CO and R, superbee (e )MUSCL, 2-step, minmod ()1 2nd-order Roe scheme, superbee
1.2 1.2 1.2+
q° q" T
0.8k 0.8+ 0.ak
0.4 0.4 0.4
il il il
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
il 20 4.0 5.0 B0 100 0 20 4.0 5.0 8.0 100 il 20 4.0 B.0 8.0 100
{ g ) 3rd-order FvM and RK, minmod { b ) 3rd-order VM and Rk, superbee (i) 3rd-order FvM, CMpem, superbee

0 1621: 000000000000 At=0.025 nay =80

I+D|Aib| DAZ_;,
—DAf | I+D|A; 4 DA;

—-DA}

ip+2 I+D|Aib+2| DA;+2

—DA} | I+D|A,_| DA;

e —1

~DAf  I+DI|A,,

0000000000 110000000000000 300x(—5:5)00000 c0O0OO0OOOOOO
0000000000 amat=AT0 9000000 (16.74) 000000000000 MATRIXOOOD
000000 1000000000000 rhs=sb000000O0OGAUSSBOOOOO 100000000
O0D000000000000D000000 A™ 000 rhs00000000000000O0000O0O
m=30000000
CALFDSO 0000000000000 00O0000OOOOOO0OO

mode=41,42 03 0 Chakravarthy-Osher TVD OO0 00 + 30 Runge-Kutta O

mode=43,44 03 0 Chakravarthy-Osher TVD 00O 0O 0O + Crank-Nicholson 00000000
0000000 mode=41,4300 minmodOmode=42,440 0 superbee0 00000000 O0O0OO FLUXCO
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O Chakravarthy-Osher TVD OO0 0000000000 O0O0OOOCOOODOOCODOOO fOp:FfIZI
fim=F, 0000000 SUBFDSO OO0 (16.70b)0 0000000 dfap:AFi+ Odfop = AFY ., 0

it+1 —-1/2 i+1/2
dfom= AF_ . ,0dfim= AF[%‘/ZD 0 (1669000000 £(i,j)=F;1,,, 0000000000

1+1/2
MWWDEEDDD(DDDDDDDDDD)DDDDDDDDDDDDDDDDDDD

mode=61 MUSCLO + 20000000

mode=63,64 020 Roe 0000

mode=81,82 03000000 TvDODOO + 30 Runge-Kutta O

mode=83,84 03000000 TVDOODOO + Crank-NicholsonO O OO O OO
0000000 mode=61,63,81,830 0 minmodd mode=64,82,840 0 superbee 0 000000000
00000000 ReeD0D0O0000O000O0OO0OO
000000 MUSCLOOOO00 10000000 F7,,0000000 A/2000000000
0000000000000 ¢"/?0000000200000000000 F1%°0000 (16.93)
0000000 ¢ 020000000000000000000 FLUXMO MUSCLOOOODOOOO
00000000000000 100 (1691)0000000 ql= g4/, 0 qr=gi1120 00000
0 ROEARS O 0 OO O (16.86)(16.89)(16.90c) 0 0 Roe D0 D DO DD O £i(j) =£(i,j) = Fjpyp 00
00000000000 br=j0R =RObu= a0bH= HObcc= é20bc= &0 ak = |A4|0 dwk = Oy
000020 Ree00000 MUSCLOOOOOOOODOOOOOOO FLUXR20 0000000000

Fr00000000000000000000 100 (1691)000000 minmod 00 superbee

D00000000000 ql=g " 0ar=q" /%0 Re0 0000000 (16990000000
000030000000 TVDOODOOO0O0O000000000 FLUX3SOOO0OO000O00000 3
O Chakravarthy-Osher TVD OO0 0000000000000 OFLUX30 00000000 minmod OO
O superbee D 00O 0D0 300 (16.103) 0000000 ql= giy10p 0 qr= 341,00 000000
ROEARS OO OO Roe0D000D000 £(i,j) =F4,,», 00000000000

016190 16210000000 10:10000 10:100000000000000000000000
00000000 At =0.0025,0.01,002500000000At=004000000000000000
000000000000000000000000000000000000000000000000

booobOooooooooobooo
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16.7 O0OOOOd

000000000000 00000000 (capturing) 00 040000000000000000O0O
0200000000 3000000000000000000O00000O0400000000000O0
gobooooboboobbobooobbooooooobooboooboooobooboooooooooon
obooooOoobOooooooooooboobonog

16.7.1 00OO0OO0OO0O0O TvDOOODO

ooboobobOboboooo400000040000000000000O

(fo)i = 127z (=6, —18F  +10f7+3f7 i+1
_ _ _ _ _ 6
=3fi 1 —10f; +18f; 1 —6fi o+ firs) — §A$4f(5) (16.114a)
4
(fo)i = 33 A Tos (Fim2—8fi148fip1— firs) + 5 A'f (16.114b)

O0000000000000000 300000040000000000000000000%0
1 _
hijlr[{]/Dzz_(f'+ 5f+1+13f++3 w1 T 37 13f+1 5f7,+2+fz+3)

Roe
=it g _AfE 12F3 S D S Af+3/z Afwﬁ A3fl+3/z,

1
hiiS7 = —(—fz'—l +7fz'+7fi+1 —fi+2)

_ Roe
—hi+1/z+ Af 1/z+ Afz+1/2 12A3 z++1/2

000 A% 0 = A%ip1 =A% = —fi 1 +3fi=3firi+fi. 0000
4000000 400000000000000000000400000000000000000%0

Af

z+3/2 Af

z+1/2+ A3f

i+1/2

A 1- ¢h 4UD 1+¢h 4CD

z+1/2 z+1/2 i+1/2
1—¢ 1+¢
_ Roe + 3+
- hi+1/2 6Af —-1/27 "oy -1 4 i71/z+ A i+1/27 "9y i+1/2
1 1—¢ 4, 1+¢ 4,
6Afl+3/2+ 24 A i+3/2 Af+1/2 24 A i+1/2 (16]‘]‘5)
RoeDvDDD 4DDDDVDDDDD 4DDDDVDDDDD

Ehszfz"‘ DfY 1/2+ sz+1/2 sz+3/2 sz+1/2

Hg=¢t0000400000000000000000000

+ + ¥ ¥ +
00 | fits fito fion fi7  fily
(16.114a) | 1/12Az | 1 618 10 3
4UD
h 1/12 1 5 13 3
D, 1/12 -1 5 —13 -3
1/12 12 hlf;;
J, 4UD 1/12 -2 2 Afl 12/6 | 300000
/2 1/12 -4 4 | AfEL /3
1/12 1 -3 3 -1 [-A%fT, /12 [ 40000

42Yamamoto, S. and Daiguji, H., Higher-order-accurate upwind schemes for solving the compressible Euler and Navier-
Stokes equations, Comput. & Fluids, 22(1993), 259-270.
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O0000¢=-10004000000¢=1000 40000000000000 (16.1149)00000
00 -6(1-¢)+4(1+¢)=00000 ¢=1/50000000000000 5000000000000
¢»=1/50 5000000000000 (1611500 DfO0O0O0OO0ODOOOO

Dflﬂ/2 Afﬂ/l 20 f’“/?’ (16.116)

) .
+ + + - -

D]+1/2 A]+1/2 3A3 J+1/2 J=iF1)

1 1 11
00 ¢=1/3000000 24¢'2+—4¢_6 ;0000Df010000000000000

1

Dfjiiy = A0 6A3 /2 (j=d,ix1) (16.117)

0 (16.115) 0000000000 ¢=1/5000000 50000000400000000000 ¢0O
O00000O000DO00O0OO0O0O0U0g¢=1/300000 500000000000000

O0O00000O0ooOoo TvDOOOOOOOOOoO (1663) 00000 TVDOOOOOOOODOO
oooooO TvDboOooooooooood

(4) Roe 1z 1 = 1
hz+1/2 hl+1/2 + 6Dfi+71/2 + ngz++l/2 Df i+3/2 sz+1/2 (16118)
D d(D bDfE il
f j+1/2 — = minmo ( f jH+1/20 f 1/2) (] =1, 1+ )
DfJ+1/2 - mlnmod(Df j+1/2° bDf]+3/2) (j=1i-1,1)

0000000 DfO 550000000000

3 .
+ + 37t
Dfiije = Aty 20A 1/ (16.119)

Df, jt1/2 = = Af jt1/2 T 5 f+1/2 (j=1iF1)
00 4000000000000000

1 _
+ + + . ..
Dffiays = Al =540 (j=i,it1) (16.120)

ooo0040 TVDOOOOOOOOOOOODOOOOOOOOOOOO 300bO000000b0000
Af00000 DfO0OOOOODOOOOO0OODOOOOODODOO (16.66)0 (16.67)D00O0ODO0ODOOO
000010000000 DfF0O AfO00O0O0QOOOOOCOOODOOOO0OODOOOODOOOOOOOOO
01000000020 TVDOOOOOO (16.64) 0000 40 TVDOOOOOOOOODOOOOOO

j_1/2 =a 1/2[14— {Rfminmod(1, br; 1/2) minmod(r;- 120 b)}

+= {R+m1nmod( " 1)z b)—minmod(1, br;- 1/2)}] (16.121a)
iy 1/ :a;+1/2[1+ {R; minmod(1, br,,, ,,) —minmod(r; , ,», b)}
+= {R minmod(r7 , /,, b) —minmod(1, brl+1/2)}] (16.121b)

000 €= Duj_ypp/Aui1p, RY = a’i+1/2/ai+71/27 R, a;71/2/ai7+1/27 ritl/z = Duiy1/2/Du;zyy2,

riiijs =Dui_gp/Du; 1, 00000000000b000000000000

0<b<6e -2 (16.122)
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01622: 00 Af00000 Df = Af—A¥f/60000000 Df

ooooo0oOoo As+0oopoooooooDooo

1
(1=0)biC <1, by =14 :CR,(142D),  C = |a|At/Ax (16.123)

0000000000 b =142R,—CR,/20000

02000000000000 Df=Af-A%/60000 Af0000000000O0DOOOOOOO
000000000000000000 A%/600000000000000000000O000O0OO0
0000000000000 Df(x)00000000O000O0OOCOO0UOOOOOOOO f(x)ODOOOOO
Af0000000000D0O0O0DOO0O0O0O00O00O00OO Df(z)0D00000 A>00000000000
0000000000000000000000000000000000%#0

ALy = A5 - A% (j=i,i+1) (16.124)
A’fE = minmod (A%, by A%fE ),
A’f = minmod(A°f5, b Af5), A%k = Afiprjp—Afe1y2
minmod 000 000000000000 Af00000000000 §fz0000000 82/9z2 =0
000000000000 D00000000003000000000000000000000D0O000
00000000000 00000000000 20 TVDOOOOODOOODOO0OO0OO0OO0OOODOODO
0000000000 O0DDO

OO0 minmodOOOOOOOOOODGGKODOOOOOOOODOD DFOOODOODODOOOOOOOOO
000000 Df00D0D00O0 j=00000000 R=A%,/A%0000000000000

1
Dfyj2 = Afi)2— E{minmod(R, by) —minmod(1, by R) } A%fy
(Af1/2—%(b2—1)A2fo (R > b2) 0 10 minmod 00000
1
Afl/Z_E(R_l)A2fO (1/bs < R<by) 400000

6 (16.125)
Af1/2—g(1—b2)RA2f0 (0<KR<1/by) 020 minmod 00000

L Af1)2 (R<0) 30000000 1,20 minmod 00000

43Daiguji, H., Yuan, X. and Yamamoto, S., Stabilization of higher-oder high resolution schemes for the compressible
Navier-Stokes equations, Numer. Meth. Heat & Fluid Flow, 7(1997), 250-274.
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016220 3000000000000000000 Af000D0O DfFOODODDOO DfFOOODDOO
ubooboooobboooboooooooooobooboooooooooooobobobooooooboDoo
oooooo pfFoOOOOO

Dfyjo = Afijs=5(1-b) 8% < Afyjot 3 (Afupo—Afuja)
Df3/2 = Af3/2—%(b2—1)A2f1 > Af3/2—%(Af3/2—Af1/2)
ooooooboooooooooobooooOoooooOKLbOOooooDoboooooo
%(@—1)5% MODO0 DOl<b, <4 (16.126)
0000000 (16.122)0(16.123) 0000000000 DfO0O0OOO0OO ¢000O0O0OOO (OO
R,0 16430000000 100000000)000 OO0 4000000 (16.125)00

1= (1=r)/2 (R>4) O

_Duyy,  Dfijp J1—(rt—2+7r7)/6 (1/4<R<4)

C Auyy Afyp ) 14T -1)/2 (0<R<1/4)
1 (R<0) O

000 r= = Af_1/2/Afiv1/2, rt = Afspp/Afiv12, R = A°f) [Afo = (rT=1)/1-r7) 0000000
oe¢coooono

1/2<¢<1+1/8 (16.127)

000*000 e¢e0000004000000 TVDOOOOOOOG, b,bO0DOOODO COOOOOOO
oooobooboo

0<b§%§(§4) (16.128a)
39

(1=-0hC <1, b =5 (=25) (16.128b)

by =4 (16.128¢)

00000000030 TVDOOOOOOOOO0O0O000000000000000000000000
000000000000

00000000 4000000 TVDOOOOOOOOOO0O00000000000000 (16.118)0
(16.120)0(16.124) 0 (16.53)0 Ob, by, b, D000 (16.128) 000000000000 4000000 TVD

40000000000000000000000000000000000 ¢000000000000A2f>00000 ¢0
00000000000¢e00000 R=1/40 1+4(1—r~)/800000 R>40 1—(1—r~)/200000000000000
r~>00000000000r =00000 ¢0000000000000000A?f<00000000000000000
0000000000000
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00000 300 Chakravarthy-Osher TVD 0000000000030 0000000 Af0O0000
00 DfO00O0O0O0OO 4000000 TVDOOOOOOOOOOOOOOOOOODOOOOOOOOOO
0000000000 0D0D0O0O000D030 Chakravarthy-Osher TVD OO ODODOOOOODOODOO
oooooboobooboobooobbooo 3boooboobooooooooboobo4000b000000bOO00bDOO
oooboboooooobooboboobooboobooooooooooooon
ooooboooOoO0o0o0ooboooooobobooobo0oo TVDoOOooOoOoooOoOoOOoOooooooooooo
oooooooobOobOOobOoobOobOooboOoon 1644000000000

16.7.2 0000000 DOOOOOTVDOUOOO

gooooboobooobboooboobooobuoooboooboooboboooboobobooobooooaon
ooboooboboobooooooooobooooooboooooooobobooobobooboboogn
0000000000000000000 16540000 (16.96) 000 300000002000 30
oooooooboooooOoObO0o00o0b0b0oo0oooo0oo0n 4000 50000000000050000

O00O00O0O0o0OoO0oDo00 W, w,... 000000000000
! 1 4
U; = m(ui,2—8Ui71+8U1’+1—Ui+2)+O(ACU ),
1
’U/;’ = W(—Ui72+16uz'71_30Ui+16’u/i+1—Ui+2)+O(AZL'4),
1 .
u!" = W(—ui,g +2u; 12Uy +uig2) +0(AZ?),
NONNE 2
u; = Az 4(ui,g—4ui,1+6ui—4ui+1+ui+2)+O(Aa: )

ooooooob 1100 300b00000o0o0o0ag
2

1
AI’U,; = E(Aul 1/2 + Aul+1/z) 4'(_A3ui,1/2—A3ui+1/2)
Afﬂzuy = (- Auifl/Z +Aui+1/2) + —(ABUi—l/z—A?’UiH/z)
Azul! = E(A Wit 2+ AUty 2)
Aztul = + (=% )+ A%Uig )

0000000 (1696)0000000000000O0OO000ODO 400000000

uiz) = (f &+ )Auz /2% 5 (f+f2 )Auz+1/2
+ @(—£4+2f3+—f2——f——)A i1y
F(E42820 26t ) Auirp 1047 (-1/2<E<1/2)
|:||:||:||:|§=:|:1/2|:||:||:||:||:||:||:||:|DDDDDDDDDDDD

1 1 1 1

UZI-;+1/2 = u; + EAUi—1/2+§AUi+1/2 — %ASU,i_l/g—%A&U/H_l/Q + O(A:U5)
1 1 1 1

’U/f_{_l/2 = U; — EAU,Z'+1/2—§AU1'_1/2 + %A3ui+1/2+%A3ui—1/2 + O(A;L'5)
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00 50000000A%;0000000{(1/5—¢)/4!}(Au;y9—A%,; 1,,)000000400000
00000000000 4000000000000000000000

1 1 1—¢ 1+¢
U,L+1/2 =u; + EAUi—1/2+§AUi+1/2 - TASUi—1/2_TA3U/i+1/2 +0(Az*) (16.129a)
1 1 1—¢ 1+¢
Uf%_l/z =U; — gAui+1/2_§Aui—1/2 + WA3Ui+1/2+TA3ui_1/2 +0(Az*) (16.129b)
godooooobooboooboobooog
. 1 1
Uit1/2 = Ui+gDUi—1/2+§DUi+1/2 (16.130a)
1 1
Uf_{—1/2 = Ui_gDUiﬂ/z—gDUi—l/z (16.130b)

00000 ¢=1/5000000000 500000004000000000000000 ¢=1/30
oooDoOo0OO0ob0 50000400000 0000Dw0DOOOOODOOOODOOODO

1
Dujyr/2 = Auii1/2_6A3ui:t1/2 (16.131)
000 500000004000 0¢0000000000000 400000004 000000
S PP S L Ly
u;i(z) —“i+§(f—f +ﬁ) Uz’—1/2+§(§+§ —E) Uip1/2
1 4,003 ,9. 9, O 3
+ g (25— e+ 0) Alui o
1 3 ) )
(@428 -5 - Ser = 0) Aup )y + O(AdY) (<1256 1/2) (16.132)

0ooo0o0ooo
H5
4116
000000 #4,,000000«00000

1
’U,Z(JI,) = ui—¥A2ui+ —¢)A4ui (16133)

1
[U]i+1/2=“f+1/2—uf+1/2=a(1—¢)45ui+1/2 (16.134)
000000000 wuw(zx)DOODODOODODOOOOOOOOCODODOOOOO [u]i+1/2|:||:||:||:||:||:||:|
0000000000000 (16.129)00400000000000000O0OODO (1611500000
000000000000 TVDOOOOOO (16.118)0(16.119)0 (16.120)0 (16.124) 00000 OO0
OO0 Tvbooooooooad

1 - 1.
UZL+1/2 = U; + —Dul’,]_/z + —Dui+1/2,

61 i_ (16.135)
Uﬁ_l/g = Ui+1—gDﬂi+3/2—§Dﬂi+1/2
D’ﬁ,j+1/2 = minmod(Duj+1/2, bDUj,l/z) (] = Z', 7/+].)
Dﬁj+1/2 = minmod(Duj+1/2, bDUJ+3/2) (] = 7/—]., Z)
dodddoooboUo ped 50000000 oon
3 3
Dui+1/2 = Aui+1/2_2_0A Uit1/25
(16.136)

1 .
Dujyre = Auj+1/2—gﬂ3aj+1/2 (J=ix1)
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004000000000000000
1 S
Dujir)z = Auj+1/2—gﬂ3aj+1/2 (=i i£1) (16.137)
Oo0o0ooo0g A%aO
AUy o = A%0jq — A% (j=1i,i+1) (16.138)

A%y, = minmod(A2uk, b2A2uk,1),

A213,k = minmod(A2uk, 62A2uk+1), A2’uk = A’u;ﬁq/g—Auk,l/g

oooOooooooooo TVvDOOOOO TvDOOOoOooOoooOooooooobooboooobooooo
Oooooooo TVvbOODOODOOOOOODOOODOOOOOOODOO00OO0000D0000minmodO0O
000000b L,000000 C=aAt/Az00000000000 (16.128)0 000000000000
oooo4000000 TVDODOOO TVDODOODODOOODDOODODDOOOOOOO0ODDOOO00o0OO0
oobooobooobooooooosbTvboOoooooooobooooooo4000000 TVDODOO
OO0 TVvDODOOODO Chakravarthy-Osher 0 TVD OO0 ODO0OO0O0O0D0OO0O0O0O0O0O000DO400000
OO0 TvDOOOOO 50 TVDOOOOO ¢000D0ODODO 1/30 1/50040000000000 —10
4000000 1000000D0000D0OO0OOODOODO4000000 TVDDOODOOOOODDO
obooooooooboooooooboooooobooooboboonbo 4000000 TVDOOOOoO 30
TVvDOOOOOoOOOooooOooooooooooooooooboboob 4000000 TvbOoooo
o000 30 TvDOODODOOOODODOOO0OO00050 TVDOOOOODOOOOOODDOOOODOOOO

ooooooooooooobooo ITVDOOOOoooooooobooooooobooOo 1654000
oooooo

16.8 UO0OOOO II

16.8.1 00O0O0OOOO0OOOODOOODOO

goodbbooo 1e.6.200000000000000O000O0O0O0DOOO0OOOOOOOOOOOO
OO0 CALFDSO OO cALFVvMUO OO DOOOOOOO0OOO0O00OOO0OO0OoO0O0ooobooOoooOobooon
oobooooooooooobooooon

PROGRAM MAIN

zm(51)="4th YD and RK, minmod ’ !'mode=51
zm(52)="4th YD and RK, superbee > !mode=52
zm(53)=’4th YD, CNpcm, minmod > !'mode=53
zm(54)=’4th YD, CNpcm, superbee > !'mode=54
zm(91)=’4th FVM and RK, minmod > !'mode=91
zm(92)=’4th FVM and RK, superbee > !mode=92
zm(93)=’4th FVM, CNpcm, minmod ’ !'mode=93
zm(94)="4th FVM, CNpcm, superbee > !mode=94

! YD: Yamamoto-Daiguji scheme

! xkkxkkkkk*k Solve 1D scalar transport eq by flux difference splitting
SUBROUTINE CALFDS(x,u,is,if,mode,dc)

IF (mode==51.0R.mode==52) THEN !YD compact scheme, 4th-order Runge-Kutta
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CALL FLUXYD(u,f,is,if,mode)
FORALL (i=is+3:if-3)
ukl (i)=-dt/dx* (£ (i)-f(i-1)); v(i)=u(i)+ukl(i)/2.
ENDFORALL
CALL FLUXYD(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk2(i)=-dt/dx*(£(i)-£(i-1)); v(i)=u(i)+(ukl(i)+uk2(i))/4.
ENDFORALL
CALL FLUXYD(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uks (i)=-dt/dx* (£ (i)-f(i-1)); v(i)=u(i)+uks(i)/2.
ENDFORALL
CALL FLUXYD(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk3(i)=-dt/dx*(£(i)-f(i-1)); v(i)=u(i)+uks (i)
ENDFORALL
CALL FLUXYD(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk4 (i)=-dt/dx* (£ (i)-f (i-1))
u(i)=u(i)+(uk1(i)+2.*uk2(i)+2.*uk3 (i) +uk4(i))/6.
ENDFORALL
ENDIF

IF (mode==53.0R.mode==54) THEN !YD compact scheme, Crank-Nicholson predictor-corrector method
ib=is+3; ie=if-3; dxt=dt#*.5/dx; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
FORALL (i=is:if)ul(i)=u(i)
CALL FLUXYD(u,f,is,if,mode)
m=-1; 110 m=m+1
CALL FLUXYD(ul,f1,is,if,mode)
D0 i=ib,ie
c(i,1)=-dxt*ap
c(i,2)=1.+dxt* (ap-am)
c(i,3)=dxt*am
rhs (i)=-(ul(i)-u(i))-dxt* (£ (i)-f (i-1)+f1(i)-f1(i-1)) 'right hand side
ENDDO
CALL GAUSS3(c,rhs,is,if,ib,ie)
FORALL (i=ib:ie)ul(i)=ul(i)+rhs(i)
IF (m<2) GOTO 110
FORALL (i=ib:ie)u(i)=ul (i)
ENDIF
END SUBROUTINE CALFDS

b skskokok kok kok Kok FLUXYD

SUBROUTINE FLUXYD (u,f,is,if,mode)

DIMENSION u(is:if),f(is:if)

COMMON na,dt,dx,a
b=2.; b2=2.; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.

DO i=is+2,if-3
dub=u(i-1)-u(i-2); dua=u(i)-u(i-1); duO=u(i+1)-u(i)
dul=u(i+2)-u(i+1); du2=u(i+3)-u(i+2)
d2ua=dua-dub; d2u0=duO-dua; d2ul=dul-dul; d2u2=du2-dul
dua=dua- (AMINMOD (d2u0,b2*d2ua) -AMINMOD (d2ua,b2%d2u0)) /6.
du0=du0- (AMINMOD (d2ul,b2%d2u0) ~-AMINMOD (d2u0,b2%d2ul)) /6.
dul=dul- (AMINMOD (d2u2,b2*d2ul) -AMINMOD (d2ul,b2*d2u2)) /6.
IF (mode==51.0R.mode==53) THEN

f(i)=ap*(u(i )+AMINMOD(dua,b*du0)/6.+AMINMOD (du0,b*dua)/3.) &
+am* (u (i+1) -AMINMOD (dul,b*du0) /6. -AMINMOD (du0,b*dul) /3.)
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ELSE
f (i)=ap#* (u(i) +SUPERBEE (dua,du0) /2.) +am* (u (i+1) -SUPERBEE (dul,du0) /2.)
ENDIF
ENDDO
ENDSUBROUTINE FLUXYD

! skxxdkkkkkx Solve 1D scalar transport eq by finite volume method
SUBROUTINE CALFVM(x,u,is,if,mode,dc)

IF (mode==91.0R.mode==92) THEN !4th-order compact FVM and 4th-order Runge-Kutta
CALL FLUXC(u,f,is,if,mode)
FORALL (i=is+3:if-3)
ukl(i)=-dt/dx*(f(i)-f(i-1)); v(i)=u(i)+ukl(i)/2.
ENDFORALL
CALL FLUXC(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk2(i)=-dt/dx* (£ (1) -£(i-1)); v(i)=u(i)+(ukl(i)+uk2(i))/4.
ENDFORALL
CALL FLUXC(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uks (i)=-dt/dx*(£(i)-f(i-1)); v(i)=u(i)+uks(i)/2.
ENDFORALL
CALL FLUXC(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk3 (i) =-dt/dx* (£ (1)-£(i-1)); v(i)=u(i)+uks (i)
ENDFORALL
CALL FLUXC(v,f,is,if,mode)
FORALL (i=is+3:if-3)
uk4 (1)=-dt/dx*(£(i)-f(i-1))
u(i)=u(i)+(uk1(i)+2.*uk2(i)+2.*uk3(i)+uk4(i))/6.
ENDFORALL
ENDIF

IF (mode==93.0R.mode==94) THEN !4th-order compact FVM, Crank-Nicholson predictor-corrector method
ib=is+3; ie=if-3; dxt=.5%dt/dx
FORALL (i=is:if)ul(i)=u(i)
CALL FLUXC(u,f,is,if,mode)
m=-1; 110 m=m+1
CALL FLUXC(ul,fl,is,if,mode)
DO i=ib,ie
ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
c(i,1)=-dxt*ap
c(i,2)=1.+dxt* (ap-am)
c(i,3)=dxt*am
rhs (1)=-(ul(i)-u(i))-dxt* (£ (1)-£(i-1)+f1(i)-£1(i-1)) 'right hand side
ENDDO
CALL GAUSS3(c,rhs,is,if,ib,ie)
FORALL (i=ib:ie)ul(i)=ul(i)+rhs(i)
IF (m<2) GOTO 110
FORALL (i=ib:ie)u(i)=ul(i)
ENDIF
ENDSUBROUTINE CALFVM

| skkkkkkkkk FLUXC

SUBROUTINE FLUXC(u,f,is,if,mode)

DIMENSION u(is:if),f(is:if)

COMMON na,dt,dx,a; ap=(a+ABS(a))/2.; am=(a-ABS(a))/2.
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Jrd CO and RK, superbee 4th ¥D and RK, minmod 4th ¥D, CHpcm, minmod
u Jrd CO, CMpem, superbee u 4th ¥D and RK, superbee u dth-order YD, Chpcm, superbee

I i 1o

20 22 2.4 2B 28 “ 3.0 20 22 2.4 26 28 “ 3.0 20 2.2 24 2B 28 » 3.0
(a) (bl (c)
1.6 161 1.6
Jrd FYvM and RK, superbee Ath FRd and R, minmod Ath Fwhl, Chpcrm, minmod
u Jrd FwM, CHpem, superbee u Ath FwM and RK, superbee u Ath Fwh, CHpcm, superbee
1.2 1.2 1.2

O i T S I
A T Y O R Y e

20 22 2.4 26 28 " 3.0 20 22 2.4 26 28 " 3.0 20 22 2.4 2B 28 " 3.0

(d) (e) (f)
0 16.23: 000 a=1,T=2, CFL=0.75

b=2.; b2=2.
DO i=is+2,if-3
dub=u(i-1)-u(i-2); dua=u(i)-u(i-1); duO=u(i+1)-u(i)
dul=u(i+2)-u(i+1); du2=u(i+3)-u(i+2)
d2ua=dua-dub; d2u0=du0-dua; d2ul=dul-dul; d2u2=du2-dul
dua=dua- (AMINMOD (d2u0,b2*d2ua) ~-AMINMOD (d2ua,b2%d2u0)) /6.
du0=du0- (AMINMOD (d2ul,b2*d2u0) -AMINMOD (d2u0,b2*d2ul)) /6.
dul=dul- (AMINMOD (d2u2,b2*d2ul) -AMINMOD (d2ul,b2%d2u2)) /6.
IF (mode==91.0R.mode==93) THEN
f(i)=ap*(u(i )+AMINMOD(dua,b*du0)/6.+AMINMOD (du0,b*dua)/3.) &
+am* (u (i+1) -AMINMOD (dul,b*du0) /6 .-AMINMOD (du0,b*dul) /3.)
ELSE
f (i)=ap#* (u(i) +SUPERBEE (dua,du0) /2. ) +am* (u(i+1) -SUPERBEE (dul,du0)/2.)
ENDIF
ENDDO
ENDSUBROUTINE FLUXC

0 1623000000000 1624000000000000000000000DO000DOODOOO
O00000o0oooooo0 300000000000 0000000000000DODODOO superbee
O minmod0OOO0O0O0ODOOOOODOOOOO30000000000O0OCODOOO0OOOOOOODOO
oooooobooboooooobooboboobOOoooooboooboooobbo 3oboooboooooboono
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Ath YD and RK, minmod
u Ath ¥D and Rk, superbee u

/ )
o4k / \ o4k
j
i —

81

4th ¥D, CNpem, minmod
Ath-order ¥D, CMpcm, superbes

1.6
3rd CO and RK, superbee
u 3rd CO, CMpcm, superbee
1.2
0.sr- )1
/
I..-"
0.4 /
/
/ -
] — ~
1 1 1 1
20 22 2.4 26 28
(a)
1.6
3rd FwM and R, superbee
u 3rd Fw'h, Cpem, superbee
1.2
0.8-
/
/
Fi
5
0.4~ /
Fi
/
/
u] < —
1 1 1 1

0.8F /‘ 0.8

II,' |
0.4~ I \ 0.4-
/R
u] - - ul

,/ - .
u] s — o —
] 1 1 1 1 ] 1 1 1 1 1
" 3.0 20 2.2 2.4 26 28 " 3.0 20 22 2.4 26 28 " 3.0
(b) (c)
16 16
4th FY¥® and Rk, minmod 4th FwM, CHpem, minmod
u 4Ath FwM and RK, superbee u Ath Fwh, Cpem, superbee

1.2 1.2

1
3.0 20 2.2 2.4 26 28 3.0 20

Ed Ed

(e
0 16.24: 000 a=1,T=2, CFL=0.75

(1)

obob400000000000O00O0DOO0O0OCOOOOODODOOOOO0O0OOOOOOOO

16.8.2 0O0OOOOU

uboObOobdo0obods.e.300000000000000000000O CALFDSO OO CALFVM

gboooOooboooooogo

PROGRAM MAIN

zm(51)="4th YD and RK, minmod ’

zm(94)=’4th FVM, CNpcm, superbee ’

gooooooooooooooboon

'mode=51

'mode=94

! xkkxkkkkk* Compute Riemann problem by flux difference splitting

SUBROUTINE CALFDS(q,if,mode)

IF (mode==51.0R.mode==52) THEN !YD compact scheme, 4th-order Runge-Kutta

CALL FLUXYD(q,f,if,mode)
FORALL (i=3:if-3, j=1:3)

ukl(i,j)=-dt/dx*(£(i,j)-£(i-1,j)); u(i,j)=q(i,j)+ukl(i,j)/2.

ENDFORALL
CALL FLUXYD(u,f,if,mode)
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FORALL (i=3:if-3,j=1:3)
uk2(i,j)=-dt/dx*(£(i,j)-£(i-1,7)); u(i,j)=q(i,j)+(ukl(i,j)+uk2(i,j))/4.
ENDFORALL
CALL FLUXYD(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uks (i, j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(i,j)+uks(i,j)/2.
ENDFORALL
CALL FLUXYD(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk3(i,j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(i,j)+uks(i,])
ENDFORALL
CALL FLUXYD(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk4 (i, j)=-dt/dx*(f(i,j)-f(i-1,3))
q(i,j)=q(i,j)+(ukl(i,j)+2.*uk2(i,j)+2.*uk3(i,j)+uk4(i,j))/6.
ENDFORALL
ENDIF

IF (mode==53.0R.mode==54) THEN !YD compact scheme, Crank-Nicholson predictor-corrector method
ib=3; ie=if-3; dxt=dt*.5/dx
FORALL(i=0:if,j=1:3)ql(i, j)=q(i,]j)
CALL FLUXYD(q,f,if,mode)
m=-1; 110 m=m+1
CALL FLUXYD(q1l,f1,if,mode)
D0 i=ib,ie
CALL SUBSD(i,q,if,r,u,H,c)
CALL AAA(u,c,ap,am)
CALL MATRIX(i,q,if,ap,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii-3)=-dxt*amat (ii,jj)
c(3%i-3+ii,jj-ii )= dxt*amat(ii,jj)
ENDDO; ENDDO
CALL MATRIX(i,q,if,am,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii )=c(3*i-3+ii,jj-ii)-dxt*amat(ii,jj)
c(3%i-3+ii,jj-1i+3)= dxt*amat(ii,jj)
ENDDO; ENDDO
DO j=1,3
c(3%1-3+j,0)=c(3%i-3+j,0) +1.
rhs (3*%i-3+j)=-(q1(i,j)-q(i,j))-dxt*(£(i,j)-f(i-1,j)+f1(i,j)-f1(i-1,3))
ENDDO; ENDDO
CALL GAUSSB(c,rhs,300,3*ib-2,3*ie,-5,5)
FORALL (i=ib:ie, j=1:3)q1(i,j)=q1 (i, j)+rhs(3*i-3+j)
IF (m<3) GOTO 110
FORALL (i=ib:ie, j=1:3)q(i, j)=q1(i,j)
ENDIF
END SUBROUTINE CALFDS

! skocksokkkkkk FLUXYD
SUBROUTINE FLUXYD(q,f,if,mode)
DIMENSION q(0:if,3),f(0:if,3),ap(3),am(3),f0p(3),f1m(3), &
dfbp(3) ,dfap(3),df0p(3) ,df1p(3) ,dfam(3) ,dfOm(3) ,df1m(3) ,df2m(3), &
d2fap(3),d2£0p(3),d2f1p(3) ,d2f0m(3) ,d2f1m(3) ,d2f2m(3)
b=2.; b2=2.
DO i=2,if-3
CALL SUBSD (i ,q,if,rO,uO,HO,CO)
CALL SUBSD(i+1l,q,if,r1,ul,H1,cl)
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CALL AAA((uO+ul)/2.,(cO+cl)/2.,ap,am)

CALL SUBFVS(xr0,u0,H0,c0,ap,f0p)

CALL SUBFVS(rl,ul,H1,cl,am,fim)

u=(u0+ul)/2.; H=(HO+H1)/2.; c=(cO+cl)/2.

CALL SUBFDS(i-2,q,if,u,H,c,ap,dfbp)

CALL SUBFDS(i-1,q,if,u,H,c,ap,dfap)

CALL SUBFDS(i ,q,if,u,H,c,ap,dfOp)

CALL SUBFDS(i+l,q,if,u,H,c,ap,dflp)

CALL SUBFDS(i-1,q,if,u,H,c,am,dfam)

CALL SUBFDS(i ,q,if,u,H,c,am,dfOm)

CALL SUBFDS(i+1,q,if,u,H,c,am,df1im)

CALL SUBFDS(i+2,q,if,u,H,c,am,df2m)

FORALL (j=1:3)
d2fap(j)=dfap(j)-dfbp(j); d2fOp(j)=dfOp(j)-dfap(j); d2fip(j)=dfip(j)-dfop(j)
d2f0m(j)=dfOm(j)-dfam(j); d2fim(j)=dfim(j)-dfOm(j); d2f2m(j)=df2m(j)-dfim(j)

ENDFORALL

D0 j=1,3
dfap (j)=dfap(j)-(AMINMOD (d2f0p(j) ,b2*d2fap(j))-AMINMOD (d2fap(j) ,b2*d2£f0p(j)))/6.
dfOp (j)=df0p(j)-(AMINMOD (d2f1p(j) ,b2*d2£0p (j))-AMINMOD (d2£f0p(j) ,b2*d2£f1p(j)))/6.
dfOm(j)=dfOm(j) - (AMINMOD (d2f1m(j) ,b2*d2£f0m(j))-AMINMOD (d2f0m(j) ,b2*d2£f1m(j))) /6.
dfim(j)=dfim(j)- (AMINMOD (d2£f2m(j) ,b2*d2f1m(j))-AMINMOD (d2f1m(j) ,b2*d2f2m(j))) /6.
IF (mode==51.0R.mode==53) THEN

£(i,j)=f0p(j)+£f1im(j)+AMINMOD (dfap(j) ,b*dfO0p(j))/6.+AMINMOD (df0p(j),b*dfap(j))/3.
—-AMINMOD (df1m(j) ,b*dfOm(j)) /6 .-AMINMOD (dfOm(j) ,b*dfim(j))/3.

ELSE
£(i,j)=£f0p(j)+fim(j)+SUPERBEE (dfap(j),df0p(j))/2.-SUPERBEE (df1im(j),df0m(j))/2.
ENDIF
ENDDO; ENDDO
ENDSUBROUTINE FLUXYD

! xkkxkkkx*k* Compute Riemann problem by finite volume method
SUBROUTINE CALFVM(q,if,mode)

IF (mode==91.0R.mode==92) THEN !4th-order compact FVM and 4th-order Runge-Kutta
CALL FLUXC(q,f,if,mode)
FORALL(i=3:if-3,j=1:3)
ukl (i, j)=-dt/dx*(f(i,j)-f(i-1,7)); u(i,j)=q(di,j)+ukl(i,j)/2.
ENDFORALL
CALL FLUXC(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk2 (i, j)=-dt/dx*(f(i,j)-£(i-1,3)); u(i,j)=q(di,j)+(ukl(di,j)+uk2(i,j))/4.
ENDFORALL
CALL FLUXC(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uks(i,j)=-dt/dx*(£(i,j)-£(i-1,3)); u(i,j)=q(i,j)+uks(i,j)/2.
ENDFORALL
CALL FLUXC(u,f,if,mode)
FORALL(i=3:if-3,j=1:3)
uk3 (i, j)=-dt/dx*(f(i,j)-f(i-1,3)); u(i,j)=q(di,j)+uks(i,j)
ENDFORALL
CALL FLUXC(u,f,if,mode)
FORALL (i=3:if-3,j=1:3)
uk4 (i, j)=-dt/dx*(£(i,])-f(i-1,3))
q(i,j)=q(i,j)+(uk1(i,j)+2.%uk2(i,j)+2.*uk3(i,j)+uk4(i,j))/6.
ENDFORALL
ENDIF

83
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IF (mode==93.0R.mode==94) THEN !4th-order compact FVM, Crank-Nicholson predictor-corrector method
ib=3; ie=if-3; dxt=.5*dt/dx
FORALL (i=0:if,j=1:3)q1(i, j)=q(i,]j)
CALL FLUXC(q,f,if,mode)
m=-1; 110 m=m+1
CALL FLUXC(ql,f1,if,mode)
DO i=ib,ie
CALL SUBSD(i,q,if,r,u,H,c)
CALL AAA(u,c,ap,am)
CALL MATRIX(i,q,if,ap,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii-3)=-dxt*amat (ii,jj)
c(3%i-3+ii,jj-ii )= dxt*amat(ii,jj)
ENDDO; ENDDO
CALL MATRIX(i,q,if,am,amat)
DO ii=1,3; DO jj=1,3
c(3%i-3+ii,jj-ii )=c(3*i-3+ii,jj-ii)-dxt*amat(ii,jj)
c(3%i-3+ii,jj-1i+3)= dxt*amat(ii,jj)
ENDDO; ENDDO
DO j=1,3
c(3%1-3+j,0)=c(3%i-3+j,0) +1.
rhs (3%i-3+j)=-(q1 (i, j)-q(i,j) ) -dxt* (£ (i, )£ (i-1,) +F1 (i, ) -£1(i-1,7))
ENDDO; ENDDO
CALL GAUSSB(c,rhs,300,3*ib-2,3*ie,-5,5)
FORALL (i=ib:ie, j=1:3)ql(i,j)=q1(i,j)+rhs (3*xi-3+j)
IF (m<3) GOTO 110
FORALL (i=ib:ie, j=1:3)q(i, j)=q1(i,j)
ENDIF
ENDSUBROUTINE CALFVM

I skckkskokkkokk FLUXC
SUBROUTINE FLUXC(q,f,if,mode)
DIMENSION q(0:if,3),£(0:if,3),q1(3),qr(3),£1(3),£r(3),£i(3)
COMMON na,dt,dx,ak; akl=ak-1.
b=2.; b2=2.
DO i=2,if-3
DO j=1,3
dgb=q(i-1,j)-q(i-2,j); dga=q(i,j)-q(i-1,j); dqO0=q(i+1,j)-q(i,j)
dql=q(i+2,j)-q(i+1,j); dq2=q(i+3,j)-q(i+2,j)
d2qa=dqa-dgb; d2q0=dq0-dqa; d2ql=dql-dq0; d2q2=dq2-dql
dqa=dqa- (AMINMOD (d2q0,b2*d2qa)-AMINMOD (d2qa,b2*d2q0)) /6.
dq0=dq0- (AMINMOD (d2q1,b2*d2q0) -AMINMOD (d2q0,b2*d2q1)) /6.
dq1=dql- (AMINMOD(d2q2,b2*d2q1)-AMINMOD (d2q1,b2*d2q2)) /6.
IF (mode==91.0R.mode==93) THEN
ql(j)=q(i ,j)+AMINMOD(dga,dq0)/6.+AMINMOD(dq0,dqa)/3.
qr(j)=q(i+1,j)-AMINMOD (dql,dq0)/6.-AMINMOD (dq0,dql) /3.
ELSE
ql(j)=q(i ,j)+SUPERBEE(dqa,dq0)/2.
qr(j)=q(i+1,j)-SUPERBEE(dql,dq0) /2.
ENDIF
ENDDO
rl=ql(1); ul=ql(2)/rl; pl=akl*(ql(3)-ql(2)*ul/2.)
rr=qr(1); ur=qr(2)/rr; pr=akl*(qr(3)-qr(2)*ur/2.)
f1(1)=q1(2); £1(2)=ql(2)*ul+pl; £1(3)=(ql(3)+pl)*ul
fr(1)=qr(2); fr(2)=qr(2)*ur+pr; fr(3)=(qr(3)+pr)*ur
CALL ROEARS(rl,rr,ul,ur,pl,pr,fl,fr,fi)
FORALL (j=1:3)f(i,j)=£i(j)
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density
velocity
pressure

0.4

1 1 1 1 ]
20 40 5.0 g0 . 100
{ & )4th-order ¥D and RK, minmod

¥

0.4

1 1 1 1 ]
20 4.0 B0 80 100
{ d yath-order YD, CMpcm, superbee

ENDDO

1 1 1 1 ]
20 40 B0 80 100
(g )4th-order FYM, CNpcm, minmod

0.4

0.4

¥
1 1 1 1 ]
20 4.0 5.0 B0 100
{ b)) ath-order ¥D and RK, superbee

0.8

0.4

1 1 1 1 ]
20 40 6.0 B0 100
(&) 4th-order Fvh and Rk, minmod

i

1 1 1 1 ]
20 4.0 B0 BO 100
{ b ) dth-order PV, CHpocm, superbee

0.4

1 1 1 1 ]
i] 20 40 5.0 g0 100
(o) dth-order ¥D, CNpcm, minmod

0.4~

1 1 1 1 ]
0 20 40 B0 80 100
(1] ath-order FVM and RK, superbee

0 16.25: 000000000000 At=0.01, nay =200

ENDSUBROUTINE FLUXC

ob0b0O0ooooobooboooboboooooooobobile20000300b00b00000000000
O superbee 0 000000000000 DOOOOO0CO3000000O00000ODODODOEODOOODDO
gooad
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U000 RoeUUOUOOOO

000 Roed0ODO0O00 (fluctuation splitting) ® 0000 00000000000DOO0OOO A0O
oboooooooooo

A=AT +A4°, A* = RATL (16.139)
000000000D0000000D0O00ooo0
F'tl F" = AF = ATAq+ A" Aq (16.140)

ubooobo1l100«c000000000D0000 2000000000000000000000A0
goooooooobooooboo 1gboooobobooooboooooboooooboon

" = - A_x{(AJrAq)z;l/z + (ATAQY 2} (16.141)

ooo AQj+1/2 =dqj+1—4Gj5 oooao

&
|
&
|&
|
&
S S
<

T gty q; qz'n+1

AL At
| At As |

. Az .

0 16.26: RoeOD OO DOOO
0 (16.14) 0 0000000000000 LAgq=AwO 0000

¢t =g = (AT = (RAw) M = 3 (Awre) 2, (16.142a)
k

(A+AQ)?—1/2 + (AiAQ)?+1/2 = (RA+AW)?—1/2 + (RA?AW)?H/z

= T Awer™)P g + ) (g Awr®)R (16.142b)

k k

oo00d 1626000000000 g0 q?HDDDDDDDDAtDDDDDDDD Awgry, (k=1, 2, 3)
00, 0000000 ooboon o1od (Awlrl)?H/zDDDDDDDDDDDDDDDDDD
000+« 00000 Axz000000 (Awlrl)?_1/2|]D 00 AtODOODDODoODoDOooooooooo
(Awlrl)n+1/2:(Awlrl)y_1/2,\14t/4xmmDDDDDDDDDDDDDDDDDDDDDDDDD

i

n AFA n AL A
Dttt =3 (S , = 32 ()

k

n

i+1/2

00000 (16.141) 0000

45Roe, P. L., Fluctuations and signals, a framework for numerical evolution problems, Numerial Mehotds in Fluid Dy-
namaics, 219-257, 1982.
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o0 boooobooooooooad

000000000 (method of characteristics, characteristic method) D00 00000000000
000000000000000000 HeskinOODOOOOODOOO%00000000000000O0
booobooboooooooboooboobooobooooobobooooooboobobooooon
00000000 Cauchy OO OOOOOOOOOODOODOODOOOOODOOOODOODOODO
obooboobooboboobooboobooboooobooooooobooobooooooboooooooon
O0oo0o0o0ooooO0Oo00oUoOoOOO00OO0O(Oo0DOooO)0oOO0obDOOoOOoDbOU0OOOOoDOoOO
oobooobouoboobbooobooooboobooboooobobooobooobbooboooobooooo
ooboooooooo

oooobo

0ooooood () 00000000000 0000000000 r=const.0000000O0O0OO
oooooooooo?

R\~ auv
o — (?) u = (16.143a)

1 /R\e

— | — .= 16.143b
wet () v (16.143b)
Tsi=¢€ +pvy =0 (16.143c)

oad

Rt =Uu
p=p(v, €) (16.144)

000 r0000000000ROOO0OOO0ODOGOtODD0D0OOO0OO0O (substantial derivative)

00000000000v = p/p0 00000000000 DOO0O0O0OO0 «a=0,1,2000 w0000

p,p,T,s,e 0000000000000 O00O0O0O00OO0ODOOO0O0OOOOO0OODOO
oboobooooboboooooobobooon

&= (@) _ (@) (@) _ _v_z(@) __vp

op/r Op/r\0v/r Po \Ov/r Po Vi
46Hoskin, N.E., Solution by characteristics of the equations of one-dimensional unsteady flow, Methods in Computational
Physics, ed. Alder, B., Fernbach, S., Rotenberg, M., Vol.3 Fundamental Methods in Hydrodynamics, pp.265-93,1964,

Academic Press.
00000 f(¢, R(t, 7)) 00000

Jt = fig T Refr = fip +ufr
ooo ftRDDDDDDDDDDDDDDDDDDDD
0000 R.00000 (R/r)*Ry = pofp =v00000000 (pv)e =00000

AP 1} = () e () () () =

00000 (16.1432) 000000
oooooooooo

1 1 pr 1 /R\e
w=—tpgoir L (Ry,
p p Rr po

00000 (16.143b) 0 0000000000000 DO00O0ODOO0OODODOOODOOOOOO

T
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odooobodrbObr=const. OO0 OOOODOOO0OO0OOOO0O0OOCOO0OOOOOOOOOOOOO
|:||:||:||:||:||:||:||:||:||:|DEX(16.1433)DDDDDDDDDDD|:|
v

1 c R\« auc
il (=) u, = —— 16.145
pcpt+v(r) “ R ( )
0000000 0O (16.145)4+(16.143b) 00 0
1 c R\ c(R\» auc
E{pt + ;(7) pr} + {ut £ (?) ur} == (16.1462)
0000 90t =+ (c¢/v)(R/r)*0/0r =d/dt 0 000
1 auc c(R\>
—odp+ dut =prdi =0 (dr—:t;(7) dt 0 0 DD) (16.146b)
0000000000000 000 (16.143c)00
ds =de+pdv =0 (dr=00000) (16.147)
c R\~
2 (5)
T
1
negative characteristic positive characteristic

t path

r

000000000000 00000000000 (interface) 0000000000 0OOO (contact
surface) 0 p, w0 000p, e, s0 00000000000

dR = udt, dr=0 (16.148)
oooobooooobuooovuooboog
dR=Udt (16.149)

00000000000000D0000000000 Rankine-Hugoniot 0000 000O0O0*®0

(ur—uo)* = (pr—po)(vo—v1) (16.150a)
U= (’U()U1 —U1U0)/(U0—U1) (16150b)
€1—€ = %(Pl +po)(vo—v1) (16.150c¢)
p1 = p1(v1, €1) (16.150d)

oooooboOoDO0OD0DOO0O00O010D0O000O00D0O00D0 we, po,ve,eO0DOODODOOOO 4
ooooood w,m,v,a, 003000000 00000 ,wOOOODDOOOOOODODODOOO

4000000 Rankine-Hugoniot 00 (16.58) 00000000000 (a) 00 [p][pu?+p] = [pu]? 00 0(b) 00 U = [pu]/[p]
000000000 (¢) 00 [pll(e+p)u] = [pu]le]0 () 00DOOOOOOODODO
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000000000000w 00000 (a)0000 p,0000()000 ¢0000(c)0000 v,0
000000000000000U,00000000000000
00000000000000000000000000000000000000000000000

A, BOOODDODOOODO DOOOO (16.146b)(16.147)0000000000000000000

[géprD-—pA)+zu)—uA-+[gﬁf]aup—¢A)::o (16.151a)
e[S i
k%]ﬁpp——pg)—uD+uB-+[E%ELKU)—tB):() (16.151c)
ro-rs + [ (?)a] (tp—tz) =0 (16.151d)
Rp—Ra — [u+c|o(tp—ta) =0 (16.151e)
Rp—Rp — [u—cly(tp—ts) =0 (16.151f)
€p—€F + 1(pD-I-pF)(vD—UF) =0 (16.151g)

2
00000000000000000[ ]O0000(®(b)(d)000 rp,tp0000(a)(c)000 pp, up O
0000 FOOOO A, BOODODODOOO(g)00 (16.144)00 ep,vp0000cp 0000 (e)(f) 000
Rp0000000D00000000O0O000O0NO0O0| |000000000000000000000
000 (¢)(d)(f)0000000000

pp =0
D =TB
1
Rp—Rp — i(uD‘i‘UB)(tD_tB) =0

uboobooooobooboooooad

A A free furface

F B=F
B

gbooboboooobobooboboooobooobooboooobooobOobOooooOoobooDn
gooooo

goodg

gbooboobooboooboooboooooboooboooobooooboboobOooboobooobobooad
jodooboooboooooooooobobooobooboobooooooooobooOooooobooOooo
ooooobO nogooooooobobooboooooo

p,v, e cr, Ru Ut OOOOX2

oooooooooooooboobooooooooboobooboooboboobooboobobooooOoon
gooooboooaooo O
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000 (ordinary point)

000 (interface point) 0ODOOOOOO
000000 (simple shock point) 0OODOOOOOODOOOO
000000 (complex shock point) 0OO0DOOOOOOOOOOD

= W N = O

00000 (free surface point) 0OO0OOOD

5 00O (edge point) DOOODO

ooboooo SIGNODODO0oOoo0ooooobooooodo rO00D0O0000O0Ory0DDOO0D0O0O0O
O00oOoOoSIGNODODODOOO0OOODOOD0DOOD0DOODO0OO0O0OooOoooooooonooooon
gogoo

svood 0000000000000 2,3,4,50000000

vviooo 00000000000000000000000000

SIGN

oooooo

00do0DO0oDoDOoooUoD0oU0o0oo0ooOoDOoooDo

() svOoOooooooot+ooUoooo BOOOO

(i) 0 BOOOO (2,3,4,or5)00000

(i) 00O BOOOOOOOOODOOODOOOOOOODOOOODOOOOOCODO

(ivy BOOOOOOOOO+¢+ODOOOUOOO MOOOOOO LMNOOOOODOOOOOO PO
O000O0O((Gv)00O0O0O BOOODOOODUOOOOOOOO

(vyOOODOOOBOOOD (ivyVDOODODOOOOOOOO

(vi OOOOO ADOODDOOOOOOOOO

000 (00000000

0o oo

M
0LMNOODOOOOD POOOOOOOODO000O (16.151a)—(16.151d)0 00 LPONPOOOO
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A K interface
1 shock
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PROGRAM MAIN
1 sk sk ok ok o ok ok ok ok ok ook ok oK K ok ok ok K ok ok ok ok K ok ok ok K o o ok ok K K ok KoK K KoK Kk ok ok ok K ok ok ok K o ok ok K o ok ok K K o sk ok ok Kk ok ok ok K ok sk ok ok K ok ok ok K
! Problem: Riemann Shock Tube Flow Problem
! Numerical Method: Characteristic Method
1 sk sk ok ok o ok ok ok ok ok ook ok oK K ok ok ok K ok ok ok ok K ok ok ok K o o ok ok K K ok KoK K KoK Kk ok ok ok K ok ok ok K o ok ok K o ok ok K K o sk ok ok Kk ok ok ok K ok sk ok ok K ok ok ok K
PARAMETER (i£=100)
DIMENSION q1(9),q2(9),93(9),q4(9),95(9),96(9),qJ(9),qK(9),qL(9),qM(9) ,qN(9),q0(9), &
qQ(9) ,x(0:if) ,qs(0:1f,3) ,R(7),t(7)
COMMON ak,akl,dR
DATA ak,dR/1.4,.1/; akl=ak-1
! Initial data
DATA pil,vl,ul,p6,v6,u6/1.,1.,0., .1,10.,0./ 'high and low pressure side conditions
ql(1)=p1; q1(2)=v1l; q1(7)=ul; g6(1)=p6; q6(2)=v6; q6(7)=ub
CALL RIEMANN(q1,92,93,94,95,96,9J,9K,qL,qM,qN,q0,9Q,1.)
! Output of computational results

CALL RIEMANNCG(R,t,x,qgs,if) !Graphics
STOP
END PROGRAM MAIN

SUBROUTINE ORDINP(ql,q92,q93,err) lordinary point

REAL q1(9),92(9),q3(9)

COMMON ak,akl

pl=ql(1); v1=q1(2); el=q1(3); cl=ql(4); ri=q1(5); CR1=q1(6); ul=ql(6); ti=q1(9)
p3=93(1); v3=q3(2); e3=93(3); c3=q3(4); r3=q3(5); CR3=q3(6); ud=q3(6); t3=q3(9)
aa=cl/vl; ab=c3/v3

na=0

1 na=na+l

rhsa=rl-aa*tl; rhsb=r3+ab*t3; del=aa+ab

rP=(rhsa*ab+rhsb*aa)/del; tP=(rhsb-rhsa)/del

rhsa=pl+aa*ul; rhsb=p3-ab*u3; del=-aa-ab

pP=(-ab*rhsa-aa*rhsb)/del; uP=(rhsb-rhsa)/del
pF=((rP-r3)*pl+(r1-rP) *p3) /(r1-r3)

vF=((rP-r3) *v1+(r1-rP) *v3) /(r1-r3)

eF=((rP-r3)*el+(r1-rP)*e3)/(r1-r3)
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pm=.5% (pP+pF) ; vP=(eF+pm*vF)/(pP/akl+pm)

eP=pP*vP/akl; cP=SQRT (ak*pP*vP)

aa=.5*%(c1/v1+cP/vP); ab=.5%(c3/v3+cP/vP)

IF(na.LE.2) GOTO 1

CRa=CR1+.5* (ul+cl+uP+cP)* (tP-t1)

CRb=CR3+.5*(u3-c3+uP-cP) *(tP-t3)

CRP=.5%(CRa+CRb) ; err=CRa-CRb

q2(1)=pP; q2(2)=vP; q2(3)=eP; q2(4)=cP; q2(5)=rP; q2(6)=CRP; q2(7)=uP; q2(9)=tP
END SUBROUTINE ORDINP

SUBROUTINE INTERF(ql,q92,93,94,9Q,s,err) !interface point

REAL q1(9),92(9),93(9),q4(9),qQ(9)

COMMON ak,akl

pl=qi(1); v1=q1(2); cl=s*ql1(4); r1=q1(5); CR1=q1(6); ul=ql(7); t1=q1(9)
v2=q2(2); e2=q2(3)

p3=q3(1); v3=q3(2); e3=q3(3); c3=s*q3(4); r3=q3(5); CR3=q3(6); u3=q3(7); t3=q3(9)

p4=q4(1); v4=q4(2); r4=q4(5); CR4=q4(6); ud4=q4(7); t4=q4(9)

rN=q3(5)

aa=cl/vl; ab=c3/v3; ac=(r3-r4)/(t3-t4)

na=0

1 na=na+l

tN=t1+1./aa* (rN-rl)

rhsb=rN+ab*tN; rhsc=r3-ac*t3; del=-ab-ac

rQ=(-ac*rhsb-ab*rhsc)/del; tQ=(rhsc-rhsb)/del

pQ=((rQ-r4) *p3+(r3-rQ) *p4) / (r3-r4)

vQ=((rQ-r4) *v3+(r3-rQ) *v4) / (r3-r4)

eQ=pQ*vQ/akl; cQ=s*SQRT (ak*pQ*vQ)

ul=((rQ-r4) *u3+(r3-rQ) *u4d) / (r3-r4)

rhsa=pl+aa*ul; rhsb=pQ-ab*uQl; del=-aa-ab

pN=(-ab*rhsa-aa*rhsb)/del; ulN=(rhsb-rhsa)/del

pb=.5% (p3+pN)

vM=(e2+pb*v2)/(pN/akl+pb) ; eM=pN*vM/akl; cM=s*SQRT (ak*pN*vM)

vN=(e3+pb*v3)/(pN/akl+pb); eN=pN*vN/akl; cN=s*SQRT (ak*pN*vN)

aa=.5*%(cl/v1+cM/vM); ab=.5%(cQ/vQ+cN/vN)

IF(na.LE.2) GOTO 1

CRQ=((rQ-r4) *CR3+(r3-rQ) *CR4) / (xr3-r4)

CRM=CR1+.5% (ul+cl+uN+cM)* (tN-t1)

CRN=CRQ+.5% (uQ-cQ+ulN-cN) * (tN-tQ)

CR =CR3+.5% (u3+ull) * (tN-t3)

err=ABS (CRM-CR) +ABS (CRN-CR) ; CRM=.5# (CRN+CRN)

q2(1)=pN; q2(2)=vM; q2(3)=eM; q2(4)=s*cM; q2(5)=rN; q2(6)=CRN; q2(7)=ulN; q2(9)=tN

q3(1)=pN; q3(2)=vN; q3(3)=eN; q3(4)=s*cN; q3(5)=rN; q3(6)=CRN; q3(7)=ulN; q3(9)=tN

qQ(1)=pQ; qQ(2)=vQ; qQ(3)=eQ; qQ(4)=s*cQ; qQA(5)=rQ; qQ(6)=CRA; qQ(7)=uQ; qQ(9)=tQ

IF (s*rQ>s*r4) FORALL (i=1:9)q3(1)=qQ (i)

END SUBROUTINE INTERF

SUBROUTINE SSHOCK(ql,q2,q93,s,err) !simple shock point
REAL q1(9),92(9),q93(9),q0(9)

COMMON ak,akl,dR

FORALL (i=1:9)q0(i)=q2(1i)

pl=ql(1); v1=q1(2); cl=s*ql(4); rl=ql(5); CR1=q1(6); ul=ql(7); t1=q1(9)
p2=92(1); v2=q2(2); c2=s*q2(4); r2=q92(5); CR2=q2(6); u2=q2(7); t2=92(9)
v3=q3(2)

CRO=CR2+s*dR; rO=r2+s*dR/v3

aa=c2/v2; ab=.5%(cl/vi+c2/v2); bb=(r1-r2)/(t1-t2)

1 p0=q0(1); v0=q0(2); cO=s*q0(4); uD=q0(7); CU=q0(8)

t0=t2+s*dR/CU
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rhsa=r0-aa*t0; rhsb=r2-bb*t2; del=aa-bb
rQ=(-bb*rhsa+aa*rhsb)/del; tQ=(rhsb-rhsa)/del
pQ=((rQ-r2) *p1+(r1-rQ) *p2) / (r1-r2)
vQ=((rQ-r2) *v1+(r1-rQ) *v2) / (r1-r2)
eQ=pQ*vQ/akl; cQ=s*SQRT (ak*pQ*vQ)
uQ=((rQ-r2) *ul+(r1-rQ) *u2) /(r1-r2)
aa=.5%(cQ/vQ+c0/vD)
u01=uQ- (p0-pQ)/aa
alpha=.7; du=u01-u0; uO=uO+alpha*du
q0(7)=ub
CALL RANHUG(q3,q0,n)
IF(ABS(du) .GE..001) GOTO 1
CRQ=((rQ-r2) *CR1+(r1-rQ)*CR2) / (r1-r2)
CRO1=CRQ+.5* (uQ+cQ+ul+c0) * (t0-tQ) ; err=CRO1-CRO
IF (s*rQ>s*r1) THEN
q1(1)=pQ; q1(2)=vQ; q1(3)=eQ; q1(4)=s*cQ; q1(5)=rQ; q1(6)=CRQ; q1(7)=ul; q1(9)=tQ
ENDIF
FORALL (1i=1:9)q2(i)=q0(i); q2(5)=r0; q2(6)=CRO; q2(9)=tD
q3(5)=r0; q3(6)=CR0O; q3(9)=t0
END SUBROUTINE SSHOCK

SUBROUTINE RIEMANN(ql,92,93,94,95,96,9J,9K,qL,qM,qN,q0,q9Q,s) !'s=SIGN
REAL q1(9),92(9),q93(9),94(9),95(9),96(9),q9J(9) ,qK(9) ,qL(9) ,qM(9) ,qN(9) ,q0(9) ,qQ(9)
COMMON ak,akl

OPEN (20,FILE="0UTPUT.dat’)

! initial data q=(p,v,e,c,r,R,u,U,t)

pl=ql(1); v1=q1(2); ql(3)=pl*vl/akl; cl=s*SQRT(ak*pl*vl); ql(4)=s*cl; ul=ql(7)
p6=q6(1); v6=q6(2); qb6(3)=p6*v6/akl; c6=s*SQRT(ak*p6*v6); qb(4)=s*c6; u6=q6(7)
DATA CR11,CR61,p4,v5/-.1, .4, .28, 5./

'DATA CR11,CR61,p4,v5/-.1, .4, .5, 2./

CR1=s*CR11; CR6=s*CR61

! r: R1=(1-s*ul/cl)virl, r2=r3=r4=r5=0, R6=v6r6+ubt6

q1(56)=-c1/v1/(ul-c1)*CR1

! Rl:given, R2=R3=R4=R5=0, R6:given

q1(6)=CR1; q6(6)=CR6; q0(6)=CR6

! ul:given, u2,u3,u4:pcm, ub=ué, ub:given

! t1=-R1/(ul+s*cl), t2=t3=t4=t5=0, t6=R6/U

q1(9)=-CR1/ (ul+c1)

w=ul+2.*cl/akl

na=0

1 na=na+l

! pl:given, p2,p3,p4:pcm, p5=p4, p6:given

p2=(2.%pl+p4)/3.; p3=(pl+2.*p4)/3.; pb=p4

! vi:given, v2,v3,v4:Riemann invariant, vb:pcm, v6:given

! e=pv/(k-1); c"2=kpv

WRITE(20,’ (/1H 5X A4,I3)’)’na =’,na

WRITE(20,’(2X 9A9)’)’p’,’v’,’e’,’c’,’r’,’R’,’u’,’U’,’t’

WRITE(20,’ (A5,9F9.3)’)’ql = ’,ql

qJ (1)=p2

CALL EXPFAN(ql,qJ,s,w,n,err)

WRITE(20,’ (A5,10F9.3,14)’)’qJ = ’,qJ,err,n
qK (1)=p3

CALL EXPFAN(qJ,qK,s,w,n,err)

WRITE(20,’ (A5,10F9.3,14)’) "qK = ’,qK,err,n
qL(1)=p4

CALL EXPFAN(qK,qL,s,w,n,err)

WRITE(20,’ (A5,10F9.3,14)’) "qL = ’,qL,err,n
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q0(2)=v5; q0(7)=qL(7)

CALL RANHUG(q6,q0,n)

t6=q6(6)/q0(8) ; q6(9)=t6; q0(9)=t6
r6=(CR6-u6*t6) /v6; q6(5)=r6; q0(5)=r6

WRITE(20,’ (A5,9F9.3) %) ’q6 = ’,q6

WRITE (20, (A5,9F9.3,9X I4)’)’q0 = ’,q0,n
FORALL(i=1:9)qM(i)=qL(i); qM(5)=0.; gM(6)=0.; qM(9)=0.
FORALL (i=1:9)qN(i)=q0(i); qN(5)=0.; qN(6)=0.; qN(9)=0.; qN(8)=0.
CALL INTERF(qL,qM,qN,q0,qQ,s,err)

WRITE(20,’ (A5,10F9.3)°)’qM = ’,qM,err

WRITE(20,’ (A5, 9F9.3)’)’qN = ’,qN,’qQd = ’,qQ
dp=qM(1)-q0(1); du=qM(7)-q0(7)

IF (na>=20.0R.ABS (dp) +ABS (du) <=.0001) RETURN
alpha=.7; dp=q0(1)-p4; p4=p4+alpha*dp

v5=q0(2) ; GOTO 1

END SUBROUTINE RIEMANN

SUBROUTINE EXPFAN(ql,q2,s,w,n,err) !Expansion fan
REAL q1(9),q92(9)

COMMON ak,akl

pl=q1(1); v1=q1(2); cl=s*q1(4); r1=q1(5); ul=ql(7); t1=q1(9)
p2=q2(1); c2=cl; v2=vl

n=0

1 n=n+1; IF(n>20)STOP

aa=.5*(cl/v1+c2/v2)

u2=ul-(p2-p1)/aa

c2=akl*(w-u2)/2.; v21=c2*c2/ak/p2; dv=v21-v2

v2=v21

IF(ABS(dv)>.001) GOTO 1
q2(3)=p2*v2/akl

a2=c2/v2; r2=(ril-aa*tl)/(1+aa/a2); t2=-r2/a2

q2(6)=q1(6)+.5*% (ul+cl+u2+c2) *(t2-t1)

q2(2)=v2; q2(4)=s*c2; q2(5)=r2; q2(7)=u2; q2(9)=t2

END SUBROUTINE EXPFAN

SUBROUTINE RANHUG(qO0,ql,n) 'Rankine-Hugoniot equations
REAL q0(9),q1(9)

COMMON ak,akl

OPEN (20,FILE="0UTPUT.dat’)

p0=q0(1); v0=q0(2); e0=q0(3); c0=q0(4); u0=q0(7)
v1=q1(2); ul=q1(7)

n=0; !WRITE(20,’(1H 6A9)’)’n’,’pl’,’vil’,’vl’,’el’, ’cl’
1 n=n+1; IF(n>20) STOP
p1=p0+(ul-u0) * (u1-u0) / (vO-v1)

el=plxvl/akl; c1=SQRT (ak*pl*vl)

v11=v0-2.* (el-e0)/ (pO+p1l)

alpha=.16; dv=vll-vl; vl=vl+alpha*dv !'small damping factor
IWRITE (20, (56X I5,1X 5F9.3)’)n,pl,vil,vi,el,cl
IF (ABS(dv)>.001) GOTO 1

CU=(vO*ul-v1*u0)/(v0-v1)
ql(1)=p1; q1(2)=vl; q1(3)=el; ql(4)=cl; q1(8)=CU
END SUBROUTINE RANHUG

obooooooooooooboooogr=R=00000000C000 ROOOOODOOOO-rO0O
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dR=vdr (t=const.0000N dR=wudt (r=const.0000)
dR:@i%)mr (0O dr+(c/v)dt =00000)

000000000000000dR=vdr00000000000000000 €=pv/(y-1), ¢ =pv
000000000000000000000000 2/,3K,4L0000000000000000000
00000000000000000000 drfdt=u+c00000 (16.151a) 000000000000
Ow=u+2¢/(y-1)000000000p0000000 v,¢6,¢,vd]0000000000000000
0000 |dp|+|du| <0.000100000000000 dp=pu—po, du=uy—uo 0000000000
000000000000000000000000000000000000000 py =0.5, vs =2.0
00000 500000000000000000000000 RAKAUGOD v, 00000000000
0000 0.16000000000000000000000000 p,00000000000 07000
0000000000000000000000000000000000000000

016280000000 s=10000 «¢0000000000000000¢=2000000000
0000000000000 s=-1000000000000000

— density
1.2+ —— welocity
q* ————— pressure
interface nslk
0.4~
0
1 1 1 1 1
u] 2.0 4.0 5.0 g0 100

0O 1628: xt 00000000 ¢t=2.0000000



